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NMpepucnoBue

Hacrosiiee yue6HOe mocobue npeaHa3sHayeHo mis cryaeHTos 11 atana oby4e-
HUSl aBTOMOOMJIECTPOUTENBHBIX (HAKYJIBTETOB CPEAHMX NMPODheCCHOHANBHBIX
y4eOHBIX 3aBeI€HUN U paccYUTaHO Ha 90 4acoB ayIMTOPHBIX 3aHATHH. Llenbio
nocobus sisieTcsi GopMMpPOBaHUE 3JIEMEHTAPHBIX HAaBHIKOB YCTHOM peYyH MO
CIELMATBHOCTA CTYAEHTOB M YTEHHS JIMTEPATYPHI 110 JaHHOM CIELMAILHOCTH Ha
aHIJIMIACKOM sI3BIKE IUIS1 U3BJICYEHUS] HEOOXOMMMO MHGOPMALIMH.

ITocobue cocTouT U3 Tpex pas3iesoB, NPUIOXEHHUS, UMEIOIIETO CIIPaBOYHBIH
XapaKTep, ¥ TEPMUHOJIOTHYECKOTO CJIOBapsi-MUHHUMYMa 110 aBTOMOOHJIECTPOEHHMIO.

Paznen I (Part I) npeaHa3HaveH ISt YTEHUSI M Pa3BUTHS 3JICMEHTAPHBIX Ha-
BBIKOB YCTHOM PEYM MO0 CIIEMATLHOCTH CTyIeHTOB. OH BKiIIOYaeT B ceds 10 6110koB
(Units). B kaxaplif 610K BXOOST: OAMH TEKCT, OAWH WIH JBa JUAJIOTa, a TAaKXe
NPENTEKCTOBBIE U TMOCIETEKCTOBBIE YIIPAXHEHUs, KOTOPBIE COAEPXAaT MUHUMYM
TEPMHHOB 10 CNELHAJbHOCTH M HAIlpaBJeHBl Ha CHATHE TPYAHOCTEH NpH
TMIOHUMaHUM TEXHUYECKHUX TEKCTOB. Bce ynmpaXHeHUsi U 3alaHusl TIOCTPOEHBI Ha
3HAKOMOM IPaMMaTU4Ye€CKOM MaTepUasie JJisi aKTUBHOTO OBJIAJICHUSI JIEKCHYECKUM
MHHUMYMOM ITpOodeCCHOHATBHOM HanpaBieHHOCTH. IToceTeKCToBbIe yIIpaOXHEHUS
CIyXaT [Uisl 3aKpeIUIeHHsI U3YyYEHHOT0 MaTepuaja U SBJISIOTCS KOHTPOJIBHO-
obyyalomMMu . B KoHIIe Kaxaoro 6J10ka JaH CJI0Bapb.

Paznen II (Part II) npenHa3zHayeH Jiss CAaMOCTOSATEILHOM PabOTHI CTYIEHTOB U
BKJTIOYAET MPOMEXYTOYHBIE TPDEHMPOBOYHEIE KOHTPOJIBHBIE 3aJaHUs 1)1 Pa3BUTHS
HaBBIKOB YCTHOM PeYH U [Uls IepeBoja.

Pasnen 111 (Part I1T) cocrout u3 15 gacreit (Sections), BKIIIOYAIOMMX 3aaHMs
IUISl YTEHUS ¥ LIEJIOCTHOTO BOCTIPUSITHSI TEKCTA, Pa3BUTHS YMEHHUS JOTabIBATHCS O
KOHIENTyaJlbHOM 3HAaYE€HHUM HE3HAKOMBIX CJIOB, a TaKXe HCIOJb30BaTh
3KCTPAIMHIBUCTHYECKME OITOPHI JUIsi Pa3BUTHSA CIIOCOOHOCTH aIeKBaTHOTO NepeBoia
M COCTaBJEeHHMsI aHHOTaLMii. B naHHBI# pa3aen BKIIIOYEHBl MATEPUATHI U3 PA3IMYHBIX
HMCTOYHUKOB B COKpAIlEHHOM, HO HE aJanTUPOBAaHHOM BapHaHTe 6e3 HapyleHMs
0COOEHHOCTEH CTWIIA SI3bIKa HAYYHO-TEXHUYECKOM CTATBhH.

TeMaTnKa TEKCTOB BKITIOYAET:

— MCTOPHIO aBTOMOOMJIECTpOeHUsI B Pocchy M 3a pyGexoM;

— ONMCaHUE HEKOTOPBIX CHCTEM OTE€YECTBEHHBIX U 3apyOEXHBIX aBTOMOOWIEH;

— HEUCNPABHOCTH B aBTOMOOMJIBHBIX MEXaHM3Max M CHCTEMaXx, a TaKXe
CIOCOOBI MX YCTPaHEHUS;

— aBTOMOOWJIM M OKpyXalolasi cpeaa;

— BOMPOCHI 6€30MTaCHOCTH Ha JOPOrax.

YeTkas MoCHeq0BaTEJbHOCTh BHIMOJHEHUS 3aJaHUil YPOKOB MO3BOJHUT
00y4YaloIHUMCS OBJIAJIETh TEPMUHOJIOTHEN M3ydyaeMOM TEMaTHUKHU, IPHOOPECTH



4 lNpeaucnosue

HaBBIKU BeJeHUs1 Oeceabl M MeperoBOpoB, HAyYMThCS COCTABJIEHUIO aHHOTALUN U
KPaTKOMY M3JIOXEHHIO COlEPXaHMsI CTaTe.

B INpuioxeHnn mpencTaB/ieHbl: CIMCOK HECTAaHAAPTHBIX IJIaroJIOB; TpaMMa-
THYECKHI CPaBOYHMK B TabJHUIaX; CMIMCOK Haubojiee YyNmOTPeOUTEIbHBIX
npeajaoros, CO030B, Hapelmﬁ, COCTaBHBIX IMPEIJIOTOB; €CAWHHUILIBI UBMCPCHHUSA, a TAK-
Xe HauboJjiee YacTo MCIOJIb3yeMble COKPALCHMS.

AHTJIO-PYCCKUI TEPMUHOJIOTUYECKUI CI0Bapb-MUHUMYM IO3BOJISIET
HaWTHU TOYHOE 3HAYEHWE TEPMMHA, YCTPaHsIsI HEOOXOAUMOCTD IMOJIb30BAThCS
60JIbIIMMHU CTIELIMAJIM3MPOBAaHHBIMM CIOBapsIMU, 06JIerdyast IOHMMaHHUE TEKCTa
M YCKOPSiSl IIPOLIECC O0yUYEHMSI.

K ynpaxHeHusiM u3 pasgena I, 0603Ha4eHHBIM CUMBOJIOM « 8—0», HaHBI
KinouM nociie pasgena I11.

3HaK «*» 0003HayaeT HEOOXOAMMOCTh OOpallleHUsI K IpaMMaTHYeCKOM
TabauIie, pa3MmelieHHo! B I1pwioxeHnuu.

Psan 3amaHuii, MMEOIIMX KIIIOYM, MOTYT OBITh BBITIOJTHEHHBI B IpolEcce
CaMOCTOSITEJIbHOM paboThl B KOMIIBIOTEPHOM KJlacce.

Meroanyeckue PEKOMEHJAMH NMpenoaaBaTe/IsM

Pa6oty Hag kaxabIM 610KoM pasnena I pekoMeHxyeTcst HauMHATD C BBEJIe-
HUS M MOCJEAYIOLIEro 3aKpeIIeHUsI JIEKCUYECKOro Marepuaiia, JaHHOrO B
Hayajie ypoKa ¥ UMEIOLLEro HEMOCPEICTBEHHOE OTHOLLEHHUE K TEKCTY ypOKa.

IMocne paboThl Hal TEXHUYECKMM TEKCTOM M BBITIOJHEHHS BCEX IOCTe-
TEKCTOBBIX YNPaXHEHU s obecrieyeHUus: paboThl Hall IMAJIOTOM Mpernoja-
BaTeIb MOXET IIPOBECTH KOHTPOJIb JIEKCUYECKOT0 MUHMMYyMa 1o TeMme. Mitorom
KaxJoro 6J10Ka sIBIsSIETCSl yMEHME YYalllMxcsl BECTH Oecey Ha 3JIeMEHTapHOM
YPOBHE ¥ YMEHUE COCTaBUTh KPAaTKMIA paccka3 1o JaHHOU TeMe.

Paspen 11 npeaHa3zHavyaetcs A1 caMOCTOSITEJIbHOM paboThl MU MOXET OBITh
BBITIOJIHEH O] PYKOBOJCTBOM TIpeIoaBaTeis.

Paznen 111 npeaHa3zHayeH Mg YTEHUs C OOLUMM OXBAaTOM COAEPXaHMS,
noucka MHGOpMalMH, a TaKkxKe IS aeKBaTHOIo NepeBosa TekcToB. [1pu pabote
HaJl TEKCTaMHM CJIEIYeT YAEISATh BHUMaHUE MX IEJIOCTHOMY BOCTIPUSITHIO.

IIpouyunTaB TEKCT, yyaluiicsi JOJDKEH CKa3aTb, 0 YeM UAeT pedb. [lToHnMaHue
collepXaHHUsl TEKCTa MPOBEPSIETCS MPU NMOMOILHY 33JaHU, pa3MEIIEHHBIX 10 U
1ocjie TEKCTa, OTBETOB Ha BONPOCH! N10-PYCCKM WJIM NIO-aHIJIMHCKY, B 3aBUCHU-
MOCTH OT IOATOTOBKH 00y4alonIMxcsl ¥ aleKBaTHOCTHU NEPEBO/A OTAEIbHbIX Ia-
parpadoB TekcTa. [Ipy nepeBome TEKCTOB MOXHO 0OpaliaThCsl K rpaMMaTHye-
CKUM TabaMLaM U TEPMUHOJIOTUYECKOMY CJIOBapIO.

Becb MaTtepuan HOCUT HH(POPMaTUBHBI XapaKTep, YTO MOBHIILIAET MOTUBA-
IIMIO M3YYEHHUS aHIJIMUCKOrO s13bIKa NMPOGeCCHOHAIBHON HamnpaBIeHHOCTHU.



Part |
Unit One

Text: Automobile Production
Dialogue A
Dialogue B

IIpeaTrekcToBbie ynpaxHeHHsA
The exercises to be done before reading the text

ana)lulelme 1. Hpoumume caoea u caoeoco4emanus u nocmapaﬁmeca

3ANOMHUMb UX PYCCKUe 3K8UBA/NEHMbL.

technician — TexHuK

deal with manufacturing cars — umetp
JeJI0 C MPOM3BOACTBOM aBTOMO-
owen

work out the technology of manu-
facturing processes — pa3pabaTbiBaTh
TEXHOJIOTUIO MPOM3BOACTBEHHBIX
TIPOLIECCOB

put into mass production — 3anmycTUTh B
MaccoBO€ MPOM3BOJCTBO

subject to tests — moxBepraTh UCHBI-
TaHUSIM

dependable brakes — HanexXHbIE TOpP-
Mo3a

driving safety — GezomacHocTb ympa-
BJIEHHSI aBTOMOOWIEM

long service life — monruii cpok cryx6b1

rapid acceleration — mpuemMucTOCTh

ease of maintenance — nmpocTora Tex00-
CIIy>KUBaHMS

meet up-to-date demands (require-
ments) — OTBeYaThb COBPEMEHHBIM
TpeGOBaHUIM

be stable on the road — ObITH ycTONHYM-
BbIM Ha JOpore

ignition system — cucrema 3aXuraHus

fuel consumption — pacxon TorUMBa

car — JIErKOBOU aBTOMOOWIIb

truck — rpy30Boii aBTOMOOWIIb

Ynpaxuenune 2. [lepesedume npedaoxceHus Ha pycckuili aA3vik, obpausasn

BHUMAHUE Ha MEepPpMUHbL.

1. After graduating from the college I shall become a technician.

2. Ishall deal with manufacturing cars.

3. The production of the automobile comprises five phases, such
as: designing, working out the technology of manufacturing
processes, laboratory tests, road tests, mass production.
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4. The automobile of today must have high efficiency, long serv-
ice life, driving safety, ease of maintenance and be stable on the
road.

5. The automobile must meet up-to-date demands, that is, it must
have rapid acceleration, smooth-acting clutch, silent gearbox,
dependable braking and steering systems, dependable ignition
system.

6. Before the car is put into mass-production it must be subjected
to laboratory and road tests.

7. Technicians should know the technology of manufacturing
processes.

‘Vupaxueuue 3. [I[poumume u nepegedume UHMeEPHAYUOHANbHBIE CAOBQA.

Specialist, automobile, industry, production, phase, technology,
process, test, mass, fact, service, comfortable, ecological, method, type,
corrosion, material, optimal, problem, mechanism, control, system.

VYupaxnenne 4*. [lepeeedume cnosa, obpawas 6HUMaHue Ha 3Ha4erue
cygukcos.

Industry — industrial; to produce — production — producer; to de-
sign — designer; technology — technological — technologically; to re-
quire — requirement; efficient — efficiency — efficiently; safe — safely —
safety; to maintain — maintenance; comfort — comfortable; ecology —
ecological; to resist — resistance — resistant; to operate — operation —
operational; to accelerate — acceleration; to construct — construction.

Ilpoumume u nepeeedume mekcm, a 3amem 8binoAHuUme caedyloujue 3a HUM
YNPadCHEHUA.

TEXT

Automobile Production

I study at the college, at the automobile-construction department.
When I graduate from the college I shall become a technician. All spe-
cialists in automobile industry dealing with manufacturing automo-
biles (cars or trucks) must know that the production of the automobile
comprises the following phases:
designing;
working out the technology of manufacturing processes;
laboratory tests;
road tests;
mass manufacturing (production).

NPALON=
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Why is it necessary to know all these facts? It is important to know
them, as before the automobile is put into mass production it should
be properly designed and the car must meet up-to-date requirements.
What are these requirements?

The automobile must have high efficiency, long service life, driv-
ing safety, ease of handling and maintenance, pleasant apperance. Also
it must be comfortable and ecological. In order to obtain these quali-
ties the specialists should develop up-to-date methods of designing cars
using new types of resistant to corrosion light materials. Also it is im-
portant to know computer sciences because computers offer quick and
optimal solutions of the problems. Besides they are used for better op-
eration of mechanisms in cars.

Before the car is put into mass production the units of the car are
subjected to tests in the Works laboratory and then the car undergoes a
rigid quality control in road tests. Why are these tests required? What
qualities are required of the automobile? They are needed because the
modern automobile must be rapid in acceleration, have smooth acting
clutch, silent gearbox, dependable braking and steering systems, de-
pendable ignition system, low fuel consumption and be stable on the
road.

ITocnerekcToBble yNpaKHeHHA
The exercises to be done after reading the text

Vnpaxunenue 5. Haiioume u esinuwume uz mexcma cno6a, omHOCAUUECA:
a) Kk npouzgodcmey agmomoouns;
6) K xapaxmepucmukam aemomoouns.

Jlatime ux pycckue 3Keueanenmui.

Vipaxuenue 6. Haiidume 6 mexcme omeemoi Ha 60NpPoChL.

What department do you study at?

What will you become after graduating from the college?

. What should automobile specialists know?

. What phases does the production of the automobile comprise?
. What requirements must modern automobiles meet?

Why are automobile units and mechanisms subjected to labo-
ratory and road tests?

What qualities are required of the automobile?

. Why are computers used in cars?

N AW

% N
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VYnpaxuenue 7. 3anosnume nponycku npednroeamu u nepegedume npeono-
JCeHUs Ha PYCCKULL A3bIK.

1.

NSw

After graduating ... the college I shall deal ... manufacturing
cars.

2. The production ... the automobile comrises five phases.
3.

Specialists ... automobile industry should develop up-to-date
methods ... designing cars.

In producing automobiles new types ... resistant ... corrosion
light materials should be used.

All cars udergo a rigid quality control ... tests.

The caris put ... mass production after laboratory and road tests.
Technicians must know the technology ... manufacturing proc-
€sses ... cars.

Lo ¥Ynpaxuenue 8. 3axonuume npednroixcenus, ébibpas coomeemcmeyrOuuil
8apUAHM OKOHUAHUS.

1.

An automobile specialist deals with ... .

a. working out technological processes;
b. constructing and manufacturing cars;
c¢. producing new resistant to corrosion light materials.

The production of the automobile comprises ... .

a. designing and mass production;

b. manufacturing and tests;

c. designing and working out technological processes, labora-
tory and road tests and mass production.

The cars are subjected to tests in order ... .

a. to work out new technological processes;
b. to meet up-to-date requirements;
c. to shorten the time between designing and manufacturing.

. The qualities required of the automobile are ... .

a. high efficiency, long service life, driving safety and pleasant
appearance;

b. smooth acting clutch, silent gearbox, dependable braking and
steering systems;

c. new types of resistant to corrosion materials.
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5.

The car must have the following units: ... .

a. high efficiency, long service life, driving safety and pleasant
appearance;

b. smooth-acting clutch, silent gearbox, dependable braking
and steering systems;

c. new types of resistant to corrosion materials.

VYnpaxuenue 9. IIpoumume duanoe «A».

Nick:
Boris:
N.:

N

.o

* ee

B
N
B.
B
N
B.:

N.

-
oo

N.:

DIALOGUE A

Hullo, Boris!

Hullo, Nick. How are things?

Perfectly well, thank you. I entered the automobile construc-
tion college.

That’s nice, what will you become after graduating from the
college?

I’ll become a technician and deal with manufacturing new cars.
Why did you choose this profession?

I enjoy learning about a car. I enjoy working with metal. And
most of all I enjoy being able to construct cars.

Do you enjoy the course?

Yes, of course.

Tell me about your profession in detail, please?

With great pleasure. As you know an automobile must be safe,
have smooth acting clutch, silent gears, excellent brakes and
steering system. And in order to achieve these qualities a lot of
work must be done.

Thank you very much for your information. I believe you like
your profession very much.

Oh, yes, very much, indeed.

Vnpaxuenune 10. 3anuwume pensuxu Huka na ayouokaccemy, a 6 nay3ax
noemopsiime penauxu bBopuca (Moxcro pabomame é nape).

VYnpaxunenue 11. 3anuwume penauxu bopuca na ayduokaccemy, a é nay3ax
noemopsiime penauku Huxa.

Ynpaxunenue 12. Pasviepaiime duanoe 6 napax.

! Ilpumevanne: BoimonHsst ynpaxHeHus 10 u 11, mocrapaidtech yl10XUTh
Bamu BbicKa3bIBaHHUSI B OTBEAEHHYIO Tay3Yy.
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Vnpaxuenue 13. /Ipoumume ouanoz «B».

DIALOGUE B

Anton: Where do you study?

Boris: I study at the automobile construction college.

Whom does the college train?

It trains specialists for the automobile industry.

Why did you decide to become a technician?

I enjoy working with machines. I enjoy learning about a car. I
understand every part of it.

What can you tell me about the car?

Well, the car of today must be rapid in acceleration, it must
have dependable clutch, brakes, and steering system, be stable
on the road and have pleasant appearance.

Do you enjoy the course?

Yes, very much. I have learned a lot of things. For example, 1
know that the production of the car comprises five phases.
What are they?

They are designing, working out the technology, laboratory tests,
road tests, mass production.

And why are laboratory and road tests needed?

The cars are subjected to tests in order to meet up-to-date de-
mands.

And what are these demands?

They are high efficiency, long service life, driving safety, ease of
maintenance and so on.

I think you will become an expert in automobile engineering.
I’ll try. The cooperative plan of an academic program with prac-
tice at a plant will help me to become a good specialist.

ee o

wp wpwp
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Vupaxuenne 14. Haiidume ¢ mexcme duanoea aveaulickue 3K8U6aneHmMbl
CAEOYIOUUX PYCCKUX CA08 U BIPANCEHUN U 3anuuume ux:

Vyuych B aBTOMOGHJIECTPOUTEIIBHOM KOJUIEIXE, TEXHHUK, JIIO0II0
pa60TaT1> ¢ MalllMHaMH, COBpeMCHHbeI aBTOMOGI/IJIb, HaACXHBIC
TOPMO3a, MJIAaBHOE CLIETUICHUE, IIPUATHBINA BHEIUHUMN BUI, MACCOBOE
IIPOU3BOJCTBO aBTOMOOMJIEN, CTEHIOBBIE MCIBITAHUSI, OTBEYaTh
COBPEMEHHBIM TPEOOBAaHMSIM, IOJTUNA CPOK CIYXKOBI, JIETKOCTH
TeX00CHyXMBaHUs, HAaleXXHOCTb, OBICTPO pa3roHAThCS (IIpH-
€MUCTOCTD), ITOABEPraThCs XKECTKUM JOPOXHBIM UCITBITAHUSIM

Vupaxuenne 15. 3anuwume penauxu Anmona Ha ayouokaccemy, a 8 nay3ax
nosmopsiime penauxku bopuca (moxcno pabomame 6 nape).
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1.

Snp

[Seraya—

12.
13.
14.

15.

16.
17.

18.
19.

20.
21.
22.

23.

—~SwoeN

VYupaxuenue 16. 3anuwume penauxu bopuca na ayduokaccemy, a é naysax
noemopsiime penauxu Anmona.

VYopaxuenne 17. Pa3sviepaiime duanoe 6 nape.

Vnpaxnenne 18. Boinuwume u3 npaeoii KoaoHKU pycckue ca08a u
€1080COMeManus, COOMeemMcmeyousue aH2AUUCKUM U3 1€601 KONOHKU.

automobile construction col-
lege

to graduate from the college
low fuel consumption

to deal with
designing cars
mass production

long service life
driving safety

. to work out
. ease of maintenance
. the technology of manufac-

turing processes

to put into mass production
to subject to tests

a rigid quality control

to meet up-to-date demands
(requirements)

rapid acceleration
smooth-acting clutch

silent gearbox
dependable brakes

steering system
an academic program
experts

ignition system

1.

15.

16.
17.

18.
19.

20.
21.
22.

23.

JOJITHIA CPOK CITYXOBI

MPOCTOE TeXOOCTyKMBaHME
3alyCTUTh B MacCoBO€ IIpO-
HU3BOJICTBO

TOIBEPraTh UCITLITAHUSIM
TUIaBHOE CLIEIUICHUE
OTBeYaTh COBPEMEHHBIM Tpe-
OOBaHUSIM

HMMETD JIEJI0

HalleXXHbIE TOPMO3a

y4eOHas mporpaMma
pa3pabaTbIiBaTh

cHCTEMa 3aXKUTaHUS

0€3011aCHOCTb BOXIEHUS

. IPUEMUCTOCTh

aBTOMOOMJIECTPOUTEIbHBIN
KOJUTEIK
XEeCTKUI KOHTPOJIb KayecTBa

becrryMHasi KOpooka riepenay
KOHCTPYMPOBaHHE aBTOMO-
oweit

OKOHYUTDH KOJUIEIK
TEXHOJIOT'MSI TPOU3BOJCTBEH-
HBIX IIPOLIECCOB
CNEeUATMCTBI

MacCOBO€ IIPOU3BOICTBO
CHUCTeMa pyJeBOro ympa-
BJIEHUS

MaJIbIi pacxo TOIUIUBa
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VYopaxunenue 19. 3axonuume npednroxcenus, nodobpas coomeemcmeyroujue
no cmbicay cr06a (Unu c1080COMEMAaHUs), npuGeOeHHble HUXce.

AW

. Istudyat ...

After graduating from the college I shall become...

I shall deal with ...

All specialists must know that the production of the automo-
bile comprises...

It is necessary to know these facts because the automobile of
today must meet...

6. The modern automobile must have ...
7.

In road tests the automobile undergoes...

A technician, a specialist in automobile industry, the production
of the automobile, designing, working out the technology of manufac-
turing processes, laboratory tests, road tests, mass production, high
efficiency, long service life, driving safety, ease of maintenance, rigid
quality control, rapid acceleration, smooth-acting clutch, silent gear-
box, dependable brakes, dependable steering system, the automobile
construction college, up-to-date demands (requirements).

Yupaxunenne 20. Omeemovme Ha 60npochi.

Nons LN~

What college do you study at?
What will you become after graduating from the college?

. What will you deal with?
. What phases does the production of the automobile comprise?

Why are the cars subjected to laboratory and road tests?
What qualities must the car have?
‘What units must the car have?

‘Vnpaxunenue 21. 3adaiime sonpocwt kK npedroxceHusm.

1.
2.

W

I study at the automobile construction college.

After graduating from the college I’ll become a specialist in au-
tomobile construction.

I’ll deal with manufacturing automobiles.

The production of the automobiles comprises the following
phases: designing, working out technological processes, labo-
ratory and road tests and mass manufacturing.

The automobile must meet up-to-date requirements.

The car must have high efficiency, long service life, pleasant
appearance and driving safety.
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7.

The car must have smooth-acting clutch, silent gearbox, de-
pendable braking and steering systems, dependable ignition sys-
tem.

Lo Ynpaxuenue 22. [lepegedume npednoxceHus Ha aGH2AUICKUT A3bIK.

1

2.

S yuaych Ha aBTOMOOUIBHOM (haKyJbTeTe TEXHUYECKOT'O
KoJUTeKa.

ITocie OKOHYAHMS KOJUTEMAXA SI CTaHY CIEITUATNCTOM aBTO-
MOOWIBHOM ITPOMBIIILUIEHHOCTH.

[1o MoeMy MHEHHIO, KaXIbIi CIIELIUAIUCT JOJDKEH 3HATh, YTO
aBTOMOOMJIb MOJIXEH IMPONUTU CTEHAOBBIE U TOPOXHBIE
HCIBITAHHUS.

DTH UCTIBITAHUS HEOOXOIUMBI, YTOOBI aBTOMOOWJIb OTBEYAll
COBPEMEHHBIM TPEOOBaHMSIM.

. COBpCMCHHbIﬁ aBTOMOOWJIb JOJDKEH 00J1anaTh CJICOYIOIIIUMHA

KavyecTBaMU: OBITh IPUEMUCTBIM, UMETD IUIABHOE CLIETUIEHUE,
OeclIyMHYI0 KOpPOOKY Ilepeaay, HaAeXHble TOPMO3HYIO U
PYJIEBYIO CUCTEMBI, OBITh JIETKUM B YIIPABIICHUU.

. JIBUraTtejib aBTOMOOWISI TAKXe HOJDKEH MMETh HEOOJbIION

pacxon TOIUIMBa U OBITh 9KOJIOTUYHBIM.

Vipaxuenne 23. Cocmasbme paccka3 o eauseli 6ydyuieti npogeccuu, ucnonwv3ys

ynpaxcrerue 20 é kauecmee nAaHa.

CJIOBAPb YPOKA

construct — KOHCTpYMpOBAaThb

construction — KOHCTPYKLIMS

constructor — KOHCTPYKTOP

deal with — umeThb neno

demand — Tpe6oBaTh, TPeOOBaHNE

dependable brakes — HaxexHble
TOpMO3a

design — NpOEKTUPOBaTh, MPOEKT

designer — NpoeKTUPOBIIMK, KOH-
CTPYKTOp

develop — pa3zpabaTbiBaTh

development — pa3pabotka

driving safety — 6e30macHOCTb €3/1b1

efficiency — addpextuBHocTh, KI1J

engineer — MH:XX€HEP

fuel consumption — pacxon ToruiMBa

handling — sxcrutyarauusi, yxon

ignition system — cucTema 3aXXuraHusi

maintenance — Texo0cIyXUBaHUE

manufacture — IpOU3BOIUTD

manufacturer — NMpOMBILIJIEHHUK,
HU3TOTOBUTEID

manufacturing — Ipou3BOJICTBO

mechanics — MexaHUK

mechanism — MmexaHu3M

produce — TpOU3BOJUTH

producer — IPOMBILIUIEHHUK (TOT, KTO
MPOU3BOJMT)



14

Part |

production — Mpon3BOACTBO

put into mass production — 3anmycTUTh B
MaccoBO€ IMPOU3BOJICTBO

quality — kauecTBO

rapid acceleration — ObICTpPBIN pa3roH
(MpUEeMUCTOCTD)

require — Tpe60BaTh, MPOCUTH

requirement — Tpe0oBaHue, 3aMPOC

rigid quality control — xecTkuii KOH-
TPOJIb KayecTBa

science — HayKa

scientist — yuyeHbIi

service life — cpok ciryx0b1

silent gearbox — GecurymHast Kopo6ka
nepenay

smooth-acting clutch — ru1aBHOe crier-
JieHue

solution — permenue

steering system — cucreMa pyJeBoro
yTIpaBJIeHUS

subject to tests — moaBepraTh UCIBI-
TaHUSIM

technician — TexHuK

technologist — TexHosior

technology — TexHosorus

undergo tests — IIPOXOIUTH UCITBITA-
HMS

unit — y3e, arperat

up-to-date — coBpeMeHHBI
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Text: Components of the Automobile
Dialogue

IIpenrexcToBbie yNpaxKHEHUS
The exercises to be done before reading the text

Ynpaxuenune 1. [Ipoumume caoéa u croéocowemanus u nocmapaimecs

3GNOMHUMb UX PYCCKUE IKEUBANEHMbL.

engine (power plant) — gBurarteib
(cuoBasi yCTaHOBKaA)

chassis — maccu

body — ky30B

power train — cuioBas nepegaya

running gear — X0J10Basi 4acTb

steering system — pyJieBOe yIipaBJIEHHE

brakes — Topmo3a

clutch — cuennenue

gearbox — kopobOKa nepenay

propeller shaft — kapaaHHbIif Bal

final drive — rnaBHas nepenaya

differential — nnddepeHumran

rear axle — 3agHuit MOCT

axle shafts — nmosryocu

frame with axles — pama ¢ ocsamu

wheels and springs — Koseca ¢ pecco-
paMu

hood — xamot

fenders — KpbLIbs

heater — oronurenn

windshield wiper — crexiioouncTuTENH

include — BKJTIO4aTH B CeOs1

consist of — cocTosTh U3

as well — Taxxe

in turn — B CBOIO OYepenb

source of power — MICTOYHHMK SHEPTUU

fuel — TorutMBO

cooling — oxyaxaeHue

lubricating — cma3ka

Ynpaxuenue 2. [Ipoumume u nepesedume uHMepHALUOHANbHBIE CA06Q.
Automobile, chassis, electric, system, control, differential, venti-

lator, cylinder.

IIpoumume u nepesedume mexcm, a 3amem 6binOAHUME CAeOYIOUUE 3G HUM

YRPAaXCHEeHUs.

TEXT

Components of the Automobile

The automobile is made up of three basic parts: the power plant,
or the engine, the chassis and the body.
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The engine is the source of power that makes the wheels rotate
and the car move. It includes fuel, cooling, lubricating and electric
systems. Most automobile engines have six or eight cylinders.

The chassis includes a power train (power transmission), a run-
ning gear, steering and braking systems as well.

The power train carries the power from the engine to the car wheels.

The power transmission, in turn, contains the clutch, gearbox,
propeller or cardan shaft, final drive, differential, rear axle and axle
shafts. The running gear consists of a frame with axles, wheels and
springs.

The body has a hood, fenders and accessories: the heater, stereo
tape recorder, windshield wipers, conditioner, speedometer and so on.

ITociieTekcTOBBIE YIPAKHEHHA
The exercises to be done after reading the text

Vnpaxuenue 3. Boibepume u 3anuwume mepmuHbsi, OGHHblE HUNCE, KOMOPblE
omHocamces K:

a) the engine (aBUTaTENIO);
b) the chassis (1maccn);

¢) the body (ky30By).

Fuel system, axle shaft, accessories, cooling system, frame with
axles, running gear, lubricating system, steering system, heater, pro-
peller shaft, power transmission, final drive, windshield wiper, clutch,
wheels and axle shafts, gearbox, electric system, differential.

Jaiime pycckue sxeusanenmoi npueeOeHHbIX Gbluie MEPMUHOS.

Vnpaxuenue 4. Haiioume 6 mexcme omeemb. Ha 60nPOChL:

. What main parts is the automobile made up of?

. What is the function of the engine?

What systems does the engine include?

What does the chassis consist of?

What units does the power transmission comprise?
What assemblies does the running gear consist of?
‘What has the body?

NN WD~
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Do Ynpaxmuenue 5. 3axonyume npednoxcenus, evibpag coomeemcmeyouee no
CMbICY OKOHYAHUE.

. The automobile is made up
of ...

1. a power transmission, run-

ning gear, steering and brak-
ing systems.

. The engine is ...

. the clutch, gearbox, propeller

shaft, final drive, differential
and axle shafts.

. The engine includes ...

. a hood, fenders and accesso-

ries.

. The chassis consists of ...

. the engine, the chassis and the

body.

. The power transmission com-
prises ...

. aframe with axles, wheels and

springs.

6. The running gear consists of ...

. the source of power.

7. The body has ...

7. fuel, cooling, electric and lu-

bricating systems.

b0 Vnpaxuenme 6. Haiidume ¢ mexcme anzauiickue 3K6u8anenmst npeoNo*ceruil
U 3anumume ux.

1.
2.
3. JIBuraresib BKJIIOYAeT B ce0s TOIUIMBHYIO, OXJIaXIAOIIYIO,

ABTOMOOWIb COCTOMT M3 TpPEX OCHOBHBIX YacTeil: ABUTaTes,
LIACCH M KY30Ba.
JIBurareib — 3T0 UICTOYHUK SHEPTHH.

CMa3bIBAIOIYIO U JJICKTPUYCCKYIO CUCTEMBI.

. IITaccu BKIIOYaeT B ce0s1 CHIIOBYIO TIEpeAayy, XONOBYIO YacCTb,

PY/IEBYIO U TOPMO3HYIO CUCTEMBI.

CwioBag nnepegaya (TpaHCMUCCHS), B CBOIO OYePEb, COCTOUT
U3 CLIETUIEHHs1, KOPOOKH IIepeiay, KapJAaHHOTO BaJia, INTABHOM
nepenaym, quddepeHana, 3aqHET0 MOCTa U MOJIyOCEH.

. XopoBasl 4acTh BKJIIOYAeT B ce0Os1 paMy C OcsIMH, Kojeca U

peccopsbl.

. Ky30B BKJIIOYAET B ceOst KarnoT, KpbUIbsl U BCITOMOTaTEJIbHBIE

aKceccyapbl: OTOIUTENb, CTEKIOOYUCTUTEIH, MAaTHUTOILY,
KOHIMIIIOHED U T. II.
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Vopaxuenune 7. [Ipoumume duansoe HecKoAbKO pas, a 3amem 6binoAHUME
caedyrouue 3a HUM YRPANCHEHUS .

DIALOGUE

: Do you know what parts the automobile is made up of?

: Certainly. It is made up of the engine, the chassis and the body.
. What is the source of power?

: The source of power is the engine. It includes fuel, cooling,
lubricating and electric systems.

. And what does the chassis consist of?

: It consists of a power transmission, running gear, steering and
braking systems. By the way, the power transmission, in turn,
comprises the clutch, gearbox, propeller shaft, final drive, dif-
ferential, rear axle and axle shafts.

A And what has the body?

B.: The body has a hood, fenders and accessories, such as: the
heater, stereo tape recorder, windshield wipers, conditioner and
SO on.

A.: Thank you very much for your information.

B.: Don’t mention it. I am glad to help you.

VYupaxuenue 8. Haiidume 6 duanoee c108a u c1080co4emanus, I3K6UBANEHMHbIE
DYCCKUM CA08AM U CAOBOCOHEMAHUSM, RPUBEOCHHBIM HUNCE.

CrenaH u3; IIACCH; Ky30B; BKJIIOYATh B C€0sT; TOTUITMBHAS,, OXJIaX-
Jalolasi, CMa3bIBalollas v 3JIEKTPUYECKask CUCTEMbI; TDAHCMUCCHS;
XOIOBasl 4acTh; pyJieBass U TOPMO3HAs CHUCTEMBI; KapJaHHBII Ba;
rJaBHas nepenayva; nuddepeHIan; 3aHUA MOCT; TTOJyOCH; KaroT;,
KpPBbUIbSI; BCIIOMOTATe/IbHbIE YCTPOMCTBA; CTEKIOOYNCTUTEIH.

VYnpaxunenne 9. 3anuwume na ayouokaccemy penauxu cobecednuxa A u
noemopsiime 6 nay3zax penauku cobecednuxa B (603moxcra paboma é napax).

Vnpaxuenne 10. 3anuwume na ayouoxaccemy penauxu cobecednuxa B u
noemopsiime 6 nay3ax penauku cobecedrnura A.

VYupaxuenue 11. 3axonuume npednoxcenus, ucnonsays Heobxooumsie c108a
UAU CA0B0COYEMAaHUsA, OGHHblE HUMXCE .

A.: ‘What parts does the automobile ...?
B.: Itis made up of ... .

A.: What is ...?

B.: The source of power is the ... .
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What systems does the engine ...?

It includes ....

What does the chassis ...?

The chassis ... .

What does the power train include?
The power train includes....
What units does the body comprise?

It comprises ... and accessories such as ....

Thank you for your ... .

Engine, chassis, body, power train, running gear, steering system, brakes,
clutch, gearbox, propeller shaft, final drive, differential, rear axle, axle shafts,
hood and fenders, heater, windshield wipers, information, conditioner,
consist(s) of, the source of power, include, fuel, cooling, lubricating, electric
systems.

Vnpaxuenue 12. Pasviepaiime duanoe é napax.

VYnpaxuenue 13. Buinuwume u3 npagoit KOAOHKU pyccKue CA08a U CA080-
cbuemanus, coomeemcmeyuue aHAUICKUM U3 1e60U KONOHKU.

. power plant
. chassis

body

. power train

running gear
steering system
brakes

clutch

gearbox
propeller shaft

. final drive
. rear axle

axle shafts

. frame
. wheels
. springs
. hood

. fenders

windshield wipers

. fuel system

. CLIETUICHHE

. CWJIOBad Mepemaya

. IJIaBHas Iepenaya

. Kojieca

. CHCTEMa PYJIEBOI'O YIIPaBJICHUS

KaroT

IOJIyOCH

XO/IoBas YacCTh
TOIUIMBHAS CUCTEMa
CTEKJIOOYHUCTUTEITA

. KopoOKa nepenad

. CHCTeMa CMa3K#

. CWJIOBasi YCTAaHOBKA
. pama

. B CBOIO oYepeap

. TOpMO3a

. peccopsl

. TaKxe

. IIaccH

. KapIaHHbIN BaJl
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21. cooling system 21. 3amHUI MOCT
22. lubricating system 22. UCTOYHMK SHEPTHU
23. in turn 23. cucTeMa OXJIaAXICHUS
24. as well 24. KpbUIbsS
25. source of power 25. Ky30B

VYnpaxunenue 14. Omsemome Ha 8onpocwi.

N AL

What main parts is the automobile made up of?

. What is the function of the engine?
. What systems does the engine include?

What does the chassis consist of?

. What units does the power transmission comprise?
. What assemblies does the running gear consist of?

What has the body?

Lo Vnpaxuenue 15. Boibepume u 3anuwume coomeemcmeyouwuii ONUCAHUI0
MexaHusMm.

1.

2.

Mechanism which is used to stop the car.

a) clutch; b) brakes; ¢) gearbox; d) steering system.
Mechanism which is used to guide the car.

a) clutch; b) brakes; c¢) gearbox; d) steering system.

. Mechanism which engages or disengages the engine and the

car wheels.

a) clutch; b) brakes; ¢) gearbox; d) steering system.
Mechanism which is used to change the speed of the car.
a) clutch; b) brakes; c¢) gearbox; d) accelerator.

. Mechanism which is used to guide the car in one or the other

directions.
a) clutch; b) brakes; ¢) gearbox; d) steering system.

. Device which is designed to measure the speed of the car.

a) heater; b) windscreen; ¢) speedometer; d) tachometer.

CJIOBAPH YPOKA
accessories — BCrioMorarteJnbHbIe ycT-  cooling — oximaxneHue
poiicTBa device — ycTpoiicTBO
as well — Takxe disengage — OTKJII0YaTh, OTCOCOTUHATD
axle shafts — noiyocu engage — BKJIIOYaTh, COCIUHSATD
body — Ky30B engine — IBUraTesib
conditioner — KOHIULIMOHEDP fenders — KpbUTbsi

consist of — cocTodTh U3 final drive — rnaBHas repenava
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fix — KpenuThb

flywheel — MmaxoBUK

frame — pama

fuel — ToruTMBO

gearbox — kopoOka repenay

heater — oronuTteab

hood — kamnor

in turn — B CBOIO o4Yepeap

include — BkTIOYaThH B CEOS

lubricating (lubrication) — cma3ka

measure — U3MEPSITh

pedal — nenann

power train (transmission) — cwioBas
nepeaaya (TpPaHCMUCCHS)

power plant — cuoBasi ycTaHOBKa

propeller (cardan) shaft — xkapnaHHbIit
BaJI

rear axle — 3agHuii MOCT

release the engine — 0TCOEIMHUTBH JBU -
ratejib

running gear — X010Bast 4acCTh

source of power — UCTOYHUK JHEP-
1§70

speed — CKOpOCTb

speedometer — CIIUIOMETD

springs — peccopsl

tachometer — TaxomeTp

wheel — koneco

windshield wipers — crexiooyucTu-
TEIu
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Text: Principle of Operation of the

Four-Stroke Petrol Engine

Dialogue A: Tracing a Fault
Dialogue B: At the Repairing Shop

ITpenrekcToBbie yNpaKHEHHA
The exercises to be done before reading the text

VYnpaxuenune 1. [Ipoumume cnoea u croeocowemanus u nocmapaiimeco

3anoMHUmMb UX pyccKue 3K6U8anNeHmbl .

bottom dead center — HYUXXHsIs1 MepTBast
TOYKA

charge of fuel — 3apsin ToruuBa

combustion — cropaHue

combustion chamber -
CropaHust

compression stroke — TakT cxaTus
(cmecn)

connecting rod — maTyH

crankshaft — xoneHyaTbIit Bax

cylinder — unnMHIp

diesel engine — 1M3eabHBIN JBUTATEND

engine — 1BUraTesb

exhaust stroke — TakT BbIITycKa

four-stroke cycle — 4eThIpexXTaKTHBIMK
LMK

fuel injection — BrippICK TOTLTMBA

ignite — BocrulaMeHsTb

ignition — BocriaMeHeHue

Kamepa

intake (inlet) stroke — TakT BITycKa

internal combustion engine — nBuraTenb
BHYTPEHHETO CrOpaHUsI

mixture — cMecb

operating cycle — pabouuii 1TUKII

petrol engine — 6eH3HOBbI# IBUTATENTb

piston — nmopieHb

power stroke — pabGoumii xon

pressure — JIaBJicHUE

reciprocating movement — Bo3BpaTHO-
TOCTYTIAaTEeIbHOE JIBUKECHUE

residual gas — ocTatouyHbIi ra3

rotary movement — BpalaTeJIbHOE
JIBUKEHHE

spark plug — cBeva 3aXXuraHus

stroke — xoj (TOpPIIHS)

top dead center — BepxHsisl MepTBasi
TOYKa

valve — K1anaH

VYnpaxuenue 2*. [lepesedume cnroea Ha pycckuii A3vik, 00pawyas 6HUMAaKUE HA

cygurcot.

to combust — combustion; to operate — operation; to ignite — ig-
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nition; to reciprocate — reciprocation; to connect — connection; to
compress — compression; to describe — description.

Vnpaxuenue 3. [Ipoumume u nepesedume uHmMepHALUOHANbHbIE CA06A.

Principle, cycle, piston, center, cylinder, atmosphere.

Vupaxuenue 4. [lepegedume npednoxceHus Ha pycckui A3vlk, UCNOAb3YS
mepmuHonoeuio ynpaxcienus 1.

1. During the inlet (intake) stroke the inlet valve opens and a charge
of fuel (mixture) flows into the cylinder.

2. During the compression stroke the inlet valve is closed and the
fuel is compressed by the rising piston.

3. During the power stroke both valves are closed, pressure rises
in the combustion chamber, and the spark ignites the mixture.

4. During the exhaust stroke the exhaust valve is opened, pressure
is released and the residual gases flow into the atmosphere
through the exhaust valve.

Ilpoumume u nepesedume mexcm, a 3amem @binoAHUMe CcAeo0yrOuUe 3a HUM
YRDAXCHEHUS.

TEXT

Principle of Operation of the Four-Stroke Petrol Engine

The internal combustion engine is called so because fuel is burned
directly inside the engine itself. Most automobile engines work on a
4-stroke cycle. A cycle is one complete sequence of 4 strokes of the
piston in the cylinder. The operating cycle of the four-stroke petrol
engine includes: inlet stroke (intake valve opens), compression stroke
(both valves closed), power stroke (both valves closed), exhaust stroke
(exhaust valve is opened).

To describe the complete cycle, let’s assume that the piston is at
the top of the stroke (top dead center) and the inlet and the exhaust
valves are closed. When the piston moves down the inlet valve opens to
intake a charge of fuel into the cylinder. This is called the inlet (intake)
stroke. On reaching the lowest position (bottom dead center) the pis-
ton begins to move upward into the closed upper part on the cylinder,
the inlet valve is closed and the mixture is compressed by the rising
piston. This is called the compression stroke. As the piston again reaches
the top dead center the spark plugs ignite the mixture, both valves be-
ing closed during its combustion. As a result of burning mixtures the
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gases expand and great pressure makes the piston move back down the
cylinder. This stroke is called the power stroke. When the piston reaches
the bottom of its stroke, the exhaust valve is opened, pressure is re-
leased, and the piston again rises. It lets the burnt gas flow through the
exhaust valve into the atmosphere. This is called the exhaust stroke
which completes the cycle. So the piston moves in the cylinder down
(intake stroke), up (compression stroke), down (power stroke), up (ex-
haust stroke).

The heat released by the fuel is transformed into work so that the
reciprocating movement of the pistons is converted into rotary move-
ment of a crankshaft by means of connecting rods.

1 —intake 2 — compression 3 — power 4 — exhaust

Puc. 1. Principle of Operation of the Four-Stroke Petrol Engine

1. intake — TakT BITycKa 3. power — pabouuii TaKT
2. compression — TakT CXaTHs 4. exhaust — TakT BbIXJIOTIA

ITocaerekcToBbie yIpaKHEHHA
The exercises to be done after reading the text

Ynpaxuenue 5. Haiidume 6 mexcme ab3aybl, 20e udem pevb 0 makme énycka,
0 makme cxcamusi, 0 pabouem xode, 0 maKme gbinycka u nepegedume ux Ha pyccKul
A3bIK .

Do Ynpaxuenue 6. Boibepume npagunvHbie no CMbiCAy Omeembl Ha 60NPOCHI .

1. Why is the engine called the internal combustion engine?
2. What stroke is called the inlet one?

3. What is a compression stroke?

4. What takes place in the cylinder on power stroke?
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. What takes place on the exhaust stroke?
. By means of what is the reciprocating movement of the pistons
converted into rotary movement of a crankshaft?

AN\

1. It is called so because the fuel (the mixture) is burned ...
a) directly inside the engine;
b) outside the engine.
2. The inlet stroke is called so because during moving down the
piston ...
a) the inlet valve opens to intake a charge of fuel into the cylin-
der;
b) the inlet valve is closed and the mixture is compressed.
3. The compression stroke is a stroke ...
a) when the inlet valve opens to intake a charge of fuel into the
cylinder;
b) when the inlet valve is closed and the mixture is compressed.
4. On power stroke ...
a) the spark plugs ignite the mixture, both valves are closed dur-
ing its combustion;
b) the exhaust valve is opened and the residual gas flows through
the exhaust valve into the atmosphere.
5. On the exhaust stroke ...
a) the spark plugs ignite the mixture, both valves are closed dur-
ing its combustion;
b) the exhaust valve is opened and the residual gas flows through
the exhaust valve into the atmosphere.
6. Itis done ...
a) by means of pistons;
b) by means of the connecting rods.

Do Vmpaxunenue 7. 3axonyume npeonoxceHus, 8vi0paé npasunbHbli NO CMbICAY
8apuanm OKOHYaHUSL.

1. The internal combustion engine is called so because fuel is
burned ...
a) outside the engine;
b) inside the engine.
2. On the inlet stroke ...
a) the intake valve opens;
b) the intake valve is closed;
c¢) the intake and the exhaust valves are closed.
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3. On the compression stroke ...

a) the intake valve opens;
b) the intake valve is closed;
¢) the intake and the exhaust valves are closed.

. On the power stroke ...

a) the intake valve opens;
b) the intake valve is closed;
c) the intake and the exhaust valves are closed.

. On the exhaust stroke ...

a) the exhaust valve opens;
b) the intake valve is closed;
c) the intake and the exhaust valves are closed.

Ynpaxuenue 8. [Ipoumume ouanoe Heckonvko pas, a 3amem pasviepaiime e2o

6 napax.

Nick:

vZF
..8
-

mZpZTZ P2 7 2

DIALOGUE A
Tracing a Fault

Peter, I know you are a good driver. I would like you to have a
look at my car.

: What’s wrong with your car?

I don’t know.

Let me have a look. When did you have your plugs checked?
Three days ago. I thought I had run out of fuel but the tank is
half full.

The carburettor is in order but the engine is misfiring. I guess
the battery has run down. It needs recharging.

Too bad.

Don’t get upset about it. It won’t take you long to have your
battery recharged.

Do you really think so?

I am sure of it. I advise you to have the engine greased.

I’ll follow your advice. Thank you, Peter.

Don’t mention it, Nick. I’m very sorry I couldn’t help you.
Well, you helped me to find the fault. Thanks a lot. Good-bye.
See you later.

Ynpaxnenue 9. /lepesedume pycckue npednoxcenus Ha anAUIICKUL A3bIK, a
3amem pasviepaiime duanoeu é napax.

1. — He 3Hal0, YTO CIYYWJIOCH C MOEM MAILIMHOMA.
— Let me trace the fault.
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IToxanyiicta. Tel ONBITHBIN BOOUTENH?

Yes, I am. I have been driving a car for fifteen years now. May
be you have run out of fuel?

bak nmouTu moJiHbIA.

When did you have your plugs checked?

Buepa. Kap6ropatop Toxe B OPSIAKE.

B TtakoM cnyyae maBail moeneM Jo OJvKaiIiieir peMOHTHOM
CTaHIIUM.

Good idea. They will have the car fixed.

Korna Te6e nouynHwIM MauHy?

Last month. The engine is in good condition now. It was well
greased.

Xopoiro. MHe Toxe Hago YMHUTh MaluHy. Ociabau TopMo3sa
(The brakes are slack.) Akkymynsitop pa3psiawics (The battery
has run down.)

It can be easily done.

S pax 3TO CHIBIIIATG.

Kakyio MaIvHy Thl XO4€lIb KYITUTh?

I want a second-hand car. Could you help me?

C 6OJBLINM YIOBOJBCTBHEM.

I hear there are good cars on sale 42nd Street.

4 3Haro 3TOoT MarasuH. [laBaii moemem Tyna.

Good idea. If I choose a car there, I won’t have to bother any
more.

CoBepllIeHHO BEPHO.

Vnpaxuenue 10. /Ipoumume duanoe u pacckaxcume, o yem 8 Hem udem peus.

DIALOGUE B
At the Repairing Shop

Client: Good afternoon! Can you help me? There is something wrong

with the engine.

Master: Hi! What is wrong with it?

C.:

I don’t know. It wouldn’t start. Maybe the pistons and valves
are in disorder.

Let’s have a look! Well, they are quite right.

And what about the crankshaft, or electric spark plugs. I know
absolutely nothing about the operating cycle of the engine.
Just a moment. Don’t worry! We shall check up all units and
how thev work together.
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Some time later

My God! There is no petrol in the tank. How can you move drive?

C.:
don to trouble you!
M.:

Really? Oh, I have forgotten to fill in the tank! I beg your par-

No trouble, at all. You are welcome!

CJIOBAPB YPOKA

as a result — B pe3ynbrare

assume — TpearoiaraTh

bottom dead center — HVUXKHSISI MEpTBast
TOYKa

burn — ropetb

by means of — nocpeacTsomM

charge of fuel — 3apsiq ToruuBa

combustion — cropaHue

combustion chamber — xamepa cro-
paHusi

compression stroke — TakT cxaTus
(cmecu)

connecting rod — waTyH

convert — npeobpa3oBbIBaTh

crankshaft — koseHyaTbIit Ba

cylinder — uyunuHIp

descend — cryckaTthbcsi, OImycKaTbesl (0
TOpLIHE)

describe — onucrIBaTh

diesel engine — nu3ebHBIN IBUTATENb

directly — HermocpeaCTBEHHO

don’t get upset — He paccTpanBaiTeCh

engine — JBUTATENb

exhaust stroke — TakT BbIITycKa

follow sb’s advice — mocyienoBath Ybe-
MY-JI. COBETY

four-stroke cycle — yeTbIpeXTaKTHBIH
LMK

fuel injection — BpbICK TOTLTHBA

have a look — B3rISIHYTh

heat — Teruto

I guess — 51 monaraio

ignite — BocIUTaMeHSATh

ignition — BocIUlaMeHeHue

in order — B mopsiaKe (B HCIIpaBHOM
COCTOSTHHMH)

intake (inlet) stroke — TakT BITycKa

internal combustion engine — nBuraTeNH
BHYTPEHHETO CrOpaHMs

mixture — cMeCh

operating cycle — paGoYHif IUKIT

petrol engine — 6GEH3WHOBBIH IBUTATETH

piston — nopieHb

power stroke — pabouumii xon

pressure — J1aBJcHUE

reach — nocrurarp

recharge — mon3apsiquTe (aKKymy-
JISITOP)

reciprocating movement — BO3BpaTHO-
MOCTYTaTeIbHOE TBUXEHUE

residual gas — ocTaToyHbI# ra3

rise — MOMHUMATBCS

rotary movement — BpallaTeJbHOE
IBIDKEHUE

run down — cecTb (00 aKKyMyJIATOPaXx)

run out of fuel — 3aKOHYMIIOCH TOILTUBO

spark plug — cBeua 3axxuraHus

stroke — xoj (MopuIHs)

tank — TOTUTMBHBIM 6ak

top dead center — BepxHssi MepTBast
TOYKa

trace the fault — uckarp (ipocyiieauTh)
HEMCIIPaBHOCTh

valve — kanaH
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Text: Chassis
Dialogue: Transmission Mechanism

IIpearekcroBbie ynpaxueHus
The exercises to be done before reading the text

VYnpaxnenue 1. IIpoumume cnosa u crosocowemanus u nocmapaiimecs

3aNOMHUMb UX PYCCKUE IK8UBANECHMbI.

unit — y3ein, 610K, arperart

power transmission — cwioBast mepe-
naya

running gear — XoJ0Basi 4acTh

steering system — cuctema pyJeBOro
yIpaBJieHUs

flywheel — maxoBuk

clutch — cuerienne

friction device — ¢dpuxkuuoHHOE
YCTPOMCTBO

crankshaft — KoneHyareiit Ban

gear — IIIeCTEPHS
gearbox — kopoOka repenaq
tractive effort — TaroBoe ycwine
driving wheels — Bexymume xoneca
shaft — Ban

car springs — peccopsl aBTOMOGWIIA
rear axle — 3agHui MOCT

final drive — r1aBHas nepenaya

axle shafts — monyocu

brakes — Topmo3a

VYnpaxuenue 2. [lepesedume cao8a ha pycckuii 23viK, 06pauas eHumanue Ha

cydgukcor.

to transmit — transmission; to connect — connection;
to found — foundation; to move — movement.

Ynpaxnenue 3. [lepegedume na pycckuii A3vik UHMEPHALUOHANBHBIE CA0EA.

Transmission, system, mechanism, radiator, friction, automobile,
cardan, portion, final, accelerator, pedal, position.

VYupaxuenue 4. [lepesedume npedaoxcenus Ha pycckuii A3vik, UCHOABIYS

npusedennvie ¢ ynpaxcrenuu 1 croea.

1. The chassis includes the running gear, the power transmission
and the steering mechanism.
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2. The power transmission consists of the clutch, gearbox, cardan
shaft, rear axle, final drive, differential and axle shafts.

3. The clutch connects the engine with the driving wheels.

4. The gearbox changes the speed of the car movement.

5. The steering mechanism changes the direction of the car.

ITIpoumume u nepeeedume mexcm, a 3amem 6biNOAHUME CAEOYIOUUE 3a HUM
YRpaXcHeHust.

TEXT
Chassis

The main units of the chassis are: the power transmission, the run-
ning gear and the steering mechanism. The power transmission includes
the whole mechanism between the engine and the rear wheels. This
entire mechanism consists of the clutch, gearbox, propeller (cardan)
shaft, rear axle, final drive, differential and axle shafts.

At the front end of the car is the engine. On the back of it is the
flywheel. Behind the flywheel is the clutch. The clutch is a friction de-
vice connecting the engine with the gears of the gearbox. The main
function of the gearbox is to change the speed of the car.

The power is always transmitted by the cardan shaft to the live back
axle. The final drive reduces the high speed of the engine to the low
speed of the driving wheels. The differential enables the driving wheels
to turn at different speeds which is necessary when turning the car. The
foundation of the automobile is the frame to which different chassis
units are attached.

The rear axle is capable of moving up and down about the frame.
The rear axle is an important part of the transmission. It carries the
greater portion of the weight of the car.

The steering mechanism is designed for changing the direction of
the car.

The brakes are used for stopping the car, for decreasing its speed
and for holding the car position.

ITocnerekcToBbie ynpaxHeHHs
The exercises to be done after reading the text

Yupaxuenue 5. Haiidume 6 mexkcme omaeemyi Ha caedyrousue 60npoch..

1. What main units does the chassis consist of?
2. Where is the engine located?
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Where is the flywheel fixed?

Where is the clutch placed?

What is the gearbox designed for?

By what shaft is the power transmitted to the back axle?
What does the rear axle do?

What is the function of the differential?

What purpose is the steering system designed for?

What is the function of the brakes?

Vopaxnenue 6*. [lepesedume npednosxcenus Ha pycckuil a3vik, obpawas
eHumanue Ha Complex Subject.

1.

2.

Transmission, running gear and steering mechanism are known
to be the main units of the chassis.

The clutch is known to connect the engine with the driving
wheels of the car.

The gearbox is known to change the speed of the car.

The steering mechanism is known to change the direction of
the car.

Brakes are considered to be one of the most important mecha-
nisms of the car.

Yupaxuenue 7. Ilepesedume nHa anzautickuii A3biK credyrousue npecroxceHus
(npu 8binonnenuu 3a0anus 8bl Modceme obpauamuvcs K mekcmy).

1.

whw

NS

10.

OCHOBHBIMU y3J1aMH IIACCH SIBJISIIOTCSA: TPAHCMUCCHUSA, X000~
Bas 4acCTb M PYyJIEBOM MEXaHU3M.

Paguarop pacnosioXeH B IiepeaHeid 9acTH aBTOMOOWIISL.
MaxoBUK KpenuTcsl Ha 3aJIHEN YaCTH IBUTATEIIS.
CleruieHre COeIUHSET IBUTaTe]Ib C KOPOOKOiA nepenay.
Kopo6ka nepenay npeaHazHayeHa 1JIs U3BMEHEHUSI CKOPOCTH
JIBVXEHUST aBTOMOOWJIS.

Ycunue niepenaeTcsi KapgaHHBIM BaJloM.

IaBHas nepenaya CHUXXaeT BBICOKKME 00OPOTHI ABUTATEJIS 10
HEBBICOKMX 000POTOB BEIYIIUX KOJIEC.

JuddepeHunan no3BojseT BeayllMM KojiecaM BpallaThCs C
Pa3HOM CKOPOCTHIO P ITOBOPOTE aBTOMOOWIISL.

. PyIICBOﬁ MEXaHU3M IIp€eaHa3HAa4YCH 11 USMCHCHHUA Ha-

MpaBJIeHUS IBUXEHUSI aBTOMOOWWIS.
TopMmo3a MCITONB3YIOTCS IJII OCTAHOBKM WJIM CHUXEHUS
CKOPOCTH aBTOMOOMJIS.
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L0 Vnpaxuenue 8. ITod6epume u3 npasoii KOAOHKU COOMEEMCMEYouee ONUCAHUE
Y314 UAU MeXaHu3Ma agmomobus, Ha36aHUs KOMOPbIX NpedcmasneHsl 8 160l
KOn0HKe.

1. differential a. mechanism used to increase the speed
of the car

2. steering wheel b. wheel used to turn the direction of the
car

3. clutch c. mechanism used to transmit power to
the back axle

4. rear axle d. instrument used to measure the speed
of the car

5. steering system e. mechanism that slows or stops the car
6. speedometer f. mechanism used to guide the car

7. brakes g. mechanism used to engage or disen-
gage the engine with gearbox

8. gearbox h. mechanism used to carry the greater
portion of the car weight

9. cardan shaft i. mechanism used to turn the wheels at
different speeds

Vnpaxuenue 9. IIpoumume duanoe u pasviepaiime ezo 6 napax.
DIALOGUE
Transmission Mechanism

Teacher: Let’s speak about the transmission mechanism. What main
units does the transmission include?

Student: The transmission is the entire mechanism between the en-
gine and the rear wheels. It includes the clutch, gearbox,
cardan shaft, rear axle, final drive and differential.

T. What does the clutch connect?

S.: The clutch connects the engine with the gearbox.

T.: And what does the gearbox do?

S.: The gearbox changes the speed of the car.

T.: What does the differential enable?

S.: The differential enables the driving wheels to move at differ-
ent speeds when turning the car.

T.: For what purpose is the steering system used?
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S.: The steering system is used for changing the direction of the
car movement.

T.: And what is the function of the brakes?

S.: Brakes are used to slow or stop the car.

T.: That’s right. You know the subject very well.

Vnpaxuenue 10. /lepesedume mexcm Ha pycckuii A3biK, NOABL3YACH CA08ADEM.

Basic Troubles of Transmission Mechanism

The transmission of the engine torque to the driving wheels of the
automobile must be smooth. There should be no vibration in the op-
eration of transmission mechanism within the range of travelling speeds.

The indications of malfunctions in the transmission mechanism

components are as follows:

1. incomplete disengagement of the clutch;
2. difficult engagement or self-demeshing of gears;
3. run out and vibration of the cardan-drive shaft.

What to do in these cases:

[u—

Check the free travel of the clutch pedal and adjust it.

2. Check the oil level in the gearbox housing and wash breather

channel.

3. Check to see that all the fastening bolts are securely tightened
and that the trunnion crosses fit properly the bearings, and the
bearings, in turn, the universal-joint forks.

CJIOBAPb YPOKA

adjust — perynupoBartb

attach — npukpemisaTh

be capable — GbITH CTIOCOGHBIM

breather channel — xaHan carmyHa

check — nposepka

decrease the speed — cHuXaTb CKO-
pocTh

driven wheels — Bezomsle Koseca

driving wheels — Benyiue xoseca

engine crankshaft — xoneHyaTslii Ban
JBUTATENS

fastening bolts — kpenexHsble GONTHI

fit properly — moaAroHATh HOJKHBIM
obpa3oM

flywheel — MaxoBuK

frame — paMa

free travel — cBOOOIHBII XO1

gear lever — pbryar KOpoOKM nepenayg

greater portion of the car weight —
0oJIbILAs YaCTh Beca aBTOMOOMIIS

hold the car position — ynepxuBaTtb
aBTOMOOWJIb B HYXHOM Harmpa-
BJICHUH

housing — kaprep, Kopiyc

in turn — B cCBOIO OuYepenn

incomplete disengagement — HeronHoe
OTKJIIOYEHHE (CLETUIEHUS)

level — ypoBeHb
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malfunction — HermoMagKy, HEUCIIPaB-
Hasi paboTa

mount — yCTaHaBJIUBaTh

move up and down — JBUTaTLCSI BBEPX U
BHU3 (ITOIIPBITMBATh HA HEPOBHOM
Jiopore)

power transmission — cujioBasi rnepe-
nava

rear wheels — 3agHue Kojieca

run out — U3HOC

running gear — Xo0Bast 4aCTh

self-demeshing of gears — camopa3sse-
JUHEHHE lIecTepeH (caMopaclen-
JIEHUE)

springs — peccophl

steering system — pyseBasi cucreMa

steering wheel — pyneBoe koneco (pyJib)

support — IOIIEPXXUBATh, (ONUPATHCS
Ha)

tighten — 3aKperuIsTh, 3aTSITUBATh

torque — KpyTAUIMA MOMEHT

tractive effort — TsiroBoe ycuiue

travelling speed — ckopocTb €31b1

trouble — HeMcnIpaBHOCTH

trunnion cross — KpecToOBMHA KapaHa

universal-joint forks — BUJIKY KapnaHa

wash — npoMbIBaTh

within the range — B npenenax
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Text: Frame
Dialogue

IIpenrexcToBbie ynpaxKHeHUs
The exercises to be done before reading the text

Vnpaxuenne 1. ITpoumume caoea u croéocovemanus u nocmapaiimecs
3anOMHUMb UX PyCCKUe IKGUBANEHMD.

frame — pama twist — kpyyeHue
support — onopa suspension — roaBecKa
body — ky30B channel section — ronas cexkiust
longitudinal members — 10HXepOHBI weld — cBapuBath
cross members — rMonepeynHbI rivet — 3aKJIeNIbIBATh
reinforce — ycuinBaTh insulate — n3zonupoBaTh
rigid — xecTkui rubber pad — pe3uHOBasi MPoKJIagKa
strong — NMpOYHbII unibody construction — KOHCTpYK1IS C
withstand strains — BHIAEpXUBaTh HECYIINM KY30BOM

Harpy3ku strengthen — yKperisith

VYnpaxuenue 2. [lepesedume na pycckuii A3biKk UHMEPHAUUOHANbHbIE CA064.

Chassis, structure, system, integral, construction, steel, vibration,
passenger, metal, contact.

Vnpaxuenue 3*. [lepesedume crosa, obpawas enumanue Ha cydduxcei.

To found — foundation; frame — frameless; to construct — con-
struction; structure — structural — structurally; to attach — attachment;
to vibrate — vibration; to insulate — insulation; usual — usually.

Hpoumume u nepeeedume mekcm, a 3amem 6blnosHume meaylomue 3a HUM
YRDPaMCHEeHUs.

TEXT
Frame

The foundation of the automobile chassis is the frame which pro-
vides support for the engine, body and power-train members. Cross
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members reinforce the frame. The frame is rigid and strong so that it
can withstand the shocks, vibrations, twists and other strains to which
it is put on the road.

The frame provides a firm structure for the body, as well as a good
point for the suspension system. There are two types of frames, namely:
conventional frames and integral (unibody) frames (frameless construc-
tions).

Conventional frames are usually made of heavy steel channel sec-
tions welded or riveted together. All other parts of the car are attached
to the frame.

In order to prevent noise and vibrations from passing to the frame
and from there to the passengers of the car, the frame is insulated from
these parts by rubber pads.

It is also important to insulate the frame in order to prevent metal-
to-metal contacts.

Frameless (unibody) constructions are called so because they are
made integral with the body. The body parts are used to structurally
strengthen the entire car. Some unibody frames have partial front and
rear frames for attaching the engine and suspension members.

IMocnerekcToBbie yNpaxKHeHUs!
The exercises to be done after reading the text

Vipaxnenue 4. Haiioume 6 mexcme u eoinuwiume aneautickue 3K8U8aneHmMbl
DYCCKUM mepMUHaM.

JloHXepoHbI, TONEPEYUHBI, XECTKUIA, TPOYHBIH, BHIIEPXUBATh
Harpy3ku, rnojsecka, o0blyHast (oOuienpuHsTas) pama, 0e3paMHas
KOHCTPYKIIUSI, MOJIBIE CEKIIMU, CBADEHHBIC WM 3aKJIeTIaHHBIE,
MPUKPEIUIATh K paMe, PE3UHOBBIE IPOKIAIKH, YKPEILIATb.

Vnpaxuenue 5. Haiioume 6 mexcme omeéems: Ha 60npocei.

What does the frame provide?

Why is the frame rigid and strong?

What types of frames are there?

What is the conventional frame made of?

By what is the frame insulated from the other car parts? For
what purpose?

What do you know about unibody frames?

kL=

a
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Lo Vopaxuenue 6. IToobepume u3 npagoii KOAOHKU COOMEemcmeyujue
OKOHYAHUSL 0N51 NPEONOHCEH U U3 1e60il KONOHKU.

1.

The frame provides support
for...

1.

channel sections welded to-
gether.

Conventional frames are
made of ...

. prevent noise and vibrations

from passing to the passengers.

Frameless constructions are
made ...

cross members.

The frame is insulated from
other parts in order to ...

. the engine, body and power

train members.

. The frame is reinforced by...

. integral with the body.

Ynpaxuenue 7*. Ilepecedume npednoxwcenus Ha pycckuii asvik. Obpamume
eénumanue Ha Complex Object.

1. We know the frame to be the structural centre of any car.
2. Car specialists consider the conventional frame to be extremely

rigid and strong.

3. We know the frame to be insulated from the other parts by rub-
ber pads to prevent metal-to-metal contacts.

4. Many specialists consider the body parts to be used to structur-
ally strengthen the entire car.

5. The manufacturers believe the unibody constructions to be
called so because they are made integral with the body.

Vupaxuenue 8. [lepesedume mexcm, He NOAB3YACh CA08APEM.

The frame is a structural centre of any car as it provides support
for the engine, body, wheels and power-train members.

Cross members reinforce the frame and provide support for the
engine and wheels. The frame is extremely rigid and strong. The en-
gine is attached to the frame in three or four points and insulated in
these points by some rubber pads to prevent vibration and noise from
passing to the frame and thus to the passengers. There are two types of
frames: conventional construction and unibody one.

Do Vnpaxuenue 9. [lepesedume npednoxcenus Ha aHeaulicKull A3biK.

1. Pama oGecriedrBaeT onopy Mt Ky30Ba, BUTaTessi U y3/I0B

CWJIOBOM nepeaayu.
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2. OHa COCTOMT U3 JIOHXEPOHOB U IMOIEPEYUH, KOTOPHIE YCH-
JIMBAIOT paMmy.
3. Pama nomxHa BeIIEpXUBATh BUOpALIMIO, KPYYEHUS U JpyTUE
Harpy3ku (HampsoKeHUs).
4. PamMbl 6bIBAlOT ABYX TMIIOB: OOBIYHbBIE (CTAaHAAPTHHIE) U
BBITIOJTHEHHBIE BOETMHO C Ky30BOM.
5. CraHzapTHbIE paMbl U3TOTOBJIEHBI U3 CTATBHBIX MOJBIX CEK-
LM, CBAPEHHbIX WIM 3aKJIETIaHHBIX BMECTE.
. Be3pamHble KOHCTPYKIIMY BBITIOJTHEHBI BOEIUHO C KY30BOM.
. Pama usonupyeTcs oT Ky30Ba pe3MHOBBIMM MPOKJIAIKaMH,
YTOOBI IIYMbI ¥ BUOpALIMU HE MPOXOIIIM K Maccaxupam
aBTOMOOWIIS.

N AN

VYnpaxuenue 10. /Ipoumume duanoe, a 3amem pasvicpaiime e2o 6 napax .

DIALOGUE

Stas: Hi! Seen you for ages! How are you?
Vlad: Hi! I’'m perfectly well! I am working at a repairing shop. Very

V..

.
»e

nem

" <

interesting I can tell you.

What are you doing there?

Now, we are testing the frame. You see, the driver has got into
trouble. Something is wrong with his car. He thinks it is the
frame.

Has the car a conventional frame or a unibody frame?
Unibody frame.

I think you have to do a lot of work as body parts strengthen the
entire car.

Sure. We are testing all parts in order to find out the damage.
I think you will cope with the problem.

Notes: seen you for ages — ne suden mebs cmo nem;
perfectly well — npexpachno;
get into trouble — nonacmo 6 6edy;
be wrong with — ymo-mo ne mak;
sure — KoHeuHo (b6e3 CoOMHeHUs);
find out the damage — omsickams nospescdenue;
cope with — cnpasumucs (¢ npobaemoii).
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CJIOBAPb YPOKA

alignment — BbIpaBHUBaHUE

attach — npukpersaTh

conventional frame — o6uienpuHATas
pama

extremely rigid — oueHb XecTKasi

fasten — cKperUIsiTh, 3aKPEILISTh

firm structure — kpenkas (Ipo4yHasi)
KOHCTPYKIIHUS

frame — pama

heavy steel — npoyHas ctanp

integral frame — pama, BBITIOJIHEHHAsI

BOEIMHO

pad — noayuika

provide — obecrieunBaTh

reinforce — yKperuisiTe, yCUJIMBaTh

rivert — 3aKJIeNbIBaTh

rubber insulator — pe3suHOBas mpo-
KJ1agKa

strengthen — ycunuBath

suspension system — cucTeMa MojaBe-
CKH

weld — cBapuBatb
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Text: Clutch
Dialogue

IIpenrexcToBblie yIpaxHeHHs
The exercises to be done before reading the text

VYnpaxuenue 1. I[Tpoumume caroea u carosocouemanus u nocmapaimecs
3aNOMHUMb UX PyccKue IK8UBANEHMbI.

friction device — dpukiMoHHOe ycT-  pressure disc — HAXXMMHOMR TUCK

poOiiCcTBO hard-wearing material — u3Hoco-
connect — COEIUHSATh CTOMKMA MaTepuai
gearbox — kopoOka nepenay frictional force — cuna TpeHus
start the car — 3aBecTi aBTOMOOWIb clutch pedal — nenans cueruieHus
release the engine — oTCOeIMHUTEL IBU-  at rest — B TIOKOE

raresib is engaged — BKJTIOYeHO (TTOICOENM-
fix — KpenuTh (YyCTAHABJIUBATD) HEHO)
flywheel — MaxoBUK is disengaged — oTkTI04eHO

friction disc (plate) — dbpukimonHslit  run idly — paGorats BX0J0CTYIO
JTIACK

Ynpaxuenune 2*. [lepesedume crosa, obpawas enumanue Ha cyggpuxcor u
npeguicsot.

Connect — disconnect — connection — disconnection; operate —
operation; friction — frictional; engage — engagement — disengagement.

Ynpaxuenue 3. [Ipoumume u nepegedume uHmMepHAYUOHANbHbBIE CA06A.

Start, disc, friction, frictional, material, base, principal, control,
pedal.

Ilpoumume u nepesedume mekxcm, a 3amem 8bINOAHUME CACOYIOUUE 3G HUM
YNpaxcHeHus.
TEXT
Clutch
The clutch is a friction device. It connects the engine to the gears

in the gearbox. It is used for disconnecting the engine from the gear-
box, for starting the car and for releasing the engine from the car wheels.



Unit Six 41

Puc. 2. Clutch

1. flywheel — MaxoBHK 5. cover — KphIIIKa
2. friction disc — GppUKIMOHHEIA 1MCK 6. thrust bearing — yIOpHBI# MOA-
3. pressure disc — HOXMMHOM JMCK 1118701050%0°¢

4. spring — npyX1Ha 7. lever — pbryar
8. pedal — nenanp

The clutch is fixed between the flywheel of the engine and the gear-
box and consists of two plates (discs): the friction disc and the pressure
disc. The friction disc is situated between the flywheel and the pres-
sure plate and has a hard-wearing material on each side.
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The basic principal operation of the clutch is a frictional force act-
ing between two discs. The clutch is controlled by the clutch pedal.
When the pedal is at rest the clutch is engaged and the running engine
is connected to the gearbox. When the pedal is pressed down the clutch
is disengaged and the engine runs idly.

ITociieTeKCTOBBIE YIPAXKHEHUS
The exercises to be done after reading the text

Vnpaxuenne 4. Haiidume 6 mexcme danHble HUMCe c108a U HAnUUWUMe UX
pyccKue 3KeusaneHmoL.

Friction device, clutch, gearbox, to free, to start, to release, fly-
wheel, pressure plate, basic principle of operation, to fix, hard-wear-
ing material, to consist of, to be controlled by, running engine, to run
idly, to engage, to disengage, to press down, to be at rest.

Ynpaxuenue 5. Haiioume 6 mexkcme omeemut Ha credyroujie 80npPOCHL:

What device is the clutch?

What units does it connect?

What is the clutch used for?

Where is the clutch placed?

What plates does the clutch consist of?

What is the basic principal operation of the clutch?
What is the clutch controlled by?

What takes place when the clutch pedal is at rest?
When does the engine run idly?

WEeNAUL AW

00 Ynpaxuenue 6. 3axonuume npedroxcenus, 6vi6pas coomeemcmeyrousee 102UKe
OKOHYaHue.

1. The clutch is a device connecting ...
a) the rear axle and axle shafts.
b) the gearbox and differential.
¢) the engine and the gearbox.

2. The clutch is situated between ...
a) the gearbox and cardan shaft.
b) the flywheel and the gearbox.
¢) the gearbox and rear axle.

3. The clutch is controlled by ...
a) the brake pedal.



Unit Six

43

b) the clutch pedal.
¢) the gearbox and rear axle.

. The clutch is engaged ...

a) when the clutch pedal is pressed down.
b) when the clutch pedal is at rest.

The clutch is disengaged ...
a) when the clutch pedal is at rest.
b) when the clutch pedal is pressed down.

VYnpaxuenune 7. [Ipoumume duaroz u @uihosHume ciedyoujue 3a HUM
YAPAXCHEHUS.

o

gl

ol

™=

DIALOGUE

What is the function of the clutch?

You see, it serves three functions. It is used for freeing the en-
gine from the gearbox, for starting the car and for freeing the
engine from car wheels.

Is it a friction device?

Yes, of course. It is fixed between the flywheel of the engine and
the gearbox and usually consists of two discs.

What discs?

The friction disc (driven disc) and the pressure disc.

I suppose the principle of operation of clutches is a frictional
force between discs. Am I right?

Yes, you are. When the clutch is fully engaged the frictional force
makes discs rotate at the same speed.

And by what is the clutch controlled?

By the clutch pedal. When it is at rest the clutch is engaged and
when it is pressed down the clutch is disengaged and the engine
is disconnected from the car wheels.

Thank you. And what types of clutches do you know?

Positive clutches and gradual engagement clutches.

Thank you very much for your information.

Not at all. Glad to help you.

Vipaxnenue 8. Haiioume 6 duanoece anaautickue 3xeu8anreHmyl cAe0yOUUM
PYCCKUM MEPMUHAM U 6bINUUUME UX.

DyHKIMS CUETUICHUS, U OTKJIIOYEHUS ABUTATeNs OT KOPOOKU
repenay, KpernuTcsi MeXITy MaXOBUKOM M KOpOOKOii nepenay, hbpu-
KUMOHHBIN (BEIOMBIN) TUCK, HAXXUMHOW TUCK, DPUKIIMOHHAS CUJIA,
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CHCIVICHUE BKIIIOYCHO, I€OaJlb B UICXOOHOM ITOJIOKCHHH, NEaalb
CLCIUICHUS HaXarta.

Ynpaxunenne 9. 3anuwume na ayouoxaccemy penauxu cobecednuxa A u
nosmopsiime 6 nay3ax penauku cobecednuxa B.

VYnpaxuenne 10. 3anuwume na ayouoxaccemy penauxu cobecednuxa B u
noemopsiime 6 nay3ax penauku cobecednuxa A.

Vnpaxunenne 11. Pasvizpaiime duanoe ¢ nape.

- B0 Vnpaxkuenne 12. ITodb6epume u3 npaeoii K0AOHKU PYCCKUe IKBUBANCHMbL
AH2AUGCKUM CA08AM U3 160U KONOHKU U npoéepbme cebs no Karouy.

1. a friction device 1. 3aBecTH aBTOMOOWIb
2. gearbox 2. (PpUKIITMOHHBIN AUCK
3. tostart the car 3. MaxoBHMK
4. to release the engine 4. U3HOCOCTOMKHIT MaTepHal
5. is fixed 5. paboTaTh BXOJIOCTYIO
6. flywheel 6. coemMHSTBCS
7. the friction disc 7. cwia TpeHUs
8. the pressure disc 8. pa3penuHSATHCS
9. hard-wearing material 9. (PUKIIMOHHOE YCTPOMCTBO
10. frictional force 10. HaxXOmHUTHCS B IIOKOE
11. the clutch pedal 11. 3akperuieH
12. to be engaged 12. memaapb CUETUICHUS
13. to be at rest 13. HaxaTp Ha negajib
14. to be disengaged 14. OTCOEMUHUTH TBUTATE]TH
15. to press down on the pedal 15. HaxXMMHOM ITHCK
16. to run idly 16. KopoOka nepenay

Vnpaxunenue 13. 3axonuume npedrosxcenus, ucnoav3ys Heobxooumvle c108a
UNU CA0BOCOYEMAHUS, OAHHbIE HUMCe.

What three functions does the clutch ... ?

It is used for ... .

Where isit ... ?

It is ... between the flywheel of the engine and the ... .
By what is the clutch ... ?

Itis...bythe....

What takes place when the pedal is ...?

PRI E>
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And when the driver pushes down on the pedal?

B.: The clutch is ... .
A.:
B.: The clutchis ... .

freeing the engine from the gearbox, serve, fixed, gearbox, controlled,
starting the car, freeing the engine from the car wheels, pedal, at rest, en-
gaged, disengaged, do, located.

Lo VYnpaxuenue 14. [lepesedume na anenuiickuii a3vik credyrousue npedIo#CceHUs.

1.
2.
3.

CueruieHue — 3T0 QPUKIMOHHOE YCTPOMCTRBO.

CleIUleHre COeTUHSET ABUTATENIb U KOPOOKY Iepenay.
CueruieHre pacrojioXeHO MEXIy MaXOBHMKOM JBUTATENS U
KOpOOKOit mepenay.

. Kak IpaBHJIO, CHCTUICHUE COCTOUT U3 IBYX NMCKOB. BEIOMOTI'O

U HAXKXHUMHOTrO.
CueruteHue YHIpaBIA€TCA NEAAIBIO CHCIUICHUS.

. Korma negains crieruieHus: HAXOIUTCS B ITOKO€, TUCKH CLICTLIC-

HMSI COeMHEHBI ¥ paboTaloIUii TBUTATEb COEMUHEH C KO-
pOOKOIA Tepeiad ¥ KOJIECaMHU.

. Korma Bogutenp HaXuMaeT Ha MeJaib CLUETUIEHHUS, TUCKU

OTXOJAT, CLIETUIEHUE OTCOEAUHSATCS M JBUTaTeNlb paboTaeT
BXOJIOCTYIO.

CJIOBAPb YPOKA

be at rest — ObITb B UCXOJHOM TIOJIOXE-
HMM (B [IOKOE)

car wheels — xoneca aBroMmoGwIs

clutch — cuennexnue

clutch pedal — nexans cuereHus

connect — COEJUHATH

control — ynpaBisTh

disconnect — OTCOEIUHATD

disengage — oTK/II0YaTh

engage — BKJIIOYaTh

fix — GUKCHUPOBATh, YCTAHABIMBATh

flywheel — MmaxoBuK

friction plate (disc) — GpHKIIMOHHBIN
(BemoMbIit) IMCK (CLEIUIEHUS)

frictional force — cuia TpeHust

gear — IIECTEPHS; iepeaya

gearbox — kopoOka nepenay

hard-wearing material — u3HococTo#i-
KM MaTepuai

press down the pedal — HaxumaTp Ha
nexatb

pressure plate (disc) — HaXXHUMHOM AUCK
(cueruieHus1)

principle of operation — npuHIMT AEii-
CTBUS

release — oTITyCKaTh

run idly — paGoTtaTth BXOJIOCTYIO

running engine — pabGoTalolui BU-
raTeib
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Text: Gearbox
Dialogue

IIpearexcToBbie yIpaXKHEHHs
Exercises to be done before reading the text

ana)lmel-me 1. Hpoumume ca06a U cnoeocoyemarusn u nocmapaﬁmecta

3anOMHUMb UX pyCcCKue 3K8uUesaNeHmbl.

gear — ILIECTEpHS, lepeaya

gearbox — KopoOka nepenay

gearing — 3y6yaroe coeuHEHUE

road conditions — 1OpOXHbBIE YCIOBUS

forward speed — repeiHsIsi CKOPOCTh

reverse drive — oOpaTHbIi1 (3aIHUI) X0/

low gear — nepBas nepeaaya

top gear — yerBepTas (MpsiMasi) nepe-
Jaya

sliding-mesh gearbox — kopo6ka nepe-
Jlay Co CKOJIb3SILIMMH LIECTEPHSIMHU

constant-mesh gearbox — kopo6ka
nepenay C MOCTOSIHHBIM  3alleruie-
HHMEM LIECTEPEH

epicyclic (planetary) gearbox — snuuu-
KInJeckKas (TUiaHeTapHasi) Kopooka
nepenay

ordinary gearing — cTaHgapTHOe 3y0-
4YaToe COeNUHEHHE

characteristic feature — xapakrepHas
0COOEHHOCTh

fixed axes — 3aduKcupoBaHHbIE (He-
MOJBWXHBIE) OCH

rotate bodyly — Bpaiatbcst KOprycom

axis — ocb

axle — BaJ

secure — 00€eCIIEYUTh

shifting — nepexioueHue

in direct line — coocHo

VYnpaxuenne 2. [Ipoumume u nepeeedume Ha pyccKuii A3vlk UHMepHa-

YUOHANbHbIE Cro8a.

Principal, function, construction, constructional, class, classify,
type, planet, planetary, history, historical.

Vnpaxuenue 3*. [lepegedume croga, obpawas enumanue Ha cypuxce.

Move — movement, construct — construction — constructional,
arrange — arrangement, history — historical — historically, wide — widely,
vary — various, simple — simply, body — bodily.
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IIpoumume mexcm, a 3amem vinonHume caedyroujue 3a HUM YNPaNCHEeHUs.
TEXT

Gearbox

The gearbox is placed between the clutch and the propeller shaft.
The principal function of the gearbox is to vary the speed of the car
movement to meet the road conditions. The gearbox provides four for-
ward speeds and one reverse, as follows:

1. First or low gear;

2. Second gear;

3. Third gear;

4. Fourth or top gear;

5. Reverse gear.

There are many constructional arrangements of gearboxes, which
can be classified as follows:

1. Sliding-mesh type;

2. Constant-mesh type;

3. Epicyclic (planetary) type.

The sliding-mesh type is the simplest one and is the oldest histori-
cally. The constant-mesh type is the most widely used type. They are
termed “ordinary” gearing, the characteristic feature of which is that
the axes of the various gears are fixed axes. The gears simply rotate
about their own axes.

The characteristic feature of epicyclic (planetary) gearing is that
one gear rotates about its own axis and also rotates bodily about some
other axis.

To secure the several speeds of the car the clutch shaft is mounted
in direct line with the gearbox shaft. The gearbox shaft carries on it the
sliding gears which are used for shifting to secure the forward speeds
and the reverse drive.

ITocnerekcToBbie yNpaXkKHEeHUs
The exercises to be done after reading the text

VYnpaxuenue 4. Haiidume 6 mekcme omaeemul Ha 80npPOChL.

1. Where is the gearbox situated?
2. What is the function of the gearbox?
3. What speeds does the gearbox provide?
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4.
5.

What types of gearboxes do you know?
Why is the clutch shaft mouned in direct line with the gearbox
shaft?

Do Vnpaxneuue 5. [Tod6epume u3 npaeoii KOAOHKU coomeéemcmeyioujue
OKOHYAHUSA NPeONodCeHUl U3 1e60U KONOHKU.

1. The principal function of the 1. sliding-mesh type, constant-

gearbox is ... . ‘ mesh type and planetary
type.
2. The gearbox provides ... . 2. the simplest one and histori-
cally oldest.
3. Gearbox canbe ... . 3. to vary the speed of the car.

4. The sliding-mesh gearbox is 4. four forward speeds and one

Teverse.

5. The constant-mesh gearbox 5. the most widely used.

1S... .

Lo VYupaxuenue 6. /lepesedume npednoxcenus Ha anaaulickui A3viK.

1.

2.

Kopobka nepenay npegHasHayeHa JJisi UK3MEHEHHUSI CKOPOCTH
JBUXEHHUS] aBTOMOOWIA.

Kopobka nepenay odbecrieunBaeT Ye€ThIpe NepeIHue CKOPOCTH
M 3aJHUM XO[.

Kopo0Oxu nepenay MOryT OBITh: CO CKOJIB3SIIIIMMM IIECTEPHSI -
MM, C IOCTOSTHHBIM 3alIeIUICHUEM LIIECTEPEH U IUIAaHETAPHOTO
TUIA.

. CaMbiMu NMPOCTBIMU ABJIAIOTCA KOpOGKI/I nepenady co CKOJib-

3AIIMMHU IIECTCPHAMM.

. KOpOGKPl nepenay ¢ NMOCToOAHHBIM 3alICTUICHUEM LIECTCPCH

HCIOJIb3YIOTCA HauOoJiee 4acro.

. Ckonp3siue IECTCPHU Ha Baly KOpO6KPI nepenay mc-

MOJIB3YyIOTCA AJisi obecredeHUusI epeJHUX CKOPOCTed U
0o0paTHOro Xoxa.

VYnpaxuenue 7. [lepesedume merxcm, noav3ysach cA108apem.

Gearboxes are assembled and disassembled on special stands us-
ing special mechanisms. In case of trouble in change-speed gearbox it
can be repaired only in the workshop. But in order not to get into trou-
ble you should do the followings steps:

a) check the oil level in the gearbox casing;

b) wash the breather channel,
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¢) change the oil in accordance with the lubrication schedule;
d) wash the gearbox with a thin mineral oil;
) drain the used oil through the drain hole.

Vnpaxuenne 8. [Ipoumume duanoe u passiepaiime e20 6 napax.

DIALOGUE

Mike:

Peter, do you remember what our teacher told us last time?

What do you know about gearboxes?

Peter: I know that the gearbox is used to change the speed of the car.

M.: And how many speeds does the gearbox provide?

P.: It can provide four forward speeds and one reverse.

M.: Into what types are the gearboxes divided according to their
arrangements?

P.: They are divided into sliding-mesh type, constant-mesh type
and epicyclic type.

M.: What type is the simplest?

P.: The sliding-mesh one.

M.: Thank you very much for you help.

P. You are welcome. Glad to help you.

CJIOBAPH YPOKA

assemble — cobupath gearbox casing — kapTep KOpoOKu Ie-

axis — ochb penay

axle — Ban gearing — 3y0yaToe coeIUHEHUE

breather channel — kaHan camyHa

constant-mesh gearbox — kopo6ka mne-
penay ¢ MOCTOSTHHBIM 3aLleTUIEHHEM
LIECTEPEH

disassemble — pa36upats

drain hole — cMBHOe oTBepcTHE

epicyclic (planetary) gearbox — sruim-
Kinyeckas (fiaHeTapHasi) Kopobka
nepenay

forward speed — nepeHssi CKOPOCTb

gearbox — kopobka nepenay

get into trouble — nomacrs B 6exy

lubrication — cma3ka

oil level — ypoBeHb Macna

repair — peMOHTHPOBaTh

repairing shop (workshop) — peMoHTHas
MacTepckast

reverse drive — 3alHUIA X0

shifting — nepexmoyeHue

sliding-mesh gearbox — xopo0ka nepe-
J1a4 CO CKOJIB3SIIIMMHU IIECTEPHSIMU

stand — cTeHn

thin oil — ierkoe ()xuakoe) Macio
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Text: Brakes
Dialogue

IIpearekcToBbie yHpaxxHeHHs
Exercises to be done before reading the text

VYupaxuaenue 1. [Ipoumume caroea u caroéocouwemanus u nocmapaiimecs
3ANOMHUMb UX PYCCKUEe IKGUBANEHMbI.

brakes — Topmo3a force the fluid — momaBaTh XUIKOCTD

performance — pa6ora under pressure — 1oJ JaBJICHUEM

safety — 6e3onacHOCTb brakes are applied — Topmo3a cpaba-

depend — 3aBuUCETh TBIBAIOT

slow — 3aMeUIATH braking effort — ropMo3Hoe ycuine

divide — pa3nensTh push down on the brake pedal — HaxaTp

namely — uMeHHO Ha TOPMO3HYIO Neaajib

drum brakes — 6apabaHHbIE TOpMO3a band brake — 1eHTOYHBIN TOPMO3

disk brakes — nuckoBbie TOPMO3a shoe brake — Konono4HbBIN TOPMO3

hydraulic assisted brakes — TopMo3a ¢ brake shoes — konoaku TopmMo3a
TMIPaBINYECKUM IMPUBOJOM brake fluid — TopMO3Hast XXUAKOCTH

brake pedal — Topmo3Has nenanb master cylinder — riiaBHbI LMJIUHID

VYnpaxunenue 2. [Ipoumume u nepegedume unmepHAyUOHANbHBIE CA08A.
Mechanism, passenger, type, hydraulic, cylinder, vacuum, func-
tion, classify, classification, mechanical, electric, electromagnet.
Ynpaxunenue 3*. [lepesedume croea, obpawsas enumarue Ha cy@urcol.
Safe — safety; to improve — improvement; to move — movement;
to drive — driver; to apply — application; to attach — attachment; to
arrange — arrangement; to perform — performance; name — namely;
to operate — operation; to equip — equipment.
IIpoumume mexcm, a 3amem 6binoaHUME CACOYIOUUE 3G HUM YRPAHCHEHUA.
TEXT
Brakes

Brakes are used to slow or stop the car where it is necessary. It is
one of the most important mechanisms of the car as upon its proper
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performance the safety of passengers depends. Car brakes can be di-
vided into two types, namely: drum brakes and disc brakes. The drum
type may be either a band brake or a shoe brake. Depending on their
functions, the automobile has foot brakes and hand brakes (parking
brakes). According to their mode of operation, the brakes are classi-
fied as: mechanical brakes, hydraulic brakes, air brakes, electric brakes.
Brakes are controlled by the brake pedal.

Most braking systems in use today are hydraulic. This system con-
sists of a master cylinder mounted on the car frame and wheel cylin-
ders. When the driver pushes down on the brake pedal, it forces the
piston to move in the master cylinder and brake fluid is delivered from
it to the wheel cylinders. The piston movement causes brake shoes to
move and the brakes are applied (the brake shoes are pressed against
the brake drums).

The air brake uses compressed air to apply the braking force to the
brake shoes.

Electric brakes use electromagnets to provide the braking effort
against the brake shoes.

Formerly brakes were applied only to the two rear wheels, but now
all cars are equipped with all-wheels brakes. Today many improvements
are being made in brakes.

brake shoe wheel

Puc. 3. Brake System
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ITocerekcToBbIE YNPAKHEHHSA
The exercises to be done after reading the text

Vnpaxunenue 4. Haiidume 6 mexcme aneautickue 3K6U8areHmbl CAeQyIOULUX
DYCCKUX MePMUHO8 U BbInUUUME UX.

Topmo3sa, 6e30MacHOCTb MACCAXXUPOB 3aBUCHUT OT NPaBUILHOM
paboThl TOPMO30B, OapabaHHBIE TOPMO3a, JUCKOBBIE TOPMO3a,
TOpPMO3a C YCUJIMTENEM, TUAPABJINYECKUH MPUBOJ TOPMO3OB,
XMAKOCTb MOJ AaBJIeHHEeM, TOPMO3a CpabaThIBalOT, TOPMO3HOE
YCWIXE, HaXaTh Ha TOPMO3HYIO MeJallb.

VYnpaxuenue 5. Haiidume ¢ mexcme omeembui Ha caedylousue 80npocyL:

1. What is the function of the brakes?

2. What types are brakes divided into?

3. What brakes do you know according to their mode of opera-
tion?

4. What braking systems are used today?

5. By what are brakes controlled?

6. When are brakes applied?

Lo Vopaxuenune 6. Bonuwume u3z npagoii KOAOHKU pYcCKue cA06a U
€/1080CO4EeMaHUs, COOMEemcmeyIoujlie AH2AULCKUM U3 N1e60U KOAOHKU.

1. performance 1. 3aBUCETH OT
2. the safety of passengers 2. 6apabaHHBIE TOPMO3a
3. to depend upon 3. TopMo3a cpabaThIBAIOT
4. namely 4. TOpMO3a C THUIPaBINIECKUM
5. drum brakes MPUBOIOM
6. disc brakes 5. pabora (aeiicTBUE)
7. brakes are applied 6. UMEHHO
8. hydraulic assisted brakes 7. TOpMO3a C YCWIUTETIEM
9. power assisted brakes 8. mon maBieHHEM
10. to press down on the brake | 9. HaxaTb Ha TOPMO3HYIO II€-
pedal b
11. under pressure 10. nucKOBBIE TOPMO3a
11. 6e30macHOCTh MacCaxXupoB
Vnpaxuenune 7. I[lodbepume u3 npaeoii KONOHKU COOMEemMCcmeyuee
OKOHYAHUe 0151 NPeON0NCeHUl U3 Ne60U KONOHKU.
1. Brakes are used for ... 1. disc brakes and drum brakes.
2. Brakes are one of ... 2. the driver pushes down on the
pedal.
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3. Brakes may be of 2 types: ... 3. the brake pedal.
4. Brakes are applied by ... 4. stopping the car.
5. Brakes are applied when ... 5. the most important mecha-

nisms of the car.

00 Vnpaxuenue 8. [lepesedume credyroujue npedsoONCEHUA HA AH2AUTCK UL A3bIK.

1.

2.

TopMo3a ABJISAIOTCS Hanbojiee BaXXHBIM MEXaHM3MOM aBTO-
MOOWJISL.

OHM UCHOJB3YIOTCS NI 3aMeUICHUS IBDKCHMS WIN OCTa-
HOBKM aBTOMOOMISL.

TopMo3a MOXHO pa3e/INTh Ha iBa TUIIa, a UMEHHO: 6apabaH-
HbIE TOPMO3a U AMCKOBBIE TOPMO3a.

Ha 6osiblIMHCTBE aBTOMOOMJIEH MCIIOIb3YeTCsl TUAPABIN-
YEeCKMI MPUBO/I WJIM THEBMaTUHYECKUA TIPUBO/I.

. TopMmo3a cpabaTeiBalOT, KOrga BOAUTENb HaXMMaeT Ha

TOPMO3HYIO II€OalIb.

Vinpaxuenue 9. [Ipoumume duanoe, a 3amem vinonnume caedyioujue 3a HUM
YNPasCHEeHU.

Alex:
Boris:
A.:

B.:

A
B.:

B.:

A
B.:

DIALOGUE

Why are brakes used?

They are used to stop or to slow the car.

Well, it is one of the most important mechanisms of the car,
isn’t it?

Of course, the safety of the passengers depends upon their proper
performance.

What types of brakes are used today?

Drum brakes, disk brakes and others.

And in what way are they applied?

They are applied by the brake pedal. When the driver pushes
down on the pedal they are applied.

Thank you. It was very nice of you to tell me this information.
Don’t mention it. I was glad to serve you.

Ynpaxuenne 10. 3anuwume na ayouokaccemy penauku Anexca u nosmopsiime
6 nay3ax penauku bopuca.

VYpaxuenne 11. 3anuwume na ayouoxaccemy penauxu bopuca u noemopsii-
me 6 nay3ax penauku Anexca.
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Vnpaxuenne 12. Pacckaxcume Ha aHeaulickom sA3biKe, 0 yem udem peus 6

duanoee.

Vnpaxunenue 13. Haiidume a63aybi, 6 Komopsix udem peyv 0 CyenieHuu U o
mopmo3ax u 3anumume Ux 8 08e KOAOHKU.

AN

Two stories — in one

. Brakes are the most important mechanism of the car. They are

used to slow or stop the car where it is necessary.

. The clutch is a friction device. It connects the engine to the

wheels in the gearbox. It is used for freeing the engine from the
gearbox, for starting the car and for releasing the engine from
the car wheels.

. It is fixed between the flywheel of the engine and the gearbox.
. They are divided into 2 types, namely: drum brakes and disc

brakes.

. Most cars of today use hydraulic or power assisted brakes.
. They may be of 2 plates: friction disc and pressure disc. The

friction disc is situated between the flywheel and the pressure
disc.

Vnpaxuenue 14. [Tepegedume mexcm, noav3yacs crosapem.

Troubles in Braking System

The basic troubles of the braking system are as follows:

1.
2.

3.

poor braking action;

sticking brake shoes which would not return to the initial posi-
tion after a brake pedal is released;

non-uniform braking of the left and the right wheels on a com-
mon axle;

. leakage of brake fluid and air leakage in the hydraulic brake;
. poor air tightness of the pneumatic brake control.

What to do:

. Check the action of the foot and hand brakes and leak proofness

of the brake hoses connections, components of the hydraulic
and pneumatic controls of the brakes, as well as of the vacuum-
power system.

. Inspect the friction linings, wheel-brake springs, master and

wheel cylinders of the hydraulic brake and the air compressor
of the pneumatic brake using a test manometer to check it.
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Do Vmpaxknenue 15. [lepesedume npednoxcenus Ha aHeaulickuii A3biK.

1.

2.

Topmo3a UcoNb3yIOTCS A 3aMeJICHUS] ABUXEHUS WU
OCTaHOBKM aBTOMOOWJISL.

B 3aBHCHMOCTH OT MpUBOAa TOPMO3a KJIACCUPUIIUPYIOT Ha
MeXaHUYeCKHEe, TUIpPaBINYEeCKNE, THEBMaTUYECKUE U
3JIEKTPUYECKHE.

TopMo3a yrpaBJisiFoTCS TOPMO3HOM MENabIO.

TopMo3a cpabaThIBalOT, KOIIa BOAUTEIb HAXXMMAET Ha TOPMO3-
HYIO Teiaib (TOPMO3HBIE KOJIOAKHU IIPKMMAIOTCS K TOPMO3-
HbIM OapabaHam).

. B mHeBMaTmueckux TOPMO3ax i1 CO3JaHUsA TOPMO3HOI'O YCHU -

JIMSI MCITOJIB3YETCSI CKATBIM BO3MYX.

B aneKTpryecKuX TOpMO3ax ISl CO3MaHUsI TOPMO3HOTO yCH-
JISI UCITONb3YeTCsl JIEKTPOMATHUT.

B coBpeMEHHBIX aBTOMOOMIISIX MCIIONB3YIOTCS TOPMO3a C IPHU-
BOJIOM Ha BCe KoJieca.

CJIOBAPH YPOKA
air brakes — mHeBMaTyeckue Topmo3a  hand brake — pyuHoif TopMO3 (CTOSI-
band brake — IeHTOYHBII TOPMO3 HOYHBII)

brake drum — TopMo3Hoit 6apabaH

brake fluid — TopMO3Hast XUIKOCTb

brake pedal — Topmo3Has neaanb

brake shoe — TopMo3Hast Konoaka

brakes are applied — Topmo3a cpaba-
THIBAIOT

braking effort — TopMo3Hoe ycuiue

common axle — obuiast och

control — ynpasiieHue

disk brakes — n1cKoBbie TOpMO3a

drum brakes — 6apabaHHbIe TOPMO3a

electric brakes — snekTpuyeckue Top-
M03a

fluid — xuaKocTH

foot brake — HOXXHOI1 TOpMO3

force (cause) — 3acTaBisATh

hydraulic brakes — rugpaBiuyeckue
TOpMO3a

leakage — yreuka

left wheel — neBoe xoneco

master cylinder — rjaBHbBIM LWJIMHAD

mechanical brakes — MexaHudeckue
TOpMO3a

poor — IJI0XOi, C1abbIi

proofness — CTOIKOCTb

release — OTITyCKaTh, pa3beAUHSITD

right wheel — npaBoe komneco

sticking — 3aenaHue, npuiIMaHue

tightness — repMETUYHOCTD

troubles — HeMcCIipaBHOCTH

wheel cylinder — KoieCHBII TOPMO3HOM
UMIUHAPD
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Text: Steering System
Dialogue

IIpearekcToBbie yNpaXKHEHUS
The exercises to be done before reading the text

Vnpaxuenune 1. ITpoumume cro6a u ca06ocovemanus u nocmapaiimecs

3aNOMHUMb UX DYCCKUe 3K8UBA/NEeHMbl.

guide the car — ynpaBiasiTh aBTO-
MobuneM

means of turning — cpeICTBO NOBOPOTa

front wheels — nepenHue Koneca

steering wheel — pysieBoe koneco

steering column — pyneBasi KOJIOHKa

for this purpose — 151 31O LIEMU

pivot — 1m1apHUp

swing (swang, swung) — IOBOpaYM-
BaTh(cs1)

steering knuckle arm — pplyar noso-
POTHOTO KyJiaka

tie-rod — nornepeyHas TAra

in turn — B CBOIO OYepEND

pitman arm — pysieBas colKa

rack and pinion assembly — pyneBoit
MEXaHMU3M C peiKOi U LeCTepHel

ball joint — m1apoBo¥t IapHUP

leverage — pbIYaXHBIN MEXaHU3M

hose — 11U1aHT, pyKaB

steering gear assembly — pyieBoy
MEXaHU3M

rack and pinion type — peeyHo-1ue-
CTepeHYaThi TUII (PYJIEBOTO MeXa-
HU3Ma)

recirculating ball steering — pysnesoit
MEXaHH3M C LIapUKOBOM raifKou

worm and sector — 4epBsK U CEKTOP

injury — nospexzaeHue

steering box — KapTep pyJeBOro Mexa-
HHM3Ma

ana)lmelme 2. Hpoumume ca0ea u conocmagbme Ux ¢ pYyCCKUMU 3HAYEHUAMU.

column, spindle, system, hydraulic, pump, reservoir, popular, type,
effective, effectiveness, effectively, energy, function, to deform, defor-

mation.

VYupaxuenue 3*. [Tepeeedume croea, obpawas eHumanue Ha cypurce u

npeguicbol.

Rotate — rotation, apply — application, move — movement, de-
velop — development, drive — driver, form — reform — deform — de-

formation, guide — guidance.
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Hpoumume mexKcm, a 3amem ébthosiHume C/leayiomue 3Q HUM YNpAaxCHeHus.
TEXT
Steering System

To guide the car, it is necessary to have some means of turning the
front wheels so that the car can be pointed in the direction the driver
wants to go. The steering wheel in front of the driver is linked by gears
and levers to the front wheels for this purpose. The front wheels are on
pivots so they can be swung to the left or right. They are attached by
steering knuckle arms to the rods. The tie-rods are, in turn, attached
to the pitman arm.

When the steering wheel is turned, gearing in the steering gear as-
sembly causes the pitman arm to turn to the left or right. This move-
ment is carried by the tie-rods to the steering knucle arms, and wheels,
causing them to turn to the left or right.

Puc. 4. Steering System
. steering wheel — pyneBoe Kosieco
. steering column, steering mast — pyjieBasi KOJIOHKa
. steering gear — pyJieBOi MeXaHU3M
. steering arm, steering lever, (steering) pitman arm — pysieBasi COIlIKa
. steering knuckle — noBopoTHas Larna, TOBOPOTHBIN KYyJIaK
. steering knuckle lever, steering knuckle arm — psryar HoOBOpOTHOTO KyJjlaka
. single tie-rod — Hepa3pe3Has MornepeyHas pyJjieBas Tsra
. steering knuckle lever, steering knuckle arm — peryar moBOpoTHOro Kyjiaka
. drag link, steering gear connecting rod, steering drag rod — npoznosnbHas pyyieBast
TsATa

O 00 O\ AW

The steering system incorporates: the steering wheel and column,
steering gear, pitman arm, steering knuckle arm, front axle, steering
knuckle pivot, tie-rods.

There are several different manual steering gears in current use,
such as the rack and pinion type and the recirculating ball type. The



58 Part |

rack and pinion steering gear is widely used. Another manual steering
gear which is popular in imported cars is the worm and sector type.

The steering wheel and column are the source of injury to the driver,
air bags and other devices being developed now to safe the life of a driver.

Energy-absorbing columns must stop the steering wheel and col-
umn from being pushed to the rear as the front of the car is crushed in
an impact.

Energy-absorbing columns must also provide the driver with a
tolerable impact as he moves forward and strikes the wheel with his chest.

IToceTeKkcTOBbBIE YIIPAKHEHHS
The exercises to be done after reading the text

VYupaxuenue 4. Haiioume 6 mekcme omeemb. Ha 60NPOCHL.

. What mechanism is necessary to guide the car?

. How is the steering wheel connected to the front wheels?

. Why can the front wheels be swung to the left or to the right?
. What does the manual steering system incorporate?

. What types of manual steering gears in use do you know?

DA WN —

Ynpaxuenue 5*. [lepesedume na pycckuii a3vik, o0pawas ocoboe HUMaKue
Ha 2epyHOul.

1. To guide the car it is necessary to have some means of turning
the front wheels.

2. The steering wheel in front of the driver is linked by gears and
levers to the front wheels for turning the car in the direction the
driver wants to go.

3. Without using the steering system the car moves only in the
direct position.

4. Manufacturers can use rack and pinion type steering gear with-
out choosing another type because “rack and pinion” type steer-
ing is very dependable.

5. Energy-absorbing columns must stop the steering wheel from
being pushed to the rear when the front of the car is damaged
in an impact.

anaxmemie 6. Hepeeedume meKcm, He noab3ysAChb croeapem.

To turn the car you must have some means of turning the front
wheels. For this purpose the steering wheel and steering column are
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linked to the front wheels. The front wheels are on pivots and can be
swung to the left or to the right.

When the driver turns the steering wheel and column the front
wheels (being on pivots) attached by the steering knuckle arms to the
tie-rods are also turned.

Yupaxuenne 7. [lepesedume mekcm, noav3ysaco cA08apem.
Troubles of Steering Gear Components

Steering gear and linkage may have the following basic troubles:
excessive steering-wheel free play, bending of steering rod, oil leakage
from the steering-gear case, disadjustment of steering gear.

What to do

1. Check the steering-wheel free play and steering gear perform-
ance while the car is running.

2. Check the steering-gear case for oil leakage by visual inspec-
tion.

3. Adjust the steering gear. Steering gear of the worm and roller
type is adjusted by end playing in the steering worm shaft bear-
ings.

Lo Vmpaxuenune 8. 3akonHuume npednoxcenus, evibpas coomeemcmaeyouee
OKOHYAHUEe U3 NPaeol KOAOHKU

1 The front wheels are on piv- | 1. by the tie-rods.
ots so... 2. rack and pinion type, recir-
2. When the steering wheel is culating ball type, warm and
turned... sector type.
3. The steering wheelis linked... | 3. gearing in the steering system
4. Most manufacturers use... causes the pitman arm to turn.
5. Steering gear may be... 4. rack and pinion type.
6. Steering knuckle arms and | 5. they can be swung to the left
wheels are turned... or right.
6. by gears and levers to the front
wheels.

L0 Vupaxuenue 9. ITepesedume npedroHceHUs Ha AH2AUUCKUL A3bIK.

1. Ing ynpaBiaeHUss aBTOMOOUJIeM HEeoOXoauMa CUCTEMaA py-
JIEBOTO YIIpaBJICHHUS.

2. PyneBoe ynpaBieHue BKIIOYAET B Ce0si: PyJIEeBOE KOJIECO U
PYJIEBYIO KOJIOHKY, 3y0YaToe COeOIMHEHUE, PYJIECBYIO COIIKY,
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pbIYarv ImoBOPOTHOrO KyJjiaka U IIapHUPHBIC COCANHCHMSA,
pblyarv ¥ norcpeYHbIC TATH.

. CyuleCTB}’IOT Pa3JIMYHBIC TUIIBI PYJICBBIX MCXaHU3MOB, a

MMEHHO: pEEYHO-LIECTEPEHYATBII TUII, MEXaHU3M C IIAPOBOMA
rakom, MeEXaHU3M C YEPBSIKOM U CEKTOPOM.

Korna Bomures b MOBOpaYMBaeT pyJib BJIEBO WIM BIIPAaBO, TO
pPYJEBO MEXaHM3M 3aCTaBJIsSIET PYJIEBYIO COIIKY IMOBOpa-
YUBATHCS BJIEBO WU BIIPABO.

. DTO ABMXEHUE nepenacTcA NoNnEpeYHbIMU TATAaMU K pblYaramM

IIOBOPOTHBIX KYJIAKOB M K KOJIECaM, 3aCTaBJIsIsA KX IIOBOpA4Yr -
BaTbCs BJICBO WJIH BIIPABO.

Vnpaxuenue 10. [TIpoumume duanoe, a 3amem vinosnume caedyioujue 3a HUM

YNPAdNCHEHUS.
DIALOGUE

Stas: Look here. I have some troubles with the steering system.

Viad: What troubles?

S.: The first is excessive free play of the steering wheel.

V.: You should check free play of the steering wheel and steering
gear performance.

S.: The second problem is oil leakage from the steering gear case.

V.: Check the steering gear case for oil leakage visually. Anything
else?

S.: Sure. It is disadjustment of the steering gear. And I don’t know
what to do.

\ & You see, in this case it is better for you to go to a repairing shop.
Good specialists should do this job.

S.: Thank you very much.

V.. Not at all.

Notes: look here — nocaywaii;

troubles — reucnpasnocmu, nenonraoku;
excessive free play — upesamepruiii c60600HbLI X00,
check — nposepsimo;

performance — paboma, xapakmepucmuku,
steering gear case — kapmep Kopobku nepedau,
anything else — umo ewe;

in this case — 6 smom cayuae.

Ynpaxuenue 11. 3anuwume na ayduoxaccemy penauxu Brada u noemopsiime
6 naysax penauku Cmaca.
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VYnpaxuenue 12. 3anuwume na ayouoxaccemy penauku Cmaca u nosmopsiime

6 nay3ax penauku Brada.

Ynpaxnenue 13. Pasviepaiime duanoe ¢ nape.

CJIOBAPb YPOKA

absorb — nmoryiouwaTe

air bag — noxyka 6e30nacHOCTH

bending — u3ru6

excessive — Ype3MepHBIi

for this purpose — 151 3TO# LEAN

guide the car — ynpaBisiTh aBTOMO-
onneM

hydraulic pump — ruapaBIMYECKHI
Hacoc

leakage — yreuka

lever — pbruar

leverage — ppIYaXXHBIN MEXaHU3M

linkage — coennHeHne

means of turning — cpeacTBo MOBO-
poTta

pitman arm — pyJneBasi colka

pitman shaft — pyneBoii Ba

pivot — 1miapHUp

rack and pinion assembly — peeyHo-
LIeCTePEHYaThIi MEXaHU3M

rack and pinion type steering gear — py-
JIEBOMA MEXaHHU3M C PEHKOM U 1ue-
CTepHel

recirculating ball type steering gear — py-
JIEBO MeXaHU3M C IIapUKOBOM
ramkomn

steering box — xapTep py/ieBoro Mexa-
HU3Ma

steering column — pyJsieBasi KOJJOHKa

steering knuckle arm — peryar noBopot-
HOTO KyJlaka

steering wheel — pysieBoe Kojeco

swing (swang, swung) — MoBOpayu-
BaTbCsl

tie-rod — nonepeyHad TsAra

worm and sector type — pyJieBoil Mexa-
HH3M C YEPBSIKOM U CEKTOPOM
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Text: Using Computer
Dialogue

IIpearekcToBble ynpaxHeHUs
The exercises to be done before reading the text

Vupaxuenuue 1. [Ipoumume cro6a u croeéocouemanus u nocmapaimecs

3anOMHUmMb UX pyccKue 3Keueaienmeaol.

invent — n306peTaTh

a breaker point ignition — npepbiBUcTOE
3aXuraHue

advanced — ycoBepII€HCTBOBaHHbII

fire the spark plug — BocIIaMeHsTh
CBEUOii 3aXHUTraHuUs

meet emission control levels — oTBeyats
TpeOOBaHUSM IO OTPAHUYECHHIO
YPOBHSI BPEIHBIX KOMIIOHEHTOB B
BBIXJIOTTHBIX ra3ax

gas mileage — npoGer B MWISIX Ha raji-
JIOH TOIUIMBA

smooth operation — ruiaBHasi paborta

provide — obecrieuuTh

onboard computer system — 60pTOBOI1
KOMITBIOTED

hardware — anmapaTHasi 4acTb KOM-
MbIOTEepa

software — nporpaMMHoe oGecrieueHre

CPU — Central Processing Unit — 11eH-
TpaJIbHBIX IIPOLIECCOP

integrated circuit — uHTerpanbHas
cxeMa

semiconductor — IMoOJIynmpoOBOAHUK

silicon — kpeMHMit

until — moka He

specific sequence — cnierMaibHas Mo-
CJIeN0BATEIbHOCTh

permanent memory — IOCTOsIHHas
MaMsTh

ROM - read only memory — nocTosi-
Hasl MaMsTh, MIOCTOSTHHOE 3allOMM-
Haroulee ycTpoictso, [13Y

RAM - random access memory — orie-
paTHBHasl MaMsTb, ONIEPAaTUBHOE
3aroMMHalolee ycrpoictso, O3V

PROM - programmable read only
memory — IporpaMMHpyeMoe To-
CTOSTHHOE 3allOMUHAIOLIEe YCTPOM-
ctBo, [1I3Y

trouble code — HerCIIpaBHBIN KO

expensive — JJOpOTOCTOSILINI

adaptive memory — afanTuBHas MaMsITh

ana)lmelme 2. Hpoumume c/068a u conocmaebme Ux ¢ pyCCKUMU 3HA4YEHUAMU.

transform, battery, voltage, regulation, system, computer, micro-
processor, transistor, diod, chip, material, electricity, magnetic, pro-
gram, defective, limit, compensate,variation, code.
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Ynpaxkuenue 3*. [lepesedume cnoea, obpawjas eHumanue Ha cyppuicel u
npeguice.

ignite — ignition, transform — transformation, regulate — regula-
tion, break — breaker, conduct — conductor, process — processor, specify
— specific, adapt — adapter — adaptive, expense — expensive, adjust —
adjustment, connect — disconnect, learn — relearn.

IIpoumume u nepesedume mekcm, a 3amem 8biNOAHUME CAeOyIOUiUe 3a HUM
YRPadsCHeHUs.

TEXT
Using Computer

Ever since the car was first invented, a breaker point ignition has
been used to transform battery voltage into 20,000 volts to fire the spark
plugs. With government intervention and regulation, more advanced
system was needed. This system had to meet emission control levels,
gas mileage, and provide a smooth and continuous operation. The
answer was found in an on-board computer system. The computer
mounted on modern cars has two components. One is the hardware
and the other is the software.

The computer hardware on an automobile uses a Central Process-
ing Unit (CPU), which, when made in an integrated circuit, is referred
to as a microprocessor. The integrated circuit (IC) combines transis-
tors, diodes, and capacitors, which are placed on a tiny chip of semi-
conductor material that is smaller and thinner that an eraser on a pen-
cil. The material used most of the time is silicon. Silicon, like any
semiconductor, does not conduct electricity until either voltage, a mag-
netic field, heat, or light is directed to the semiconductor. A program
instructs the microprocessor what to do.

The computer software on a car carries a program. The program
tells the computer what to do, and when to do it in a specific sequence.
The program is stored in a permanent memory, which is referred to as
Read Only Memory (ROM).The computer knows only what is placed
in its memory. There is another variation, which is called the Program-
mable Read Only Memory (PROM), which can be readily removed
and replaced, while the ROM cannot. This makes it less expensive if
the memory becomes defective. Only the PROM has to be replaced,
not the entire microprocessor.

The microprocessor contains a ROM (or PROM) and a RAM.
RAM stands for Randon Access Memory, which can be accessed with-
out going through a specific sequence. The technician interfaces with
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the RAM whenever trouble codes are accessed. Not all computerized
ignition systems have trouble codes, however. Some computers have
the ability to learn. This is referred to as an adaptive memory. When a
value falls outside of a specified limit, due to engine wear, the adaptive
memory makes a slight adjustment in the program to compensate. The
car must be driven from 20 to 30 miles, as it takes the computer this
long to learn. Any time that power is disconnected from the computer,
it will have to relearn everything.

ITocieTekcToBbIE YIPAKHEHUSA
The exercises to be done after reading the text

Vnpaxuenue 4. Haiioume 6 mexkme omeemui Ha 60npochL.

1. How many components has the computer on modern cars?
What are they?

. How do we call the computer hardware on the automobile?

. What does an integrated circuit combine?

What material is used in the integrated circuit? Why?

What does the computer software do?

Why is the computer used on board the car?

What does the program tell to the computer?

Where is the program stored?

What is ROM?

What is PROM?

What is RAM?

—OVXNILA LN

Pt

Do Vnpaxuenue 5. [Tepesedume na anaauiickuil A3viK.

1. MHorue coBpeMeHHbIE aBTOMOOWIN 000pYyIOBaHBI 60pPTO-
BBIMM KOMITBIOTEPHBIMU CUCTEMAMM JUIS1 JTy4lliei pabOThI aB-
TOMOOWJIAL.

2. TIporpamma Takoro KOMINbOTEpa UMEET TOJILKO JIBa 3aIIOMM -
HAaIOIIMX YCTPOICTBa: mocTtosiHHYIo nmamsith (I13Y) u onepa-
THBHYIO namsith (O3Y).

3. KomnrbloTepHas mporpaMma coo0111aeT KOMIbIOTEPY, YTO HAJIO
JieJlaTh ¥ KOTIa HEOOXOAMMO BBIIIOJIHUTH JAaHHOE JACHCTBUE B
COOTBETCTBYIOILIEH ITOC/IEI0OBATEILHOCTH.

4. IlporpamMma XpaHHUTCS B IIOCTOSTHHOM IMaMSATH KOMITBIOTEPA.

5. Mukporpolieccop COIepXuT B cebe MOCTOSHHYIO U oIepa-
TUBHYIO TIaMSTh.
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6. HekoTopble KOMIIBIOTEPH 00/1aJal0T CIOCOOHOCTHIO
3alIOMUHATh (3ay4MBaTh). DTO OTHOCHUTCS K aHallTUBHOM
MaMSsITH.

Vipaxuenue 6. ITpoumume duanoz, a 3amem 8vinoaHume caedyoujue 3a HUM
YNDaM#CHEeHUS.

DIALOGUE

Anton: What is the purpose of using computers on board the car?
Vlad: You see. As | know computer is used to advance the engine
operation as well as the performance of other units.

A.: What components does the on-board computer consist of?

\ A It consists of two components. One is the hardware and the
other is the software.

A.: What is hardware?

V. The computer hardware uses a Central Processing Unit (CPU)
which is referred to as a microprocessor.

A.: What is software?

V. The computer software on a car carries a program. The pro-
gram tells the computer what to do and when to do it.

A.: And where is the program stored?

V. It is stored in a permanent memory which is called Read Only
Memory (ROM).

A.: And what is Programmable Read Only Memory (PROM)?
What is the difference between ROM and PROM?

V. In case the memory becomes defective PROM can be readily
removed and replaced, while ROM cannot.

A.: And what is RAM?

V. RAM is Random Access Memory (main memory), which can
be accessed without going through a specific sequence. The
technician interfaces with RAM whenever trouble codes are
accessed.

A Thanks a lot for your explanation.

V. You are welcome. See you later.

A.: Goodbye.

Ynpaxuenue 7. 3anuwume Ha ayouokaccemy penauxu AHmora u nosmopsiime
6 naysax penauxu Braoa.

Vnpaxuenue 8. 3anuwume na ayouoxaccemy penauxu Brada u nosmopsiime
6 naysax penauxu AHmona.
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Ynpaxuenue 9. Pa3zviepaiime duanoe é nape.

CJIOBAPb YPOKA

access — 1. mocrynarhp 2. 10CTy1

adaptive memory — ajanTuBHas na-
MSITh

adjustment — peryiMpoBka

breaker — npepsiBaTesib

breaker point ignition — npepsiBUCTOE
3aXKHUTaHHUE

capacitor — KOHAEHCaTop

carry a program — BbINIOJIHSATh IIpO-
rpaMMy

defective — nedexTHHI, HEHCNIPaB-
HBIHA

due to — u3-3a, Gnaromapst

engine wear — U3HOC JIBUTaTeIA

eraser — JJACTUK

expensive — IOPOTrOCTOSIIIIUIA

fall — nagatb

fire the spark plug — BocriaMeHSTb
CBEYOM 3aXUTaHUs

gas mileage — npoGer B MIWISIX Ha raj-
JIOH TOIUTMBA

hardware — nporpaMMHasi 4acTb KOM-
nbloTepa

heat — Teruto

however — onHako

ignition — 3axuranue

integrated circuit — MHTErpajibHasi
cxeMa

invent — uzobperars

light — cBeT (¢apbr)

meet emission control levels — oTBeyaTs
TpeOOBaHUSAM IO OTPaHUYEHUIO
YPOBHSI BPEIHBIX KOMIIOHEHTOB B
BBIXJIOITHBIX ra3ax

on-board computer system — 60pTOBOI1
KOMIIBIOTED

permanent memory — IMOCTOSIHHasl
aMsTh

PROM — Programmable Read Only
Memory — mporpaMMHpyeMoe TIo-
CTOSTHHOE 3alIOMHMHAIOLIEe YCTPO-
ctBO, I1T13Y

RAM — Random Access Memory —
orepaTUBHasi MaMSThb, OTIEPAaTUBHOE
3anoMUHapIIee ycrpoicTro, O3Y

ROM - Read Only Memory —
TIOCTOSTHHAsI MIaMsATh, TIOCTOSTHHOE
3aloMMHalolIee ycTpoicTso, [13Y

semiconductor — 110JIylIpOBOIHUK

Sentral Processing Unit (SPU) — 1ieH-
TPaJIbHBIN TIPOLIECCOPHBII y3el

silicon — xkpeMHu#

since — c Tex nop

spark plugs — 3amanpHbIE CBEYH

specific sequence — onpeaeneHHas Ho-
CJIEIOBATENILHOCTD JACHCTBUIA

the ability to learn — cioco6HOCTb 3a-
TIOMMHATh (3ay4MBaTh)

tiny chip — ManeHbKMit YU

trouble codes — xobl, coobniaone o
HEHUCIIPaBHOCTHU
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ViipaxkHeHust JUIsi pa3BUTHS HABBIKOB YCTHO# peuH

Vnpaxuenue 1. Haiioume na puc. 5 mecmononoxcerue nepeuucieHHbix Huxce
Y3106 U 3anumume ux 6 mempaosv no0 0003HA4EHHbIM HOMEPOM. 3amem ebinuuiume
aHeAUlicKUe HA36AHUS IMUX Y3108.

JBurarens, cuerieHMe, KopobKa mepenayd, KapJaHHbIA BaJl,
3aIHUI MOCT, IJIaBHas1 nepenaya, quddepeHiman, peccopsl, Kojeca,
CHCTEMA PYJIEBOTO yIIpaBJIEHUs, TOPMO3a.

Engine, clutch, gearbox, propeller shaft, rear axle, final drive, dif-
ferential, springs, wheels, steering system, brakes.

VYnpaxuenue 2. [Ipoumume duanoe, a 3amem pbvi3biepaiime e20, UCHOAb3YS
puc. 5 6 kawecmeae onopei.

Teacher: Can you tell me English equivalents to: gBUraTesb, cuemie-
HUE, KOpoOKa nepenay, TopMo3a U pydyHoe yIpaBiieHue?

Student: Yes, I can. They are the engine, clutch, gearbox, brakes and
steering system.

T.: Do you know what main units the automobile consists of?

S.: Yes, I do. They are the chassis, the body and the engine.

T.: What is the source of power?

S.: The engine is. It makes the car wheels rotate and the car move.

T.: What unit of the car carries the power to the wheels?

S.: The transmission does.

T.: What mechanisms does the transmission consist of?

S.: It consists of the clutch, gearbox, propeller shaft, rear axle,
final drive and differential. It also includes brakes and steer-
ing system.

T.: And what is the clutch used for?

S.: It is used for disengaging the engine from the car wheels.

T.: What is the function of the brakes?

S.: They are necessary to slow or stop the car.

T.: And what about the steering system?

S.: It is used to turn the car in the direction the driver wants to
g0.

T.: That is right. You know the subject very well.
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Puc. 5.

Puc. 5. 1. dapa, cOokMpoBaHHAs C yKa3zaTeJleM MOBOPOTA; 2. paiuaTop
CHCTEMBI OXJIAXIEHUS; 3. aKKyMYJIITOpHast 6aTapest; 4. pacripeIenTeNb 3aKUraHusi;
5. BO3OYWIHBIA GWILTP; 6. ABUTaTeNib; 7. BAKYYMHBI YCHJINTENh C [JIaBHBIM
LMWIXHIPOM TUAPONPUBOAA TOPMO30B; 8. MIaBHBIM LUJIMHAD TMAPOIPUBOAA
BBIKJIIOYEHUS cLEIUIeHUsT; 9. pyjeBoe Koseco; 10. BHyTpeHHee 3epKajo 3aJHEro
Buaa; 11. 3aaHee cuaeHbe; 12. 3amacHoe Kosieco; 13. 3anHuit TopMo3; 14. ipyxuHa
3agHel nmoaBecky; 15. aMopTH3aTop 3aAHeil moaABeCcKHU; 16. 3aAHUIA MOCT;
17. xapnanHas nepenava; 18. nepeaHee cuueHbe; 19. HapyXHOe 3epKajio 3aXHETO
Buaa; 20. ppluar CTOSHOYHOIO TOpMO3a; 21. peryar nepekjaloyeHus rnepenay;
22. kopo6ka nepeaay; 23. nenajb TMAPONPUBOLA CLEIJIEHUs; 24. menanb
TMIPOTIPMBOA TOPMO30B; 25. Meanb akcejaepaTopa; 26. pyjIeBoil MeXaHHU3M;
27. nepenHuii TopMo3; 28. MpyxXHWHa MepeaHel MOIBECKM C aMOPTU3aTOPOM;
29. TorutMBHBIA Hacoc; 30. MachsiHbIN GUABTp.

Fig. 5. 1. cornering lamp; 2. cooling system radiator; 3. accumulator battery;
4. ignition distributor; 5. air filter; 6. engine; 7. vacuum-power with master cylinder
of hydraulic drive brakes; 8. master cylinder of hydraulic drive of clutch disengagement;
9. steering wheel; 10. inside (interior) mirror; 11. back seat; 12. spare wheel; 13. rear
wheel brakes; 14. rear suspension spring; 15. rear suspension shock absorber; 16. rear
axle; 17. cardan shaft; 18. front seat; 19. outside mirror; 20. parking brake lever; 21.gear
change lever; 22. gearbox; 23. clutch pedal; 24. brake pedal; 25. accelerator pedal;
26. steering mechanism; 27. front wheel brake; 28. front suspension spring with shock
absorber; 29. fuel pump; 30. oil filter.

Vnpaxunenue 3. 1105 Ha puc. 5 u ucnons3ysa noopucyHo4Hsie noonucu,
gbinuwiUmMe HA36AHUS A2Pe2amos, Y3108 U MEXaHU3M08 asmomMobua Ha pyccKom u
AH2AUTICKOM A3bIKAX.
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ana)xneﬂne 4. 3axonuume npedﬂowcenuﬂ, ucnoav3ysa caoea u caoeocove-

manus,

€.
f.

0T cLnhd W —

daHHble HUXce.

The automobile is made up of ...

The engine is ...

The chassis consists of ...

The transmission carries the power from ...
The transmission consists of ...

The body has ...

engine, chassis, body.

hood, fenders and accessories.

the engine to the wheels.

clutch, gearbox, propeller shaft, rear axle, final drive and dif-
ferential.

the source of power.

transmission and running gear (frame, wheeels and springs).

VYnpaxuenue 5. [Ipoumume mekcm, a 3amem, 21305 Ha puc. 5, omeembvbme Ha
80NPOCHL, NPUGEOCHHbIe HUNCE.

The automobile is made up of three basic parts: the engine, the
body and the chassis. The engine is the source of power and makes the
car move.

The chassis consists of the transmission and running gear (frame,
springs and wheels). The transmission carries the power from the en-
gine to the wheels. It consists of the clutch, gearbox, propeller shaft,
rear axle, final drive and differential. The transmission also includes
the steering system and brakes.

The body has the hood, fenders, the heater and so on.

._.
COXNIANR W~

11.
12.

. What main components is the automobile made up of?

What is the source of power?

. What units does the chassis include?

What duty is performed by the frame?

What does the transmission do?

What mechanisms does the transmission consist of?
What is the function of the steering system?

Why are brakes necessary?

What is the function of the clutch?

What is the function of the gearbox?

What types of gearboxes do you know?

What is the function of a differential?
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13. What purposes do brakes serve?
14. What parts has the body?
15. How is the car body attached to the frame?

Ynpaxunenune 6. Haiidume 6 mexcme 3k8ueaseHmeor caedyOuUx npeono-
HCeHU.

1. ABTOMOOWJIb COCTOMT M3 TPEX OCHOBHBIX YaCTeil: ABUTATENS,
IIaCCH ¥ Ky30Ba.

2. JIBurarejib — UICTOYHUK SHEPTUM.

3. Illaccu cocTOUT U3 TPAHCMUCCHUM U XOIOBOM YacTH.

4. TpaHCMHCCHUS TIEpEIaeT SHEPIUIO OT IBUTATENI K KoJiecam
aBTOMOOWJIS.

5. OHa cocTOUT U3 CLETUIEHNsI, KOPOOKHM repenad, KapaaHHOTo
BaJia, 3aIHETO MOCTa, IJIaBHOM nepeaaun u auddepeHinana.

6. Ky30B vMeeT KamnoT, KpbUIbs, OTOITUTEb U T. 1.

Vipaxxuenus 115 nepeBoa

Iepesedume na pycckuii a3vik Mukpomekcmul. Obpamume eHuManue Ha évide-
NleHHble zpammamuuecKue CmpyKmypoi.

Texcm No 1

The automobile is known to be made up of three basic parts: the
engine, the body and chassis, the engine being the source of power. We
know the body to include the hood and fenders and accessories. The
body should provide protection to the passengers from wind, cold and
rain. Thus to shape a car means to do it in such a way that it offers small
resistance to the air.

Brakes are necessary for stopping the car.

Most braking systems used today are hydraulic.

Texcm Ne 2

The engine is known to be attached to the frame in three or four
points. Noise and vibrations are inherent in engine operations. To pre-
vent this noise from passing to the frame, the engine should be insu-
lated from the frame by washers. We know the frame to provide support
for engine, body and power train, the body providing protection to the
passengers from wind and rain. The frame is made of channel sections
welded together.
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Texcm Ne 3

We know the clutch to consist of two plates: the driven plate and the
pressure plate. The driven plate is known to be situated between the fly-
wheel and the pressure plate. The clutch used for engagement the en-
gine and the gearbox is incorporated within the flywheel housing.

To guide the car it is necessary to have some means of turning the
car, the steering wheel being linked to the front wheels for this purpose.

Texcm No 4

The frame is known to be the structural centre of the car. It is made
of channel sections welded together, cross-members providing support
for the engine and wheels. We know the frame to be rigid. Noise and
vibrations are inherent in engine operation. To prevent this noise and
vibrations from passing to the frame and to the passengers of the car,
the engine should be insulated from the frame by rubber washers.

Texcm Ne 5

We know the chassis to be one of the most important units of the
car. The chassis is known to consist of a power train, a frame with axles,
wheels and springs. It should be noted that the chassis includes the brake
and the steering systems as well. Brakes are necessary to stop the car.
Springs are used with additional devices called shock absorbers. The
front wheels are attached to the rods by steering knuckle arms, the same
wheels being on pivots.

Texcm No 6

We know the power train to include the clutch, gearbox, propeller
shaft, rear axle, final drive and differential. The clutch is used for en-
gaging the engine with the gearbox, the gearbox being located between
the clutch and the propeller shaft. The clutch is known to consist of two
plates incorporated within the flywheel housing.

To shape the car means to make it in such manner that it offers
small resistance to the air.

Texcm No 7

We know the engine to be the source of power. In some types of
engines a V-type fan belt is utilized to drive the fan, the same belt being
used for driving the generator pulley and the water pump. The engine is
known to comprise the fuel, cooling, electric and lubricating systems.
It should be noted that the gasoline pump is operated from the cam-



72 Part Il

shaft by the engine, called also the power plant. To guide the car means
to turn it in one direction or the other.

Texcm No 8

Brakes are known to be one of the most important mechanisms of
the car. They are necessary for stopping the car. Most braking systems
used today are hydraulic, many vehicles using power brakes. We know
the brakes to be applied to four wheels.

In order to stop the car, the driver should press down on the pedal.
When the pedal is pressed down the brakes are applied and the car is
stopped.

Texcm No 9

In order to drive the car, the driver should have some means of
turning the front wheels. We know the steering wheel to be located at the
front of the driver. It is linked by gears and levers to the front wheels,
these wheels being on pivots. The front wheels are known to swing to the
left or right when the steering wheel is turned in one direction or the
other. The front wheels are attached to the rods, the rods are, in turn,
attached to the pitman arm.

Texcm Ne 10

We know the automobile to be made up of three basic parts: the
engine, the chassis and the body. The body should provide protection
to the passengers of the car. The chassis is known to consist of a power
train, frame with axles and wheels. The chassis includes the brake and
the steering systems, the brakes being the most important mechanism of
the car. To provide a satisfactory smooth ride, an additional device,
called a shock absorber, is used with each spring.

Texcm No 11

Brakes are known to be used for stopping the car. Most braking
systems used today are hydraulic, many vehicles having power brakes.
To stop the car, the driver should apply the brakes. We know the brakes
to have been applied to the front wheels. At present the brakes are ap-
plied to all four wheels. The brakes are controlled by a pedal. When the
driver presses down on the pedal the brakes are applied and the car is
stopped.
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Texcem No 12

The clutch is known to be the part of the power train. Besides the
clutch, the power train also includes the gearbox, propeller shaft, rear
axle, final drive, differential and axle shafts. The gearbox named trans-
mission is located between the clutch and the propeller shaft. We know
the clutch to consist of the driven plate and the pressure plate, the driven
plate having fabric linings on each side. To connect the engine with the
gearbox, the driver should engage the clutch.

Texem No 13

The frame in considered to be the structural centre of any vehicle,
as it should provide support for the engine, body and power train mem-
bers. The frame is made of sections welded together.

We know the frame to be reinforced by cross-members. To provide
support for the engine and wheels, the frame should be rigid and strong.
Noise and vibrations being inherent in engine operation, the engine is
insulated from the frame by rubber washers.

Texcm No 14

The automobile is known to consist of the engine, the body and the
chassis, the engine being the source of power. The body has a hood and
fenders and accessories: heater, lights and radio. It should provide pro-
tection to the passengers from wind and rain. The chassis is known to
include the power train, frame and wheels.

Streamlining is an important factor. To streamline a car means to
shape it in such a manner that it offers small resistance to the air.

Texcm Ne 15

We know the steering system to be one of the most important
mechanisms of the car. The steering system is known to consist of a
steering wheel, gears, tie-rod, pitman arm and other units. The steer-
ing wheel is attached to the front wheels by gears and levers, the front
wheels being on pivots. In order to turn the car in one direction or the
other, the driver should turn the steering wheel. The steering wheel con-
nected to the front wheels turns the car.
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MaTepHaJlbl JJIA AONOJTHUTEJILHOIO YTCHHUSA

Section 1

1. TIpoymume mexcm u naiidume omeemvi Ha BONPOCHI, NOMeUjeHHble neped
mekcmom.

2. Kpamko nepeckaxcume mekcm.

QUESTIONS

1. What Russian experts in mechanics must be remembered in
the history of automobile engineering?

. Who was the first Russian inventor of the automobile?

. What did Mamin designed?

. What did Blinov constructed?

S wN

TEXT

From the History of Russian Automobile Engineering

The automobile industry in our country has been developed since
1916. Before that time Russia had no automobile industry at all, tech-
nical schools had no departments to train specialists in automobile
engineering.

But in the history of the automobile such names as Shamshurenkov,
Blinov, Mamin and other Russian experts in mechanics must be re-
membered.

The first automobile built by Shamshurenkov, a Russian inventor,
was put into motion by the pedalling of the driver himself.

Blinov designed and constructed tractor driven by steam engine.
Mamin was one of the pioneers in Russian internal combustion en-
gines.

Today Russian automobiles are engineered and built in such a
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manner that they are able to withstand heavy loads for long periods of
operation.

The modern automobile is much more than a means of riding from
one place to another. The passenger’s safety and comfort must be con-
sidered as much as the car’s reliable performance and ability to travel
on the highways.

The modern automobile must have a steel body and a steel roof
and this roof must be insulated against the summer’s heat and winter’s
cold. Ventilation is also of great importance. The comfort and conven-
ience of the driver must be taken into consideration too. The automo-
bile must have a heater with special defrosting devices which insure
clear vision to the driver.

The automobile must have great power for riding, have depend-
able clutch and brakes, have good riding qualities, good lights, depend-
able starting and ignition systems, low fuel consumption, as well as long
service life.

Section 2

1. ITpoumume mexcm u o3azragvme e2o.

2. Kpamko uznoxcume codepxycaHue meKcma Ha pyCCKOM UAU AH2AULICKOM
A3bIKe.

TEXT

Benz, Karl (1844 — 1929) was a German inventor of the automo-
bile, who devoted his life to making a horseless vehicle. When Benz’s
three-wheeled engine-driven machine (the first “car”) appeared on
the streets in 1885, people couldn’t believe that it moved without the
aid of horses. It was a great triumph to him because Benz built a new
engine that was lighter and more powerful than any other. He put it
onto a chassis and got power from the engine to the wheels. Benz’s
first car was a great achievement for him. Everything — the engine, fuel
transmission, controls — had been developed and designed by him.
The wheels were driven by means of a chain, and there were two speeds.

In his early days the speed limits were 12 kilometers an hour out-
side the city, six — inside. Benz realized that he would never be able to
improve his cars if this rule were not changed. He thought up a plan.
He invited the Minister to ride in his car and agreed with a milkman
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that the latter would wait with his horse for them on a certain place.
When Benz, with the Minister in his car, passed the milkman, the lat-
ter started off, passed the car at a good speed and laughed at them. The
plan worked perfectly. The Minister ordered to go faster. But Benz re-
ferred to speed limit. “Never mind”, said the Minister. Thus Benz won
the day.

Section 3
1. Ilpoumume mexcm 1.

2. Haiidoume ¢ mexcme ab3ay, 6 KOMOPOM 2080pUMCA O KOHCMPYKUUU
deuzamens.

3. Haiidume 6 mexcme npeonoxcenus, 8 KOMopbix peub UOem 0 NPEeUMyuiecmeax
du3zenvHbix deucamenei, u nepegedume ux.

4. Kpamko nepeckaxcume mekcm.

TEXT 1
Internal Combustion Engines

The first internal combustion engine light enough in weight was
the gasoline engine, invented by a German named Otto.

At the same time Dr. Rudolph Diesel was working on the diesel
engine. The Diesel engine is similar to the gasoline engine in many
ways. There are many variations in engine arrangements, but the basic
parts of most 4-stroke cycle engines are similar.

Radial

B

Horisontally opposed

Puc. 6
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In the in-line arrangement the cylinders are lined up in a single
row. The V-type engine is called so as the cylinders form 2 rows or
“banks”, set at an angle to each other to form the letter V.

The diesel engine gets its power from the expansion of burning
gases. The diesel engine depends on the heat of compression for igni-
tion of the fuel.

Liquid fuel that contains more heat energy than gasoline is diesel
oil.

Diesel oil is slower burning, but it produces more power. Diesel
engines also must be heavier than gasoline engines, but they are more
efficient when working under heavy loads at low speeds.

The advantages of the diesel over the gasoline engine are as fol-
lows:

a) more economic operation;

b) higher compression ratio;

¢) reduced maintenance costs;

d) good pulling power.

1. IIpoumume mexcm 2 u omeemovme Ha 80NPoOCHL:
a. Kaxoewl npeumyuecmea ben3unogsix osueameneii?
6. Kaxoebvt npeumywecmea ousenvHvix osuzameneti?

2. Kpamko uznoxcume codepxcanue mexcma Ha DYCCKOM A3blKe.

TEXT 2
Engines

The two most common types of engines for cars are the petrol
engine and diesel engine.

Petrol engines are usually lighter and smaller than diesel engines.
This makes them cheaper, and this is why most cars use petrol engines.
Petrol engines are also less noisy than diesel engines. They usually go
faster. On the other hand, diesel engines use less fuel than petrol en-
gines, and this is why trucks use them. They are also safer than petrol
engines, because there is less danger of fire.

There are two main types of petrol engine — 4-stroke and 2-stroke.
All cars use 4-stroke engines. But most motorbikes use 2-stroke en-
gines. They are lighter and smaller than 4-stroke engines, and are there-
fore cheaper.
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Section 4

1. IIpoumume mexkcm u omeemome Ha 80npocsi, OGHHBIE NOCAE MeKCcmd.
2. Cocmagbme nepeveHb OCHOBHbIX XAPAKMEPUCMUK A8MOMOOUAS.

TEXT

The “UAS” Model

This model designed as “go anywhere” vehicle is built by the
Ulyanovsk Plant. It gives high performance under all conditions. All
the four wheels of this model are driving ones. Roadless is easily over-
come at medium speeds. Stable suspension gives great riding comfort
even under off-road conditions.

To protect passengers and the driver from sun rays, winds and rains
the UAS is equipped with a weather proof hood. In cold weather an
effective heater system may be switched on.

This model possesses excellent road stability and is easy in con-
trol. Well-balanced, synchromesh gearbox, effective brakes provide
additional conveniences for the driver. Maintenance of the car is ex-
tremely simple, as all points, which are frequently lubricated and ad-
justed are easily accessible. The body is an all-metal, two-door, eight-
seater construction. The clutch is of a single dry plate type.

The transmission has three forward and one reverse speeds. The
lower gear can be put in only when the front axle is engaged.

. At what plant is the model built?

. Does it give high performance under all conditions?

. At what speeds is roadless overcome?

. What is done to protect passengers from wind and rain?
. What may be switched on in cold weather?

. Why is maintenance of the car extremely simple?

. How many speeds has the transmission?

N AWV PA WN -

Section 5

1. IIpoumume mexcm u o3aznasome ezo.

2. Haiioume 6 mexcme npednoxcenus, 20e 2060pUMcs 0 pazdamo4Hoi Kopobke
nepedau.
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3. Kakue mopmo3a ucnoav3yromces 6 OaHHOU modeau aemomobuns?

TEXT

The new vehicle was designed and built by the General Engineer-
ing Division. A conventional chassis, rigid axles and leaf spring sus-
pension are used in this car. However, the frame has been modified to
improve the angle of turning. The rear suspension incorporates rubber
spring washers. There are telescopic shock absorbers all around. This
car has four-wheel drive, it is fitted with larger tires. The wheels are
driven through a four-speed gearbox, third and the top gears being syn-
chromesh. The car is also fitted with a transfer gearbox with a 1.148:1
high ratio and a 2.4:1 low ratio. This gives the car eight forward and
two reverse speeds. Both front and rear axles incorporate spiral bevel
differentials. Brakes are of drum type with servo assistance and the steer-
ing system is modified. The car is powered by a six-cylinder engine,
which resulted in a maximum average speed of 55 miles per hour. It
should be noted that ventilation is provided by means of a standard air
system.

Section 6

1. IIpoumume mexcm.

2. Hanuwume 0CHO8Hble XapaKkmepucmuku agmomobuns é nopsaoke ux
8AXNCHOCMU NO 8aUEMY MHEHUIO.

TEXT

What Motor-Car Buyers Want

In answer to a questionnaire sent out by the General Motors Cor-
poration relating to the general characteristics considered most im-
portant 1n cars, 211000 replies were received. According to the Auto-
mobile Daily News, car users specified the following characteristics,
listed 1n order of their importance:
reliability;
operating economy;
safety;
appearance;
comfort;

AL -~
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ease of control;
smoothness;
low first cost;
pick-up;

speed.

SOoxXNR

1

It is very significant that pick-up and speed, frequently stressed in
automobile advertising, are, according to the answers of this question-
naire, considered of least importance by the car buyers.

Section 7

1. IIpoumume mexcm.

2. Haiidume 6 mekcme npednoxceHue, 20e 2060pUMCs 0 CHOCobe NepeKao4eHUs
KopobKu nepeda, u nepesedume ezo.

3. Kakoeé ocroeroii nedocmamok 3moeo y3na? Haiioume 6 mexcme smo npeo-
N0XceHUe U nepegedume e2o.

4. Kpamko uznoxcume codepxcanue mexcma Ha pyccKom s3vike.

TEXT

Automobile Synchromesh Transmissions

This automated transmission provides effective two-pedal motor-
ing, with the standard four-speed all synchromesh gearbox, a hydrau-
lically operated diaphragm spring clutch and a low ratio torque con-
verter. A microswitch in the gear lever knob initiates clutch disengage-
ment when the knob is touched, thus making normal gear changes de-
spite the absence of the clutch pedal. Although the torque converter
can start in any gear, it is desirable that the converter should start in the
first or second gear from the point of view of acceleration requirements.
Any gear ratio may be kept in engagement to suit the driver’s wishes
and road and traffic conditions.

This transmission makes driving in the city traffic easier and has
good characteristics even when the car is moving on snow and ice.
The only drawback of this synchromesh transmission is its cost.
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Section 8

1. IIpoumume mexcm.
2. Ilepesedume mexcm Ha pycckuii A3biK 8 NUCbMEHHOU ghopme.

3. /s kakoeo kaacca aémomobuneli npeonasnqyena (Haiidume 6 mexcme)
makas mopmo3nas cucmema?

TEXT

Super Stoppers

Disk and drum brakes are conventional ones. Improved hydraulic
systems and anti-lock devices are designed to make brakes more effec-
tive. But they don’t improve the brakes themselves.

Recently a clutch-type brake of extreming simplicity was created.
Most brakes are cooled by air, like an air-cooled engine. But like a car
engine they could be liquid-cooled, a water tank cools the brakes with
its water when the brakes reach a certain temperature. That method sho-
uld be used only for sport cars, but not for conventional passenger-cars.

The inventor became interested in liquid cooling of brakes and
developed several systems.

In passenger cars the engine’s water and radiator were used to cool
the brakes. The idea is that both the engine and the brakes will not be
generating peak heat at the same time.

Radar-controlled brakes are being studied now. In such cars radar
is used for measuring the distance to the next car, printing that infor-
mation into a simple computer, which points the accelerator, and brakes
what to do.

Section 9

IIpoumume mexcm u omeemome Ha caedyoujue 60NPOCHL:

a. What elements does the electric gear change control system consist of?
b. Where is the system used?

c. What does the control system provide the driver?

TEXT

Electric Gear Change Control System

This electric gear change control system is for large vehicles. It
consists of three basic elements: a controller located near the driver, an



82 Part Il

electric cable to the transmission, and a solenoid actuated valve on the
transmission that receives the signal from the driver to change gear
selection.

The system is used in large trucks where the transmission is
mounted far from the engine. The control system provides the driver a
high degree of operation flexibility. The system also incorporates an
inhibitor which prevents accidental down changing at high vehicle
speed.

Section 10
1. IIpoumume mekcm ¢ yeavio 00we20 NOKUMAHUS COOEPHCAHUSL.
2. Jlaiime onucanue 0CHOBHbIX Y3108 A8MOMOOUAS.

3. Kpamko uznoxcume codepicanue mexcma Ha pyccKom A3biKe.
TEXT

Lotus Elan Car

Lotus Elan is a car, capable of carrying four person and their lug-
gage at great speed and in comfort. It is the finest sport car.

In construction, it is very similar to the two-seater Elan car, with a
steel chassis, at the front of which the 16-litre engine is installed and at
the rear the differential is located. The body is a glass-fiber unit, carry-
ing no chassis stresses. The whole car is just 2 ft longer and 10 inch
wider than the previous version.

With such a light and aerodynamic car the driver can reach maxi-
mum 6500 rpm easily. Despite its high power output and two carburet-
tors the engine always started easily. An engine is a smooth unit with a
high torque.

Section 11

1. IIpoumume mexcm 1 ¢ yeavto 06we20 NOHUMAHUS COOEPHCAHUSL.

2. [lepesedume mekcm, noab3ysach cA08apem.

TEXT 1

Autotest of Volvo

Since previous tests of the car the engine capacity has been in-
creased from 1.778 to 1.986 c.c.
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Earlier Volvos had some real difference in appearance but the cur-
rent series have international look, but with considerably more space
for passengers and baggage than the earlier models. Technically, they
are conventional, with the 2-litre 4-cylinder engine mounted in front,
and rear-wheels drive through a 4-speed gearbox and coil-spring live
axle.

Brakes are servo-assisted discs, the rear brakes incorporating small
drums for the parking brake. Twin hydraulic circuits unite both front
brakes to one rear brake, so that when one circuit fails only one brake is
lost.

The synchromesh gearbox is satisfactory. In average conditions the
car rides well.

IIpoumume mexcm 2 u nepesedume e2o0 be3 cao6aps.

TEXT 2

Finding a Fault in the Car

If your car doesn’t start in the morning, you should check three
things first: the battery, the fuel level and the spark plugs. It is easy to
repair these faults. If the battery is flat, you should recharge it. If this
doesn’t work, you should replace it. If the petrol tank is empty, fill it
up. If the spark plugs are dirty, clean them, and if the gap in a spark
plug is too narrow or too wide, adjust it to the correct width.

Section 12

1. IIpoumume mexcm ¢ yenvto 06ue20 NOHUMAHUS COOEPHCAHUS.
2. Omeembme Ha 60npochl, hoMeUeHHble NOCe mekcma.

TEXT

Let’s look closer at the engine components that operate together
to generate power. The basic unit of the engine is the piston which moves
up and down inside a cylinder. As air is compressed in the cylinder,
fuel is injected on top of the piston.Under high pressure the fuel mixes
with the hot air end self-ignites causing combustion. The force of the
combustion pushes the piston and connecting rod down turning the
crankshaft and flywheel which drive other components.
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During engine operation the piston goes through four strokes: in-
take, compression, power and exhaust. During the four strokes, the
piston moves down and up to complete cycles.

Intake: During the intake stroke the piston moves down in the
cylinder pulling air past an open intake valve into the combustion cham-
ber.

Compression: During the compression stroke all valves are closed,
and piston moves up in the cylinder compressing the air. As the air
molecules are compressed the air temperature increases dramatically
to about 1000° F (537° C). As the piston nears the top of its stroke, fuel
is injected into the combustion chamber on top of the piston. The fuel
mixes with the hot compressed air and causes combustion.

Power: During the power stroke the valves are closed as the forces
from combustion push the piston and connecting rod down, thereby
turning the crankshaft. The heat energy has now been converted into
mechanical power.

Exhaust: During the exhaust stroke the inertial force of the turn-
ing flywheel helps continue the rotation of the crankshaft to push the
piston up again in the cylinder forcing the burned gases out the open
exhaust valve. This completes the four strokes of the piston. These four
strokes are repeated over and over as the engine operates.

Diesel engine ofter the following advantages over automotive-type
gasoline engines:

Fuel economy

Diesel engines have higher compression ratios and therefore burn
fuel more completely and efficiently.

Reliability

Diesel engines have no electrical ignition system to fail or be main-
tained. They are built with heavy-duty parts to withstand the higher
compression ratios and to operate for long periods with minimum
breakdown. In on-highway trucks for instance, diesel engines have a
projected service life of many hundreds of thousands of miles.

Power

It depends on engine size, but diesel engines generally produce
more torque and power output than gasoline engines.

QUESTIONS

1. What takes place in the combustion chamber during the intake
stroke?
2. What takes place in the cylinder during the compression stroke?
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3. What takes place in the combustion chamber during the power
stroke?

4. What takes place in the combustion chamber during the ex-
haust stroke?

5. What advantages do diesel engines offer?

Section 13

1. Hpoumume meKkcm ¢ yeavro o6u4eeo HOHUMAHUA co@epalcanwi.

2. Hanuwume, wmo deaaemcs 043 mozo, 4mobbl coKkpamums nomepu
ompabomanHozo 2asa.

TEXT
The Car and the Environment

Most of us know that cars cause air pollution. Scientists tell us
that if we don’t do something soon, we will be unable to repair the
damage that we are causing to our planet. What are some of the things
we can do to help?

1. Buy a fuel-efficient car and keep it that way

Good gas is a way to stop pollution. Choose a car that is friendly to
the environment when you buy one.

2. Keep your car tuned up

A car that badly tuned releases more pollutants into the air. If you
keep track of your gas mileage, you’ll know when something is wrong.
A badly tuned car uses almost 10% more gas than a well-tuned car.
Other ways to waste gas are:

— Idling your car unnecessarily. If you are stopped for longer than
a minute, it is more fuel efficient to turn off your engine.

— Using dirty fuel filters. Dirty fuel filters waste gas.

— Air Conditioner Maintenance. Of course, this causes a big prob-
lem for both us and our mechanics. Our mechanics will have to make
sure that there are no leaks, and fix them if there are, before they can
add any R-12 (freon) to our air conditioning systems. Naturally, this
cost will be passed along to us.

Section 14
1. IIpoumume mexcm c yenvio 06ujec0 NOHUMAHUS COOEPHCAHUA.

2. Haiidume 6 mexcme npeonoxceHusl, 8 KOMopbix 2060pUMCsi 0 MOM, 4e20 He
caedyem denamo.
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3. Kpamko nepeuucaume, ymo Heo6X00uMO npeonpuHAMb 0N YAYHUIEHUS
3K0/102UMECKUX YCA08UlL.

TEXT

Gas Ecology

There are many ways that we can reduce pollution by observing
good gas ecology — that is using our cars in fuel efficient ways.

Don’t move the car unless you are going somewhere. Plan ahead.
Starting the car up just to move it a short distance produces more pol-
lutants than hours of driving on the freeway.

Don’t use your heater until the car is warmed up. The engine will
start more quickly, because it won’t be losing heat to warm you.

Try to drive within 35-45 miles per hour when possible. Driving at
slower speeds reduces engine efficiency and causes more pollutants.

Don’t make fast starts or stops. Fast starts can burn more than
50% gas than regular acceleration (as well as cause 50% more emis-
sions). When a big burst of gas enters the engine, much of catalytic
converter’s job is bypassed and the unburned gas comes out the tailpipe
or is sent into the converter. Rapid acceleration is only called for in
emergency or passing situations. Stopping rapidly also leaves the en-
gine with a lot of unburned gas to deal with. This results in damage to
the converter and pollution.

Try not to idle. At bank lines and fast food places with over thirty
second waits, turn the engine off, and restart it. It is more fuel efficient,
and causes less pollution. The only time that idling is a good thing is
after a long, fast run. Idling the engine for a minute or so after one of
these helps get rid of any hot spots and fuel vapors.

Keep to steady speeds on the highway. Changing speeds produces
more pollution and uses more gas. Don’t use the air conditioner unless
you have to. It makes your engine work harder, uses more gas, and
causes more pollution. Most evaporative emissions get into the atmos-
phere when we put gas in our cars. Make sure your gas cap is the right
one, and in good working order. Gas caps don’t cost that much, but
are very important in anti-pollution.

Since gasoline expands, never overfill your tank. It will wind up
leaking out.

Use known brands of gas. Poor quality gas will not save you money.
Instead, it will foul your engine and cause it to function badly. Try
several different brands and octane ratings to find out which makes
you car the happiest, and stay with it.
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Section 15

1. IIpoumume mexcm c yenwvio 06ue20 NOHUMAHUSL COOEPHCAHUS.
2. Haiidume ¢ mekcme a63ay, 6 KOmopom udem peus 0 Munax CMoAKHOBeHU.
3. Kakoea ocnosnas gynkyus pemneii 6ezonachocmu?

4. Kakoevl ocHosHble npaguna nogedenus neuexo0oé npu nepece4eHuu
npoe3xceii yacmu yauypt?

TEXT

Road Safety

Every year several thousand people are killed on the roads. Every
year hundred thousand people are injured. These people are killed and
injured in road accidents.

Accidents are often caused by carelessness of the people. There
are rules that help to make the roads safe, but people do not follow the
rules.

In our country as in most other countries traffic keeps to the right,
but in Great Britain traffic keeps to the left. While driving the car you
can get into trouble. The data indicate that in road accidents the pas-
sengers who use different kinds of safety belts suffer from the impacts
less than the passengers who don’t use ones. It was shown that safety
belts had reduced the risk of serious injuries.

Accidents can be divided into three types as follows:

1. Head-on impacts between cars;

2. Side impacts caused by accidents at intersections;

3. Rear impacts in which the car (often stationary) is struck from
the rear by another car.

Head-on accidents are the most numerous in which the driver and
the front seat passenger suffer head injuries. That is why the most im-
portant function of safety belts is to protect the driver and passenger
from head injury.

In up-to-date cars various types of safety cushions are used to pro-
tect the lives of those sitting in the car. But the gold rule is to be careful
on the road while driving the car.

As far as bhe pedestrians are concerned they should obey the fol-
lowing rules: before crossing the road, stop and look both ways. Look
right, look left, then look right again. If the road is clear, it is safe to
cross it.
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UNITONE

Vupaxuenue 8

1-b;2—c;3—-b;4—a;5—b.

VYnpaxnenue 18

1-14;2-18;3-23;4-7;5—-17;6—21;7—1;8—-12;9-10;10—2; 11 —
19;12—-3;13—-4;14—15;15-6; 16 —13; 17 —5; 18 — 16; 19 — 8; 20 — 22; 21 —
9;22—-20;23—11.

Vipaxunenune 22

1.
2.

3.

I study at the automobile department of a technical college.
After graduating from the college I’ll become a specialist in automobile
industry.

In my opinion every specialist should know that the automobile must un-
dergo laboratory and road tests.
These tests are needed in order for the automobile to meet up-to-date
demands.
The modern automobile must have the following qualities: rapid accel-
eration, smooth-acting clutch, silent gearbox, dependable braking and
steering systems, ease of driving.
The automobile engine must also have low fuel consumption and be eco-
logical.

UNIT TWO

VYnpaxuenue 5

1-4,2-6;3-7;4—1;5-2;6—-5;7-3.

Vipaxunenue 6

1.

W

The automobile consists of three basic parts: the engine, the chassis and
the body.

The engine is the source of power.

The engine includes fuel, cooling, lubricating and electrical systems.
The chassis comprises the power train, running gear, steering and brak-
ing systems.
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5. The power train (transmission), in turn, consists of the clutch, gearbox,
cardan shaft, final drive, differential, rear axle and axle shafts.

6. The running gear includes frame with axles, wheels and springs.

7. The body has hood, fenders and accessories: heater, windshield wipers,
stereo type recorder, conditioner and so on.

Vnpaxuenue 13

1-13;2—-19;3-25;4—2;5—-8;6—5;7—16;8—1;9—11;10-20; 11 —
3;12-21;13—-7;14—14;15—4;16 — 17; 17— 6; 18 — 24; 19 —10; 20 — 9; 21 —
23;22—12;23 —15;24 — 18; 25 — 22.

Vnpaxuenue 15

1-b;2—-d;3—a;4—c;5—d;6—c.

UNIT THREE

Vipaxunenue 6
1—a;2—a;3—-b;4—a;5—-b;6—b.

Vnpaxuenue 7
1-b;2—a;3—-b;4—c;5—a.

UNIT FOUR

Vipaxunenne 8
1-i;2-b;3—-g;4—-h;5-f:6—-d;7—e;8—2a;9—c.

UNIT FIVE

Vinpaxuenue 6
1-4;2—-1;3-5;4-2;5-3.

Vnpaxuenue 9

1. The frame provides support for the body, engine and power train mem-
bers.

2. It consists of longitudinal and cross members that reinforce the frame.

The frame has to withstand vibrations, twists and other strains.

4. The frames may be of two types: conventional frames and unibody con-
structions. ’

w
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5. Conventional frames are made of steel channel sections welded or riverted
together.

6. Frameless constructions are made integral with the body.

7. The frame is insulated from the body by rubber pads in order to prevent
noise and vibrations from passing to the passengers of the car.

UNIT SIX

Vipaxuenue 6

1—c;2—b;3—b;4—0b;5—b.

Vnpaxuenue 12

1-9;2-16;3—-1;4—-14;5-11;6-3;7—-2,8—15;9 —4;
10-7;11—-12;12—-6;13—-10; 14— 8; 15— 13; 16 — 5.

Vinpaxuenue 14

1. The clutch is a friction device.

2. The clutch connects the engine and the gearbox.

3. The clutch is located between the flywheel and the gearbox.

4. Asarule the clutch consists of two discs: the driven disc and the pressure
one.

5. The clutch is controlled by the clutch pedal.

6. When the clutch pedal is at rest the clutch discs are engaged and the run-
ning engine is connected to the gearbox and wheels.

7. When the driver pushes down on the clutch pedal the discs are apart, the
clutch is disengaged and the engine runs idly.

UNIT SEVEN

Vnpaxkuenue 5

1-3;2—-4;3-1;4—-2;5-5.

Vipaxunenue 6

1. The gearbox is designed for changing the speed of the car movement.

2. The gearbox provides four forward speeds and one reverse.

3. Gearboxes can be as follows: sliding-mesh type, constant-mesh type and
epicyclic (planetary) type.

4. The sliding-mesh type is the simplest one.

5. The constant-mesh type is the most widely used type.
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6. The sliding gears on the gearbox shaft are designed for providing the for-
ward speeds and the reverse drive.

UNIT EIGHT

VYupaxuenue 6
1-52-11;3-1;4—-6;5-2;6—-10;7—-3;8—-4;9-7;,10-9; 11 - 8.

Ynpaxnenune 7
1-4;2-5;3-1;4-3;5-2.

Vipaxnenue 8

Brakes are the most important mechanisms of the car.

They are used to slow or stop the car.

Brakes can be divided into two types, namely: drum brakes and disc brakes.
Most cars use hydraulic or pneumatic driving systems.

The brakes are applied when the driver pushes down on the brake pedal.

A

VYnpaxnenne 15

1. Brakes are used to slow or stop the car.

2. Depending on the drive brakes are classified as: mechanical, hydraulic,
air, or electric brakes.

3. Brakes are controlled by the brake pedal.

4. Brakes are applied when the driver pushes down on the brake pedal (brake
shoes are pressed against the brake drums).

5. In air brakes compressed air is used to apply the braking force.

6. Electric brakes use electromagnets to provide the braking effort.

7. Up-to-date cars are equipped with all-wheel brakes.

UNIT NINE

Vnpaxuenue 8
1-5;2-3;3-6;4—4;5-2;6—1.

Ynpaxuenune 9

1. To guide the car it is necessary to have the steering system.

2. The steering gear assembly incorporates: steering wheel, steering column,
gearing, pitman arm, steering knuckle arms and ball joints, levers and tie
rods.
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. There are different steering gears, namely: rack and pinion type

recirculating ball type, and worm and sector type.

When the driver turns the steering wheel to the left or right, the steering
mechanism causes the pitman arm to turn to the left or right.

This movement is carried by the tie-rods to the steering knuckle arms
and wheels, causing them to turn to the left or right.

UNIT TEN

VYnpaxuenune 5

1.

w

Many modern automobiles are equipped with onboard computer sys-
tems for better automobile operation.

The program of such a computer has only two memories: read only
memory (ROM) and random access memory (RAM).

The computer software tells the computer what to do, and when to do it
in a specific sequence.

The program is stored in a permanent memory.

The microprocessor contains a ROM and a RAM.

Some computers have the ability to learn. This is referred to as an adap-
tive memory.
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Henpasunvhvie (Hecmandoapmubie) 2aaeonbl.

Tabauya 1
Infinitive Past Indefinite Participle 11
IlepeBon
(1 dhopma) (11 popma) (111 popma)

be was, were been OBbITH
become became become CTaHOBMTBCS
begin began begun Ha4yMHaTb (Cs1)
break broke broken JIOMaTh
bring brought brought TMPUHOCUTH
build built built CTPOHUTH
burn burnt bumnt TOpeTh, Xe4b
buy bought bought MOKyTaTh
choose chose chosen BHIOMpaTh
come came come MIPUXOIUTH
cut cut cut pe3ars
do did done JenaThb
draw drew drawn TallUTh, PUCOBATH
drink drank drunk MHUTh
drive drove driven BE3TH, €XaTb
eat ate eaten eCcThb
fall fell fallen nagarb
feel felt felt YyBCTBOBAaTb
fight fought fought 60poThCst
find found found HaXOIWUTb
fly flew flown JIeTaTh
forget forgot forgotten 3a6bIBaTh
get got got oJy4aTh, CTAHOBUTBCS
give gave given J1aBaTh
go went gone MITH, €XaTh
grow grew grown pacTH, BHIPAIIABATD
hang hung hung BelllaTh
have had had MMETh
hear heard heard CIIbILIATL
hold held held Jepxatb
keep kept kept XPaHUTb
know knew known 3HATh
lead led led BECTH
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Tabauya 1 (Ilpodonxcerue)
Infinitive Past Indefinite Participle IT
IlepeBon
(I popma) (11 popma) (111 popma)
learn learnt, learned learnt, learned YYUTH(CS)
leave left left OCTaBJIATH
let let let TO3BOJIATD
light lit lit 32KUTaTh
lose lost lost TEPATh
make made made enath
mean meant meant 3HA4YMUTh
meet met met BCTpeYaTh
put put put KJIaCTh
read read [red] read [red] YUTATh
ring rang rung 3BOHMUTH
run ran run 6exartpb
say said said CKa3aTh, TOBOPUTH
see saw seen BHAETH
sell sold sold MpoaaBaTh
send sent sent TIOChUIaTh
set set set IIOMeNIaTh, KJ1aCTh
show showed shown MOKa3bIBaTh
shut shut shut 3aKphbIBaTh
sing sang sung neTh
sit sat sat CHIETh
sleep slept slept crnath
speak spoke spoken TOBOPHUTH
spend spent spent TPaTHTh, IPOBOTUTD
stand stood stood CTOSITh
swim swam swam IUIaBaTh
take took taken Opatb
teach taught taught Y4YHUTb, 0Oy4aTh
tell told told cKasarb
think thought thought IyMaTh
throw threw thrown 6pocarb
understand understood understood TIOHUMAaTh
win won won BBIMTPHIBAThH
write wrote written ncaTh
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Cnosoobpa3zosanue
OcHosHble cyghukcol cyujecmeumenvrbix
Tabauya 2
Cydpdurc | Kxakoiiuactupeun | OchosHoe3nauenne | Ilpumepwt | ITepesox
nobasisercs 00pa30BaHHBIX CJIOB
-ance K I1arojiaM neiicTBre maintenanceTeXHUYECKOe
00CTyXUBaHKE
-ant/-ent |x praronam MPUHAMJIEXHOCTh K|assistant ACCUCTEHT
npodeccuun student CTyHEHT
-ency K IpWIaraTeabHbIM KayecTBO WIM cocTo- |efficiency  |adexmuBHOCTS
STHUE
-er/-or K IJ1arojiam nedcTBylomee JuIo|reader 4UTaTENb
WX MEeXaHW3M, IMpo-|worker pabouuit
U3BOASLLUY NecTBUE | visitor TOCETUTEb
-dom K CYIIECTBHTENBHBIM,| COCTOSIHUE, KayecTBO |freedom cBobona
TIpWIaraTeJbHbIM
-er K CYyLIECTBUTEIBHBIM | UMs cyll., 0003Ha-|Londoner |1oHAOHEI
Yajollee XUTEst
-hood K CYLIECTBUTEILHBIM | COCTOSIHHE childhood |mercTBO
-ian K CYLIECTBUTENBHBIM | mpodeccust technician |TexHUK
physician  |Bpay
-ics K CYyLIECTBUTEIbHBIM | Ha3BaHME HayKU physics dusuxa
-ing K IJ1arojiaM npouecc, neicrTaue, |reading YTEHUE
COCTOSIHUE smoking KypeHHe
-ion K IJIarojiaM npouecc, geicTBue,|revolution |peBomoLus
-tion COCTOSTHUE solution pacTBoOp
-ation aviation aBUaLys
-ism K CYIIECTBUTE/IbHBIM,| yU€HHE, TEOPHUS, Ha-|marxism MapKCH3M
MpuiaraTesbHbIM MpaBJIeHUE, KauecTBO |heroism TEpPOU3M
-ist K CYIIIECTBUTEIBHBIM | UMSI CYLIECTBUTEN b~ |cOmmunist |[KOMMYHHCT
Hoe, o6o3Havawuiee|darwinist |zapBUHHUCT
MOCJIeIOBATENS] YICHUS]
-(ipty K IpWiarateJbHbIM | Ka4e€CTBO MU co- |legality JIETAIbHOCTD
CTOsIHUE
-ment K [JIarojiaMm pesyJbTar JeiicTBusl  |equipment |oGopynoBaHue
settlement |moceneHue
-ness K NpWiaraTeJIbHbIM KayeCcTBO HJIM coO-|softness MSITKOCTh
CTOSIHME darkness TEMHOTA
-ship K CYLIECTBUTEJBHBIM | COCTOSTHUE friendship |npyx6a
-ence K [J1arojy KayecTBO excellence |rpeBOCXOACTBO
difference |pazinune
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OcHosHble cyggpurcol npurazamenbHbix
Tabauya 3
Cydduxc | K kakoit vactn peun | OcHoBHoe 3Hauenne | ITpumepst Ilepeson
nobasasieTcs 00pa30BaHHBIX CJIOB
-able K CYHIECTBUTEJb-{ UCIBITHIBalo Ui |workable TPUTOAHBIA IS
HBIM M [JIarojiaM | JeicTBUe paboTht
considerable | 3HaYMTENBbHBIN
-al K CYLLECTBUTE/Ib-| HaIM4YME KayecTBa |electrical SJIEKTPUYECKHIA,
HbIM sentimental | ceHTMMEHTaNb-
HbIA
medical MEIUIIMHCKHUIA
-ant K IJIarojiaMm HaJIMyMe KayecTsa, |resistant CONIPOTHUBIAIO-
CBOMCTBa ucs
-ent K IJ1arojiaM HaJIMyue KauyecTsa, | different PaTMYHBLH
CBOJiCTBa
-ary K CYWIECTBUTENb-| HAJIMYME KAYECTBA, |revolutionary| peBOJIOLIUOH -
HBIM CBOJMCTBa HBIA
-ful K CYIIECTBHTENb-| HamMyue Kadectsa | useful TOJIe3HBIH
HBIM
-ish K CYUIECTBUTE/b-| HAIWYME pu3Haka B | childish JIETCKUM
HBIM U TIpujara-| cnaboi creneHu feverish JIMXOPATOYHBIH
TETbHBIM reddish KPaCHOBATBIN
-ive K IJIarojiaM HaJIMuMe KayecTBa, |creative CO3UIATENbHBIH
CBOWCTBa
-less K CYIIECTBHUTENb-| OTCYTCTBUE Kade- |useless 6ecrnoe3HbIi
HBIM cTBa
-ous K CYUIECTBHUTE/Nb-| HaIWYME KayecTBa |famous M3BECTHBIN
HBIM
OcHosHoli cygpgpurc Hapeyuti
Tabauya 4
Cybduxc | K kakoii yacTu peun | OcHoBHOe 3HAYeHHE IIpumep IlepeBon
nobGasasercs 00pa3oBaHHbBIX CJIOB
-ly K IIpWiaraTeJIbHbIM| U3MEHsieT 4YacTh | badly TUIOXO
peunt
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OcHosHble cyghguicol enaz0n08
Tabauya 5
Cybduxc K kakoii yacTH pen IIpumepnt IlepeBon
nobasisiercs
-ate K CyIeCTBUTENb- | activate aKTHBU3UPOBATh
HBIM, TIpWJIaraTesib-
HbIM
-en harden 3aKaJIMBaTh
-fy intensify YCWIMBATh
-ize summarize CYyMMHMpPOBATh
OcHogHble npeghukcol
Tabauya 6
Ipeduxc [K kakoit yactu peun | OcHoBHoe 3nadenne | IIpumepst IlepeBon
nodasisieTcs
anti- K CYIIECTBUTENb- | aHTH-, IPOTHBO- antisocial AHTUOOILIECTBEH-
HBIM M TIpuJjara- HBIA
TEeJbHBIM
co- K CYLIECTBUTENb- | CO-, OOLIHOCTB feHi-| cooperate COTPYAHHYATD
HBIM U [J1arojiaM CTBUS
counter- | K CylleCTBUTENb- | KOHTP-, MPOTHBO- | countershaft | xoHTpnpuBOA
HBIM
dis- K raarosnam, cy-|pas-(pac-), nes-,| disorganize | ne3opraHu3oBaTh
LIECTB. ¥ Mpwiar. | 06e3-
ex- K CYIIECTBUTEJb- | ObIBLUMH ex-champion | 3KC-4eMITMOH
HBIM
extra- K IIPWIATaTeIbHBIM | 3KCTpa-, CBEpX- extraordinary | 3KCTpaopAHHap-
HBIA
inter- K [JIarojiaM H IpHu- | MEXIy-, B3auMo- | interaction B3aHMMOJEHCTBHE
JlaratebHbIM
mis- KIJIaroaM M cyllie- | oTpuuaTtejbHoe| misunder-| HeMpaBUJIbHO
CTBHTEJIbHBIM 3HaYeHHUE stand TOHSATh
non- K CYLIECTBHUTE/b- | HE- noninterferen-| HeBMelIaTeJlb-
HBIM ¥ TNpuiara- ce CTBO
TEJIbHBIM
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Tabauya 6 (Ilpodonxcenue)
out- K IJIaroyiaMm nepe-, NpeBocxo- | outbalance TepeBelBaTh
JMTB 9TO-TH60

over- K IJIarojiaM M Mpu- | mepe-, cBepx- | overdo repecTaparbCst
JIaraTeIbHbIM Ype3MepHO

post- K [JlarojiaM, cy- |Iocie- postaccelera- | mocieyckopeHue
LUECTB. ¥ MpWIar tion

in- K CYLIECTBUTEJb- |OTpHUILlaTEdbHOeE | incorrect HENpPaBWIbHBIN
HBIM M IIpUJIara- | 3HayeHue
TeJIbHBIM

il- K CyWleCTBUTEb-|oTpHLaTeabHoe | illogical HEJIOTUYHBIA
HBIM M NpHJIara- | 3HaYeHue
TeJIbHBIM

im- K CYILECTBUTEJb- |OTpHLIATENbHOeE | impossible HEBO3MOXHBIH
HBIM M NpHUJIara- | 3HaYeHHe
TeJIbHBIM

ir- K CYLIECTBHUTEJNb- |OTpULaTENbHOe | irregular HeperysipHbIA
HBIM M Npuiara- | 3Ha4eHue
TeJIbHBIM

pre- K [JarojiaM, cy-|Jo-, nepeia-, paHb- | prehistoric JIOUCTOPUIECKUH
LIECTB. ¥ pWIAL. | Lie

re- K IJjlarojaM 4 Ccy- | CHoBa, BHOBb rewrite Tepen1ChIBaTh
LECTBUTEIBHBIM

sub- K FjarojiaM, cy-|cyb-, Huxe-,noa- |subtropical CyOTpOIIMYECKUM
LIECTB. U PUJIAL

super- K [JlarojiaM, cy-|CBepX -, Iiepe - superheat Teperpes
LIECTB. ¥ MpUIara-
TeJIbHBIM

trans- K TJIarosiam, cyle- | mepe -, TpaHe - transplant|mepecaguTsh
CTBUTEJNBbHBIM U transforma- | TpancopManus
MpWIaraTeJIbHbIM tion

ultra- K CYyLIeCTBUTEJb- | NpeBOCXoas Ll ee | ultrasonic YJIBTPa3BYKOBOM
HBIM M TNpUIara- | 00bI9HOE, CBEpX-
TeJIbHBIM

un- K rjarojiaM, cy-|He- unkind HenoOpbIi
LECTB. ¥ MpWiara-
TeJIbHBIM

under- K IJIarojiaM | TIpH- | HYDKe HOPMBI, Hello- | underestimate | HeJOOIIEHUBATh
JlaratebHbIM
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Henuunvie gpopmbl enazona
Hugpunumue (Infinitive)
Tabauya 7
Active Passive
Simple to write to be written
I want to write him a letter. The letter to be written will be
51 X04y HAMMCATH eMY MTHUCHMO. posted at once.
II1ceMO, KoTOpoe HYXKHO HalH-
caTb, Oy/IET MOCTaHO Cpasy.
Continuous to be writing
The students seem to be writing a
dictation now.
Kaxercst, CTyIeHTHI NMIIYT JAK-
TaHT celyac.
Perfect to have written to have been written
The students seem to have written| The dictation seems to have been
their dictation. written.
ITo-BMOAMMOMY, CTYIEHTHI HaMH- | JIMKTaHT, KaXeTCs, HAMCAH.
CAJIH IUKTaHT.
Perfect to have been writing
Continuous | The students seem to have been wri-
ting their dictation for 2 hours.
CTyneHTsI, 0-BUAMMOMY, NHIIYT
JIMKTaHT yXe B TCYCHHUE IBYX YACOB.

DyHKUUU UHDUHUMUEA 8 NPEONOHCEHUU.
Cnocobbl nepesoda ungunumuea

Tabauya 8

DyHKuUsA

IlepeBon

1. IMonnexaiuee

To read books is useful.
To smoke is bad for health.

Cy11iecTBUTEIBHOE WY HEOTIpENEIEHHAs
¢opma rnarona.

Yrenne (YATATH) KHUT(H) ITOJIE3HO.
Kypenue (KypuTb) BpeIHO UL 310POBbSI.

2. lonosHeHne
I want to read this book.

HeornpeneneHHas ¢popMa riarona.
S XOUy MPOYMTATD 3TY KHUTY.
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Tabauya 8 (Ilpodonxcenue)

3. YacTb COCTaBHOIO CKa3yeMoro.
Our task is to speak English.

HeonpeneneHHas popma riarona.
Haia 3aaya — roBopHTb [10-aHIJIMACKH.

4. OnpeneneHue

A thermometer is an instrument to show the
temperature.

The text to be translated is very interesting.

Imaros B HacToslEeM WJIH Oyayuiem
BPEMEHU WJIA C MOAAJIbHBIM 3HAYECHHEM
OMPEAEIUTENBHOTO
MPELIOXEHUS.

TepMoMeTp — 3T0 PUOOP, KOTOPLI MO~

OpUIATOYHOIO

Ka3piBaeT
TeMIIepaTypy.
TekcT, KOTOpBIH HyXHO (OyaeT) nepesecTH,
OYEHb UHTEPECHBIMA.

(monxeH  mOKa3biBaTh)

5. O6CTOSATENBCTBO

‘We went to the station to meet them.

CyleCTBUTENBHOE C MPEIIOTOM HIIH
HeolpexejieHHass ¢opma riaroja ¢
COI03aMH «YTOOBI» , «IJISi TOTO YTOOBI».

Mbl noexaau Ha CTaHUUIO, (IJA TOro)
9TOOBI BCTPETHTD MX (JI1 BCTPEUH C HHMH).

Crnoxcroe nodnexcaujee

(Complex Subject)
Tabauya 9
Inarosnbi-cKka3yeMble, C KO- IMpumepsl Ilepeson
TOPHIMH YIOTpeOIgeTCS ]
CJIOXHOE MmojJiexaniee
1. B ctpanarenibHOM 3aore:

to know — 3HaTh
to think — gymaTh

to consider — cuuTaTh

to believe — mosarath

to expect — OXHMAATh

to report — coobuiaTh

to state — yTBepXaaTh

to suppose — Mpeanona-
ratb

The delegation is said to
arrive soon.

The delegation is said to
have arrived.

The delegation is said to be
arriving now.

He is believed to have been
working for 2 years there.

ToBopsT, YTO Aeeramus
CKOPO NpHeJerT.

ToBopSAT, 4TO Aeserauus
npHobLIa.

ToBopAT, YTO Aejeramus
ceifyac npuObIBaeT.
[Tonaraiot, 4TO OH paboTas
TaM B TeYEHHE ABYX JIET.
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Tabauya 9 (TIpodonxcerue)

2. B neiicTBUTENILHOM 3a-
Jiore:

to seem — Ka3aTbCsl

to appear — OKa3bIBaThCS
to happen — ciy4arbest

to prove — OKa3bIBaThCsl

He seems to know English
well.

He seems to have known
English well.

OH, KaxXeTcsi, 3HaeT XO-
POLLIO AHITTMHACKUHA.

OH, KaXeTCst, 3HAJI XOPOLIO
AHIJIMACKHUHA.

3. Co CJIOBOCOYETAHUSIMU:
to be likely — BeposiTHO

to be unlikely — manose-
POSITHO

to be certain — ompe-
JIEJIEHHO

to be sure — 06s13aTENTBLHO

She is likely to come here in
time

OHa, BEpOsITHO, MpHAET
BOBpEMSI.

to dislike — He HpaBUTbCS
to hate — HeHaBUzIETh

Cnoxcroe donontenue
(Complex Object)
Tabauya 10
Iarosbi-cka3yeMble, 110- IMpumepst IepeBon
clie KOTOPBIX ynoTpebusi-
€TCsI CJIOXHOE AOTIOTHEHHE
1. Beipaxaromue xenanue: | I'want him to read thisbook. | S xouy, 94To0bl oH npoyen
to want — XOTeTb 1 like people to tell the truth. | 3Ty KHMrY.
to wish — xenarb MHe HpaBHTCS, KOrjaa
to like — HpaBUTbCS JIIO/IH FOBOPAT IPaB.Iy.

2. Boipaxalolue yMCTBEH-
HYIO JeATeJIbHOCTD:

to expect — OXHIaTh

to think — nymars

to suppose — npeyiaratb
to know — 3HaTh

to suspect — ogo3pesaThb

We know him to be a good
engineer.

We suppose him to have
done his work.

MBI 3HaeM, 9YTO OH XOpo-
IIMH HIDKeHep.

MBI npenonaraeM, 910 oH
BBINOJIHWI CBOIO paboTy.
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3. Boipaxaiomue 4yB-
CTBEHHBIE BOCTIPUSITHSL:

to see — BUAETD

to watch — HabonaTh

to feel — ywyBcTBOBaTH

I saw him cross the street.

I felt somebody touch my
arm.

(MUHbuHHUTHB ymoOTpE-
6nsiercsi 6e3 4YacTUILBI

51 BUZIEIT, YTO OH MEPEXOANI
yauuy.

S NOYYBCTBOBAJI, 9TO KTO-
TO JAOTPOHYJCA IO MOeit
PYKH.

to hear — ciblaTh “10”).
4. Bripaxaiougue no6yx- | He made us wait for him. OH 3acTaBWJI HaC XAaTh
JIEHUE: She let me do it. €ero.
to make — 3aCTaBJIATh (UHbuHuTuB ynorpe- | OHa TMO3BOJMJIA MHe
to let — no3BossATH 6nsercs 6e3 YacTMLB | CaeJaTb 3TO.
to force — 3acrtaBasTh | “to”).
(cwoi)
Tepynouii (Gerund)
Tabauya 11
Active Passive
Simple asking being asked
The students like asking questions. | Some students don’t like being
asked.
CryaeHTH J100AT 3aaaBaTh | HekoTopele CTyIEeHTHI HE TIOOST,
BOIIPOCHI. KOT/Ia UX CIPAIIMBAIOT.
Perfect having asked having been asked
I know of his having asked you | I remembered having been asked
about it about it.
S 3Hal0, YyTO OH cnpamMBai Te6s1 | S| BCIIOMHMII, YTO MeHs cnpa-
00 3TOM. IHMBAJIH 00 3TOM.

Dynkyuu 2epynous 6 npeoroxceHuu

Tabruya 12

Dynxums

Ilepeson

1. Tognexaiuee

Driving at a high speed is dangerous.

CyLIeCTBUTENIBHOE WIHM HEOTIPENEIeHHAs
¢opMa rnarona.

E3auth (e31a) Ha 6OJIBUION CKOPOCTH
OIacHO (OmacHa).

2. lononHeHue

My brother likes riding at a high speed.

CylLIeCTBUTEILHOE WIHM HEONIpeAeIeHHAs
¢opMa riarona.

Moit 6pat n06uT e3auTh (e3ay) Ha
60JIB1LION CKOPOCTH.
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3. YacTb COCTaBHOTO CKa3yeMoro

His favourite sport is racing.

Cy1LiecTBUTEBHOE WIM HEOTIPEEICHHAs
¢opma rnarona.
Ero no61MbIii BHI CIOPTa — FOHKH.

4. OnpeneneHue
The idea of designing gas engine was given
by specialists long ago.

Cy11ecTBUTENbHOE.
W nes co3nanus ra30Boro ABUraTeis Obuia
TpeUIOXeHa CIIELMATUCTAMM AaBHO.

5. O6CTOATENBCTBO
‘We can reduce pollution by observing good
ecology rules.

Jeenpu4acTHbIi 060pPOT.

MbI MOXEM ITOHU3UTD 3arpsi3HEHUE OKPY-
XaloleH cpeabl, cobmoaas npaBuia
3KOJIOTHH.

IIpuvacmue (Participle I, IT)

Tabauya 13
Pariciple I Active Passive
Simple reading being read
The girl reading a book is my | The book being read now is very
friend. interesting.
JleBynika, untaiomas KHUry, Mosi | KHura, KoTopyio ceiiyac 9MTaior,
nogpyra. OY€Hb UHTEPECHAS.
Reading a book he made some
notes.
Ymras KHHUTY, OH J€/1aj1 KAKHE-TO
3aIUCH.
Perfect having read having been read
Having read the book he put it | Having been read the book was
aside. returned to the library.
ITpounras xHury, oH omioxwiee | ITocie TOoro Kak KHUry mpo-
B CTOPOHY. 9HTAJH, ee BEpHYIU B 6ubmmo-
TEKY.

Participle I1 The book read by him is on the
table.
KHura, npoYHTaHHAA MM, JIEXUT
Ha CToJ€.
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Ilpuuacmusie obopomut

(Participle Constructions)

Tabauya 14

OrnpenenuTeNTbHbIA IPUYacTHIN 060pOT

The translation done at home by the
students was of great importance for them.

IlepeBon, BhIMOIHEHHBIH (KOTOPBIA ObLI
noMa
NpeACTaBAsil Ui HUX OoJbllylo

BINOJIHEH) CTYNEHTaMH,

BaXHOCTbD.

O6cTosTENBCTBEHHBIN MPUYACTHBIN 060pOT

Translating the text the students used the
dictionanes.

Having translated the text the students
began to answer the questions.

IlepeBons TekcT (BO BpeMs nepeBoa TeK-
€Ta), CTYJIEHTHI TO/Ib30BATUCH CJIOBAPSIMH.
IlepeBens TekcT (MOC/IE HEPEBOJA TEKCTA),
CTYIEHTHI HayaJli OTBEYaTh Ha BONIPOCHI.

He3zaBucuMslii rp

MYaCTHBIN 000pOT

The students having translated the text, the
lesson was not over.

The lesson was over, the students having
translated the text before the bell rings.

Korza cTyznenTsl nepeBes TEKCT, YPOK ellie
He ObUT OKOHYEH.

VYpok 6bUT 3aKOHYEH, HMPHIEM CTYAEHTHI
nepeBeJM TEKCT paHbile 3BOHKA (IO TOTO,

Kak IPO3BEHEJ 3BOHOK).
Dopmbt HAKAOHEHUS
Tabauya 15
Haxo- JleiicTBHE Ipumep TTepeson
HEHue
Usbssu- | Beipaxaer peanbHoe | He goes to the office | OH xomut B oduc
TelbHOE | JeCTBME B HacTosi- | everyday. €XEJHEBHO.
LIeM, MpoLIefIIeM U
OymyiueM.
Iosenn- | Bripaxaer npuka3sa- | Come up to me. Honoiiau xo MHe!
TenbHOE | Hue, npockby; moby- | Open the window, | OTKpO# okHO, MOXa-
XKJaeT K AeHUCTBHIO. please. JIyicra.
Let’sgotothe cinema. | laBaiiTe noiaem B
KHHO.
Don’t go there. He xomure Tyna.
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Future-in-the-Past
(coracoBaHHe BpeMeH)

2. BcmoMmoraTeabHbI
rjiaron i o6pazoBaHus
COCJIaraTeJIbHOrO0 HaKJIO-
HeHus (1-ro Mua).

3. MogaanbHBbIi raarona
(cnenyer).

If I had free time, I should
have gone there on foot.

You should go there on foot.

Ecau 6b1 y MeHSL ObLIO
cBO6OAHOE BpeMs, s Obl
nomieJi Ty/a TIeIKOM.

BaMm caeayer uaTH TyAa
TEIIKOM.

Cocnara- | Beipaxaer nomyctu- | If I knew him better, I | Ecau 6bl 5 3021 €ro
TEJLHOE | MOCTb, BO3MOXHOCTb | should give him advice. | nydiue, s1 ganx 661 eMy
COBEpLIEHUS JeH- COBET.
cTBus (B HacrosimeM | I suggested that we | 51 npednoxcun, 9TO6BI
WIM OyayLieM). should go to the | MBI moexanw 3a ropon
country tomorrow. 3aBTpa.
1 wish you were present | 51 xomen 6b1, 4TOOBI BBI
atthe conference today. | MPHCYTCTBOBAJIH ce-
roaHs Ha KoHbe-
PEHLUH.
BuipaxaeT Hepeaib- | If I had known him | Ecau 6wl s 3Han ero
HOCTh, HEBO3MOX- | better, I should have | nyuure, s nax 661 eMy
HOCTb coBeplieHUs | given himadvice. coger. (f ero He 3Hal,
neicTBUst (B Ipo- COBeTa He JaJ).
LLJIOM). I wish you had been | S xomen 6w, 4TO6BI BRI
present at the con- | Buepa MPHCYTCTBOBAH
ference yesterday. HA KOH(depeHUHH.
(XKanb, 4TO BB HE
MPHUCYTCTBOBAJIM. )
Dynkyuu 2nazona “should”
Tabauya 16
OyHK1MsA IMpumep IlepeBon
1.BcnomorartenbHbiit | He thought that I should go | Onmyman, yro s moiny Tyaa
rnaron masi obpasosanus | there on foot. MELIKOM.
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QDynxyuu enazona “would”

Future-in-the-Past (corna-
COBaHHUE BPEMEH).

2. BcriomoraTe ibHBIH IJ1a-
ron nons obpa3oBaHus
cocJiaraTeJIbHOro HakJo-
HeHus. (2-ro ¥ 3-ro JiMna
MHOX€ECTBEHHOI'0 YHCJIa).

3. MopanbHblii rnaron (B
oTpHuaTenbHOi dopme —
HeXeJlaHUue YTO-TO
cHenarThb).

4. TToBTOpEHME NEUCTBUS B

MPOLIUIOM.

If you asked for help, he
would do it with great
pleasure.

He asked her for help but
she wouldn’t listen to him.

In summer we would go to
the country.

Tabauya 17
DyHKUUsA IIpumep TlepeBon
1. BciomoratenbHuiii a- | She said he would take | OHacka3ana, yTo OH Oymer
ron s obpa3oBaHUs | exams in physics. CcAaBaTh 3K3aMEHHl IO

¢usuke.

Ecau 6B TH ONpPOCHI O
TMIOMOIIM, OH cAeaan Obl
3TO C BeJIMYAUIIUM YIO-
BOJIBCTBHEM.

OH MIPpOCHJI €€ O ITOMOIIIH,
HO OHa ¥ cCaywiaTp He
Xoreaa.

Jletom MBI 0GBIMHO e31uM 32
ropou.

both... and — kak... TaK H...
neither... nor — HH... HH...
either... or — wiu (1160)...
wi (60)...

as well as

(as well) — Tak xe, KaK H...
a TaKKe

also —

TaKKe

delegation in it.

Both my brother and my sister want to drive the car.
Neither my brother nor my sister can drive the car.
I don’t know who could do it, either my sister, or my

brother.

We can read, write as well as speak English.
We can read, write and speak English as well.

Corosbl
CouurnumenvHuie Co030b!
Tabauya 18
Colo3 IIpumep
and —u, a He came to the library and we began to do our hometask.
but — Ho, a The train has arrived at the station but there was no

There are two departments at our college: the day
department and the evening department. Also the college
provides distance education.
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ITodyunumensvhbie coro3bl
Tabauya 19
Coro3 IIpumep IlepeBon
that — yto It is possible that he will come. B03MOXHO, 4TO OH IPUIET.
He said that he would come. OH cKa3aJ, YT0 IPUACT.
what — yTo 1 don’t know what will come ofit. | I He 3Hal0, 9TO M3 3TOrO IO-

who — xoTo-

puIf

whom — 0 KoM
(xomy)

whose — uyelt
(ubst)

when — Korzaa

where — rne

how — kak
why — nouemy
if — ecnu

if (whether) —
m

while — B TO
BpEMSI KaK

as soon as —
KaK TOJIbKO
since — ¢ Tex
mop Kak, Tak
KaK
before — nepen
TeM,

MpeXe YeM

after — mocie
TOro Kak

What he told us is not true.

The man who is sitting by the
window is my friend.

I don’t know whom you are
speaking about.

Do you know whose book it is?

When I came home my daughter
was sleeping.

The city where he was born is very
beautiful.

I don’t remember how I got there.
We didn’t know why he was absent.
If you come we shall go to the
theatre together.

We didn’t ask if (whether) he had
entered the University.

While I am reading an interesting
book I notice nothing around me.

I shall ring you as soon as I have
free time.

1 haven’t seen him since May.
Since I was very busy, I couldn’t
come to see you.

Before going to some foreign
country you should read about the
customs.

After I graduated from the
University, I became a post-
graduate at once.

JIY4HTCS.

To, 4T0 OH HaM CKa3aI — HeTpaBIa.
YemoBek, KOTOPbIH CUIUT Y OKHa,
MO pyT.

51 He 3HaI0, 0 KOM Thl FOBOPHILb.

Thl 3HaelIb, 9bd 3TO KHUTa?

Korza s nmpuiiuia 1oMoi, MOs 109b
crana.

Topox, rae oH poauicCs, OYEHb
KPaCHUBBIH.

51 He IOMHIO, KK 51 JoOpayics Tyza.
MBI He 3HAJIH, II0YeMY €T0 HET.
Ecim T pUaELIb, MBI OMIEM B
TeaTp BMECTe.

MBI He CIIPOCKITH, TIOCTYITIJI JIM OH
B YHUBEPCHUTET.

B TO BpeMs KakK s 4YMTAlo
MHTEPECHYIO KHUTY, S HEe 3aMeYalo
HHMYEro BOKPYT cebsl.

51 mo3BoHIO Tebe, KaK TOJbKO Oyny
CBOOOJEH.

51 He BUIEN €ro ¢ Masi.

Tak Kak s ObLT OUYEHb 3aHAT, S He
CMOT NPUMATH K BaM.

TIpexnae ueM exaTh (mepes TeM KaK
moexarsb) B Kakylo-1ub6o
3apy6exXHYIO CTPaHY, BaM cIieAyeT
MOYMTATh 00 ee OObryasx.

ITocne TOro KaK s 3aKOHYHUJIA
YHMBEPCHUTET, 51 Cpa3y Xe cTaja

aCIMMPAHTKOM.
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because — no-
TOMY 4TO
as — TaK KaK

though — xots
(although)

asif — kak ecrm
(14

1didn’t come because I was ill.

We returned to the camp as it was
very cold.

I recognized him by his
photograph though I have never
seen him before.

He spoke English so fluently as if
he were an Englishman.

S He mpH1IEN, HOTOMY 9T0 OBLT
6oneH.

MBI BEpHYJIUCH B JIareph, TaK KAK
6BUTO OYEHB XOJIOIHO.

A y3Han ero no dororpadumn,
XOTA HUKOTJa He BUIEN €ro
TIpexne.

OH roBOpHJI MO-aHITMIACKH TaK
6eryio, KaK eciau Obl OH ObLI
AHDIMYAaHTHOM.

Cnucok Hauboaee ynompebumenvHbix npeonozos,
C0K0308 U Hapeyuii, coenacawux no gopme

about — 0, PO, OTHOCHUTEJILHO, OKOJIO, IIPUMEPHO
above — BbILIIE, HAZT

above all — npexne Bcero

across — TornepekK, yepes3, Ha JPYro# CTOpOHe

after — nocie, 3a

, IIOCJIE TOro Kak

after all — B KOHI1IE KOHIIOB
against — mpoTuB
along — BOOJIB, IO

among — cpeaun
around (round) —

BOKDYT

at — B, Ha, y (0obo3navenue mecma — at the table), B (obo3nayenue epemenu —

at 5 o’clock)

at last — HakoHen[
at least — o kpaiiHeit Mepe
before — nepen (Mecmo), Ko (epems), npexne YeM (coro3)

behind — no3anu,

3a

below — HuXe, BHM3Y
besides — noMHMoO, KpoMe TOrO

beside — psiioM ¢

between — Mexy (IByMs TipeIMETaMM)
by — y, OK0JIO, IOCPEICTBOM, MHUMO, K OTIPE/Ie]IEHHOMY MOMEHTY
by the way — MeXXIy NpoyuM, KCTaTH
by means of — nmocpeacrsom

by no means — HUKOUM 0Opa3oOM

by all means — 1106bIM crioOCOGOM

down — BHU3
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during — Bo BpeMs (uero-aubo)
for — 3a, panu, 1)is; B TE4EHUE
from — u3, or

in this way — TaxuM obpa3om

in spite of (despite) — HecMoTps Ha
in front of — Briepenu; nepen

into — BHyTpb

of — (1151 0603HaYEHU S MTajIexa)
of course — KOHEYHO

on = upon — B (¢ OHAMuU, YucAaMu); Ha, TIO
out — M3; HAPYXY

over — 4yepes; Hajl; CBbIIIE

since — ¢ Tex Nop Kak; Tak KaKk
through — yepe3

throughout — o BceMy; noscroay
till = until — go; 1o Tex mop noxa...
towards — 1o HanpaB/ICHUIO K
under — MOJ; HUXeE; COTJIACHO

up — BBEpPX [0

up to — BIUIOTH A0

with — ¢

within — B npeznenax, BHyTpu
without — 6e3

Cocmasenbie npednoau

CocraBHbI€e MPELTIOTH MMPOU30LLUTH U3 COYETAaHUSI KaKOM-THO0 YacTu peuu (B
OCHOBHOM CYIIIECTBUTEILHOIO) C MPOCTHIMH IPELIOTaMH.

OCHOBHBIMHU U3 HUX SBJSIOTCS Cleaylolue (pacrojoXeHs! B aipaBUTHOM
MOPSZIKE 0 TIEPBOMY JIEMEHTY NpeIora) :

according to — coryiacHO

as to, as for — OTHOCUTEIEHO

because of — u3-3a

by means of — mocpencTsom

by reason of — mo npu4KHe, B CUITY, U3-3a
by virtue of — B cuy, 61arogaps

by way of — panu, ¢ uesblo, yepes

due to — Gnaroxaps, B CHITY, U3-32

for the sake of — panu
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in accordance with — B cooTBeTCTBUM C

in addition to — xpome

in consequence of — BcyieiCTBUE, B pe3ysikTaTe
in front of — nepen, HanpoTHB

in relation to — oTHOCUTENILHO

in spite of — HecMOTpsT Ha

in respect of — OTHOCHTENBHO

in view of — BBuIy TOTrO, YTO; B CHITY, M3-3a
in virtue of — 6;1arogapsi; mocpeICTBOM
instead of — BMecTO

on account of — o mpuYKMHe, U3-3a

out of — 13, UHYTpH, BHE

owing to — u3-3a, 6yarogaps

thanks to — 61aronaps

with regard to
(as regard of) OTHOCHUTEJIBHO, IT0 OTHOLIEHMIO K,
with respect to B OTHOLLIEHUH K

with reference to
Cumeonsl u ux umenue

+ (ruioc) — plus

— (MUHYC) — minus
+ (3HaK geneHus1) — division sign

X (3HaK YMHOXeHHs1) — multiplication sign
= (3HaK paBeHCTBa) — equal

=~ (MpubJIMXEHHOE PaBEHCTBO) — approximately equal
> (6oablIe yeM) — more than

< (MeHblue yeM ) — less than

() (xpyribie ckobkM) — parantheses

[ ] (xBagpaTHbIe CKOOKM) — brackets

{ } (burypHble ckobku) — braces

# (yucno) — number

oo (3HaK OECKOHEYHOCTH) — infinity sign

v (xopeHp) — root
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FEounuybr uzmepenus (Units of Measurement)

II0NUM

oyt

1)

MWJIS

MIWISL MOpCKast

byHT
LIEHTHEP
TOHHA OoJIbIIast

Mepuwt daunet (Linear Measures)

inch in.

foot ft. (12 in.)

yard yd. (3ft)

mile mi. (1760 yd.)
nautical mile nuat.mi. (6080 ft.)

Mepuwt 6eca (Measures of Weights)

pound Ib
hundredweight  hwt (112 Ib)
ton t (20 hwt)

2.54 cMm
30.48 cMm
91.44 cMm
1609.33 M
1853.18 M

453,591
50,8 kxr
1016.048 xr

Mepui obsema ncudxkux u coinyuux men (Measures of Volume)

MUHTA
KBapTa
TaJUIOH Gpum.
TaJUTOH amep.
Oyiennb

KB. JIOMM
KB. QyT
KB. SIpIT
aKkp

KB. MIJIS

CeKyHIa
MHHYTa
qac
JeHb
Hepens

pint pt

quart qt (2 pt)
gallon gal (4 qt)
gallon gal

bushel bsh (8 gal)

Mepbr naowadu (Square Measures)

square inch sq. in.

square foot sq. ft (144 sq. in)

square yard sq. yd (9 sq. ft)

acre ac. (4840 sq.yd)

square mile sq. mi. (640 ac.)
Bpemsa (Time)

second s.

minute min. (60 s.)

hour hr. (60 min.)

day day (24 hr.)

week week (7 days)

Can you read this table?

There are 12 inches in 1 foot.
1 centimetre = 0.394 inches. (1 centimetre equals 0 point three nine four inches).
1 inch = 2.54 centimetres. (One inch equals two point five four nought

centimetres).

0.57n
1.14n
455n
378 1
36.37 n

6.45 xB.cM
9.29 kB. IM
0.836 xB. M
0.4ra

2.59 kB. KM
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Hauboaee ynompebumenvHbie cokpaujeHus

a.m. — ante meridiem (zam.) — BO
CTOJIBKO-TO YaCOB JO MOTYIHS

C — centigrade — no crorpagycHo#
wkane Llenbcus (o memnepamype)

e.g. — exempl gratia (1zam.) — Hanpu-
Mep

etc. — et cetera (zam.) — U T. 1.

hr. — hour — yac

i.e. —id est (zam.) — TO ecTh

kg. — kilogram — kuyiorpamm

Ib. — pound — ¢yHT

I. — litre — uTp

m. — metre — METp

mi. — mile — MU

min. — minute — MUHyTa

NB — nota bene (2am.) — pay attention
— obpaTuTe BHUMaHHUE, 3aMETETE

p.m. — post meridiem (nam.) —
TIOTIOTY THH

s. — second — cekyHIa

t. — ton — TOHHA

VS — versus (2am.) — NpoTUB

W. — watt — BatT

X-rays — Roentgen rays — peHTT€HOB-
CKUE JIy4u

a.c. [alternating
MepeMEHHBINH TOK

amp. [ampere] — amnep

B.D.C. [bottom dead centre] — HyKHsIs
MepTBas TOYKa

b.h.p. [brake horsepower] — 3¢-
¢eKTHBHAsE TOPMO3Hasi MOITHOCTh

C.-1. engine [compression-ignition
engine] — ABUraTe/ib C BOCILUIaMe-
HEHUEM OT CXaTHsl, TU3eJb

c. ¢./cu. cm. [cubic centimetre] —
KyOMYEeCKUI CAHTUMETP

cu. in. [cubic inch] — kybuueckuit
JIOAM

current] —

cu. ft. [cubic foot] — kyOmueckmii byr

c. wt. [hundredweight] — uenTHep

d.c. [direct current] — MOCTOSIHHBIA
TOK

F. [Fahrenheit] — mo mkane ®apen-
reiita (o memnepamype)

f.p.m. [feet per minute] — pyToB B MM-
HYTY

f.p.s. [feet per second] — ¢yTOB B ce-
KYHIY

ft.-lbs. [foot-pounds] — ¢yTOo-dyHTBL

gal. [gallon] — rajuion

g.p.m. [gallon per minute] — rajuioH B
MUHYTY

hp [horsepower] — omanuHas cuia

in. [inch] — mroiim

k.p.h. [kilometers per hour] -
KWIOMETPOB B 4ac

Ib [pound] — pyHT

Ib.-ft. [pound-foot] — dyHTO-DYT

m.p.g. [miles per gallon] — yucio Mmuib
npoGera Ha raJuIOH TOIUIMBA

m.p.h. [miles per hour] — Muib B yac

n.h.p. [nominal horsepower] —
HOMMHaJIbHasi MOIIHOCTb B JI.C.

n.t.p. [normal temperature and pre-
ssure] — HOpMaJIbHbIE TEMITEpaTypa
U JIaBJieHUE

o.a.d. [overall dimension] — ra6apur-
HBII pa3mep

psi. [pounds per square inch] — pyHTOB
Ha KB.JI0ONM

r.p.m. [revolutions per minute] —
000pOTOB B MUHYTY

sq. ft. [square foot] — kBanpaTHbIii DyT

t.d.c. [top dead centre] — BepxHss
MepTBasi TO4Ka

v. [velocity] — ckopocTb

vol. [volume] — o6BveM
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cnoeapb-MUHMMYM

Aa

accelerate — ycKopsiTh, pa3rOHATh

acceleration — yckopeHue, pa3roH

accelerator pedal — neganb nmomayu
TOTUIMBA, Meaajb YyIpaBieHUS
JPOCCENIbHOM 3aCJIOHKOM

access — JOCTyN

accessories — BCIIOMOTaTEJbHbIE
YCTpOMCTBa

achieve — nocturaTtp

achievement — gocTuxeHHe

adjustment — perynMpoBka, Hajlaaka

aid — nomolupb

all-wheel drive — rmosHBII IPUBOL

angle — yron

anti-lock device — aHTHOGIO0KHMpPO-
BOYHOE YCTPOKCTBO

assemble — coOGupaTh, MOHTUPOBATh

assembly — cOopka, arperar; KOMIUIEKT

axial thrust — oceBast Harpy3ka

axle — och, MOCT

axle shafts — nonyocu

Bb
back axle — 3agHuMit MOCT
balanceweight — npoTuBoBeC
ball bearing cams — Kyn1ayku LIapUKO-
MOAUIMITHUKA
band brakes — n1eHTOYHBIE TOPMO3a
bearing — moaIIMMHUK
blower — komnipeccop, HarHeTaTeNb
body — xy3oB
brakes are applied — TopMo3a cpaba-
THIBAIOT
brake free-wheel — Topmo3Hass Mydra
CcBOOOIHOTO X01a, 06roHHast Mydta
brake pedal — Topmo3Has nesans
braking effect — TopMo3HOe neiicTBre

braking force — TopMo3HOe ycunue,
CIJIa TOPMOXEHHUS

bring into contact — coenUHATD

bring into operation — mpuBecTH B
ZeiCTBUE

bring the shoe into contact — coenuHUTD
KOJIOAKY

by means of — mocpeacTsoM

Ce

caliper — wu3MepATh IITAaHTEH-
LIMPKYJIEM WIH HYTPOMEPOM

car wheels — xosieca aBToMoOWISt

carry out — OCYHIECTBJSATH,
TIPOBOIHUTH, BBHIITOJIHATH

catalytic converter — KaTaTUTUYECKUIA
npeobpa3oBaTeb

centrifugal clutches — cuemnnenue
LIEHTPOOEXHOTO THUIA

centrifugal forces — LleHTpOOeXHEIE
CHJIBI

change gear(box) — kopo6ka nepenay

chain — nenp

chassis — maccu

clutch — cuemieHue

clutch pedal — nenans cuerieHus

coasting — JOBMXEHHUE HAKaTOM,
IBUKEHUE TI0 WHEPLIAK

coil spring live axle — Bemymmit Mmoct ¢
MPYXUHHBIMUA PECCOPAMU

complete — 3aBepiuaTh

component — COCTaBHasl 4acTb, y3ell,
610K

comprise — BKJII0YATh B ce0s

conical shape — xoHnyeckas popma

connect — COeIUHSATh

consider — cuyuTaTh, MOJIAraTh; pac-
CMaTpuBaTh
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consist of — cocTosTh U3

control lever — prryar ynpasjieHUs

conveniences — yno6craa

conventional design — craHgapTHas
KOHCTPYKIIMSI

conventional splitter — pa3garoyHas
KOpoOKa, CTaHIAPTHBINA MEPEeKITIo-
yareJib AUarna3oHa nepegay

conveyor — KOHBelep, TPaHCIIOPT

cooling system — cucreMa oxJIaXIeHUs

couple — coeAMHATD, CLETUISTh

crane carrier — aBTOKpaH

crankshaft — KojieHYaTHIi B

Dd

deal (with) — umeTs neno ¢

de-clutching — pa3bearHeHUE cLeIUIe-
HUS

deliver — momaBaTh, 1OCTaBJISTh

demands — TpeGoBaHust

dependable brakes — HagexXHbIe TOp-
Mo03a

design — MpoOeKTUPOBATH

designing — npoekTHpoBaHue

develop — pa3pabaTbiBaTh, COBEPILIECH-
CTBOBaTh

development — pa3paboTka

device — ycTpoiiCTBO

diaphragm spring -
nradparMeHHOro TUIa

differential — nuddepenuuan

disc brakes — quckoBbIe TOpMO3a

disengagement — oTKJIIOYEHUE

dog clutch — kynaukoBast MmydTa

drawback — HeocTaTok

drive — npuBoa

driven plate — Bemomblit mcK

driving safety — 6ezonacHoOCTb Boxe-
HUS (IBHKEHUS)

drum brakes — 6apaGaHHbIe TOpMO3a

MpyXUHA

due to — Grarozmapsi, 3a cueT
dumper — caMocBai

Ee

ease of maintemance — JerkocTts
TEeX00CTyXKUBaHUS

electric motor — syeKTpIYecKmit MOTOP

electric switch — siekTpuyeckui
TepeKIIoYaTesIb

electric system — snexTpuyeckas
cucTeMa

emergency situation — aBapuiiHas
CHUTyaIUs

enable — neaTh roTHBIM, MTO3BOJISITh

engage — COEAMHSATD

engaged position — pu BKJIIIOYEHHOM
COCTOSTHUM

engine — IBUTaTeNb

engine capacity — MOIITHOCTb IBUTATEJISI

engine output — BBHIXOAHAs! MOIIHOCTh
JBUraTelIst

evaporative emissions — BEIXJIOIT Ta30B
HMCHApeHus

Ff

fan belt — peMeHb BeHTIIATOpA

fenders — KprUIBS

final drive — r1aBHas nepenava

fine finish — yucToBas obpaborka,
JTOBOJIKA

finger — nastewt, ITUGT

fire crash tender — rmoxxapHasi TeXHUKa

first cost — HayayIbHas 1ieHA

flat position — ruTocKO€ MoJIOXEeHUE

flexibility — ru6xocTh

flexible — ruGkuit

flow of air — moTok Bo3myxa

foul the engine — 3arpsA3HATh ABUTATEIb

four-wheel drive — nosiHbIM TpUBOL

frame — pama
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free (disconnect, disengage) — orco-
€IUHSATDb, Pa3beAUHSTD

friction clutch — ¢puxknHoHHOE
CLIeTUIEHUE

friction device — ¢pukuuoHHOE
YCTPOMUCTBO

friction disc — PpUKILIMOHHBIM TUCK

friction material — ppuKIIMOHHBIMK
MaTepua

friction pad — dpuKILIMOHHAsA HaKJ1anKa

front suspension — nepexHsis MoxBecka

fuel consumption — pacxon TorMBa

fuel system — TOTUTMBHAsI CUCTEMa

fuel vapors — mapsI TOILUTHBa

fulcrum — ToYKa OMOPHI, OCh MIAPHUPA

Gg

gas (oil) mileage — mpoGer B MmISIX Ha
raJuloOH U3pacXxOZOBAaHHOIO TO-
TLTABA

gas cap — KpbIlIIKa HaJUBHOU
TOpJOBMHBI TOIUIMBHOTO 6aKa

gearbox — KopoOka nepenaqy

gears — IIECTEPHU

generator — reHepaTop

getrid of — n36aBUTHECS (OT Yero-m1bo)

Hh

head lamp flasher — npoGieckoBhIi
NpephiBaTesb cBeTa Hapel

heat-dissipation — paccesitHue (0TBOM)
TerJia

heater — otonuTens

heavies — OoJiblIErpy3HBIE aBTOMO-
ouu

high efficiency — Bricokuii KIT[{

highway — Tpacca, mocce

hoist — mogBbeMHBI MEXaHHU3M,
MOABEMHUK

hood — xamnor

horn — cupeHa, 3ByKOBOI CUTHAJI

horseless vehicle — Ge3nomanHoe
TPaHCITIOPTHOE CPEICTBO

hydraulic pressure — ruapaBIMyecKoe
IaBJICHUE

hydraulic pump — rugpoHacoc

hydraulic system — ruapaBauyeckas
cucreMa

hydromantic converter — rugpoTpaHc-
¢dopmarop

Ii

ignition system — crcreMa 3aXKUraHus

impeller — HacocHoe KoJiECO

improve — ynay4iiaTh, yCOBEpIIEH-
CTBOBAaTh

improvement — ycoBEpIIEHCTBOBAaHUE

in conjunction with — B coueTanuu c ...

in other words — qpyriumu cioBamMu

include — BxTI04aTH

increase — yBeJIMYMBaTh, OBHIIIATH

indicator lever — ppiyar HHIUKATOpA,
yKasaTess

inhibitor — uHrUOUTOD, 3aMeLTUTEND

inner portion — BHyTpEHHsIA 4YacTh

inner shaft — Bemymuii (mpuBOIHOI)
BaJl

input shaft — mepBUYHBIIA BaJ

installation — ycraHoBKa, MOHTax,
cbopka

instrumental panel — nmpuGopHbIKi
LIIUTOK, MyJBT yIIPaBJICHUS

integral clutch and brake unit — o6beu-
HEHHBIA OJIOK U3 CLEIIEHUS U
TOpMO3a

intend — npenHa3HayaTh

intercity bus — roponckoit aBro6yc

internal combustion engine — nBuraresn

BHYTPEHHETO CTOPaHHS
inventor — u3obpeTaTenp
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kick — ynmap, Tomyok
kick down — ynap, To/r40K
knob — xHonka

L1

laboratory test — cTeHIOBBIE MCIIbI-
TaHUs

leading shoes — Beaymve TopMo3Hbie
KOJIOLKM

leaf spring — n11cToBasi peccopa

level — ypoBeHb

lever — pykosiTka (pblyar)

lights — dapsr

lining — Hakylanku, o6UBKa

link — coennuaTb

load deflection — nporu6 nox aeicTBu-
€M Harpysku

loader — aBTONOrpy34mK

lock-up clutch — GiokupoBouYHas
MydTa

long service life — nonruii cpok cyx6ni

lose of clamp load — noteps (ocnabie-
HME) CXUMaloLIE Harpy3ku

loss — norepst

low road noise — HeGOJIbILION LIYM [TPH
e3jie 1o Jopore

lower gear — nmoHuXxarolas nepegaya

lubricate — cMa3biBaTh

lubricating system — cucrema cMa3ku

lubrication system — cucrema cMa3ku

lug — KpOHLITEIH, 3aXUM, KyJlaK

Mm

machine tool — cranox

maintenance — TeXHMYECKOE OOCITYXH-
BAHUE U PEMOHT

manual override — pyuHoe yrpasjieHUe
aBTOMAaTHUYE€CKHM YNpaBJIsieMON CH-
cTeMoi

manufacture — MpPOU3BOAUTH

manufacturing — IpOU3BOACTBO

manufacturing processes — Npou3BoOA-
CTBEHHBIE TTPOLIECCH

mass manufacturing — MaccoBoe npo-
HU3BOJCTBO

meet up-to-date requirements — oTBe-
9YaTh COBPEMEHHBIM TPEOOBAHMSAM

multi-disc device — MHOTOIUCKOBOE
YCTPOMCTBO

multiple-speed gearbox — MHorocry-
neHyaTass Kopobka CKOpoCTeit

Nn

natural bias — ecTecTBeHHBIE CMe-
wieHus1 (CIBUTH)

Oo

obtain — moyryyatb, JOOGUTHCS

octane rating — OKTaHOBO€ YHCJIO

off-road travel — e31a 1o 6e310pOXbI0

oil circuit — 3aMKHYTbIiA TOTOK Macia

one-way free-wheel — My¢dTta cBobon-
HOrO Xo11a

operating cylinders — pa6ouue U~
JIMHIAPBL

operation flexibility — ru6xocts B pa-
oote

outer shaft — BbIXOJHOI (BTOPWYHBII)
Baj

overload safety valve — nmpegoxpaHu-
TeTbHBIN KJIAMaH MpH Neperpyske

overrun — MpEeBBbILICHUE HOPMaJIbHOM
CKOpOCTH

Pp

park brake — nmapkoBOuHBIN (CcTOSI-
HOYHBII) TOPMO3

performance — pabouasi XxapaKTepH-
cruka, KIT/J1
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permit — MO3BOJIATh, JAaBaTh BOZMOX-
HOCTh

pivot — oCb BpallieHus1, IlIapHHUP, IOBO-
POTHBIiA IIKBOPEHb

possess — 0061a1aTh, UMETH

power output — BbIXOIHasi MOLIIHOCTh

power plant — cu0BOI1 arperat

power train — cuyioBasi mepeznaya
(TpaHCMHUCCHSA)

power-shift gearbox — kopo6Gka
TepeKIIIoUeHHsI mepenay

pre-determined engine speed —
pacyeTHble 000OPOTHI IBUraTeNst

pressure plate — HOXXHMHO# IUCK

prevent — NpeJOTBPAILATh

propeller shaft — xkapnaHHbBIIf B

propulsion output — MOLIHOCTb CU-
JIOBOM YCTaHOBKM (IBUTaTEJIs1)

provide — ob6ecnieynBaTh

push down on the pedal — HaxxMaTh Ha
nejaib

Qq
questionnaire — orpoc
quiet-running power unit — GecuryMHbIi
CWIOBOM arperar

Rr

racing car — roHOYHBbI# aBTOMOOWIb

rack and pinion steering — pyneBoi Me-
XaHU3M C PEHKOUN M LIECTEpPHEH,
peeyHoe ynpasjieHue

rapid — ObICTpbII

ratio — COOTHOILIEHHE, NIepeAaTOYHOE
YHUCIIO

reaction member — peakTUBHHIHA
3JIEMEHT

rear axle — 3aHU# MOCT

rear suspension — 3a/IHsisI ITIOABECKA

reduce — cokpaiaTth, MOHWXaTh

release — pazbeqMHEHME, paclerUie-
HHE

release lever — prlyar OTKJIIOYEHUS
(oTcoenuHEeHUs)

release ring — pa3beqMHsIOLIEE KOJIBIIO

relief valve — npegoxpaHuTe1bHBIN

0 KJiamna”

require — Tpe6oBaTh

requirements — Tpe6OBaHUs

restrict — orpaHU4YNBaTh

retaining ring — yaepxwuBaloniee
(cTONOPHOE) KOJIBLIO

retard — 3aMeISITh, TOPMO3UTH

reversing gearbox — KkopoOka rnepemay
3aJIHETO XOlla, PEBEPCUBHBIN Mexa-
HHU3M

rigid — xecTkuit

rigid quality control — xectkui
KOHTPOJIb KayecTBa

rim — 060, 3y04YaThiif BEeHEeI|

road travel — e3na 1o nopore

rotary motion — BpauaTeJbHOE IABU-
XeHUe

Ss

separating clutch — pasbenuHsIOIAast
mydTa

shock absorber — amoprusatop

shoes — xononku (TOpMO3HEIE)

silent gearbox — GecuryMHas kopo6ka
nepenav

single row engine — psiTHbIIt ABUraTeIh
(psiAHOE PacHoOJOXEHUE LMIHH-
IpOB)

skid-steer drive system — cucrema
yIpapJieHUs, pexycMaTpyBalonas
TIPOCKAaJIb3bIBaHHE KOJIEC

slot — ma3, kaHaBKa

smooth-acting cluth — raBHoe cue-
IJIeHUe
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smooth engagement — rUT1aBHOE BKITIO-
YeHue

spare wheel — 3aracHoe Kosieco

spiral bevel differential — nuddepeH-
LA ¢ KOHUYECKUMHM LIECTEPHSIMUA

Springs — peccophbl, NPYXUHBI

steering system — cucteMa pyJeBOro
yTIpaBJ€HUS

steering wheel — pysieBoe Koneco

suit requirements — oTBeYaTh (COOTBET-
CTBOBaTb) TpeOOBaHUSM

synchromesh gearbox — xopo6Okxa
nepegay ¢ CMHXpOHU3aTOPOM

Tt

tailpipe — xBocTOBasi 4acTh; BBHIXJIOII-
Hasl TpyOa

take advantage — BOoCnosb30BaThCsA
MpEeUMYLIECTBAMU

thrust assembly — TsroBbIi1 y3en

torque — KpyTSLUMIA MOMEHT

torque capacity — Hecymas crnoco6-
HOCTb MEpefayd Mo KPYTILEMY
MOMEHTY

torque converter — rpeoGpa3oBareib
KPYTSILLIETO MOMEHTa, TUAPOTPaH-
copmarop

tracked — ryceHM4HOE TPAHCIIOPTHOE
CpEICTBO

tractive effort — TTrOBOE YCWIIHE, CHTa
TSATH

tractive unit — TAroBbIi arperat

traffic lights — ceetodop

trailing shoes — BeqyliMe BTOpUYHBIE
TOPMO3HBIE KOJIOIKH

transfer gearbox — pa3gaTtouyHas Ko-
pobxa

transmatic torque converter —
aBTOMAaTHYECKUI npeoGpa3oBaresb
KpYTSIIIEr0 MOMEHTA

truck — rpy30BUK

two-speed wipers — JBYXCKOPOCTHBIE
CTEKJIOOYHUCTUTETH

Uu

units and mechanisms —
(arperatbl) ¥ MEXaHU3MBI

y3JIB

Vv

valve — xy1ana”

vehicle — TpaHCOpTHOE CpPEeACTBO,
aBTOMOOMJIb

V-type engine —
JIBUTATEJb

V-o06pa3Hblit

Ww

wear — U3HOC, aMOPTH3aLIMsI

wheeled vehicle — konecHoe TpaH-
CITOPTHOE CPEACTBO

wheels — xoneca

windshield wipers — crexioouucTuTenn
BETPOBOTO CTEKJIA

work out — pa3pabaTbiBaTh
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